A9 3R B | Time & Work
(T 2021 ¥ 22 # UB T YLa)

SSC PRE : 2021

A can finish a piece of the work in 16 days
and B can finish it in 12 days. The worked
together for 4 days and then A left. B finished
the remaining work. For how many total
number of days did B work to finish the work
completely?

A TF FHF 16 Tl § 0 a6 ¥ o7 B 3/ 12 T
T I T TR ¢ | LI 4 T T TF T e e
o &R TR A =6 =1 B 1 39 %W ahe IO A |
I &I I WA S & AU B 7 5 fordd foae foei an
T foe 7

(A)8 (B) 4
(€9 (D)6
& Solution:
- 16
> =
-12

4 days work = 4x(3+4) =
Remaining work = 48 28 20

20
Complete by B = ¥ | S days

= Total number of days of B = 4+5 =9 days
X, Y and Z can do a piece of work in 46 days, 92
days and 23 days, respectively. X started the
work. Y joined him after 2 days. If Z joined
them after 8 days from the beginning, then
for how many days did X work?
X, Y $iR Z Uk ®m i A 46 A, 92 fga sz fea
T TR & | XA w0 g% a1 Y 2 &% o 3w
T2 9 1A Z I 9 8 G % g S e =g,

Al X A e Tl ok o fopen 2
(A) 18 (B) 13
(C) 21 (D) 16
& Solution: (A)
ATQ,
4+ 6 (xty)taxtytz) = 92
= 4+18+a(7) =
70
a=—= 10

Work day by A= 2+6+10= 18 days

3.

A can finish a piece of work in 48 days and B
can finish it in 60 days. They work together
for 12 days and then A goes away. In how much
time (in days and hours) will B finish 25% of
the remaining work?

A s F &1 48 & H wmrd = v § 2 B 39 60
femil H T = W #1312 foAl q uw e e
T F € S A T W € | B YW S 6 25% fowa
T H (A S ¥ 7)) gu w2

(A) 8 days & hours/ & &7 8 52

(B) 8 days 6 hours/ & &7 6 5=

(C) 6 days 4 hours/ 6 fgT 4 ==

(D) 6 days 6 hours/ 6 fg7 6 =&

£ Solution: (B)

Ao >0

(A+B) 12 days work = 12x9 = 108

25% of Remaining work = (240-108)x —

=33

3
Complete by B = JT days = 8days 6 hour

A, Band C can do a work in 8, 10 and 12 days,
respectively. After completing the work to-
gether, they received T 5.550. What is the
share of B (in I) in the amount received?

A, B &R C = %W = %we: 8, 10 #iR 12 f&A § =
e § | T WY THees &0 90 e & 9 3= T 5,550
T Y | W A H B w7 fawmn (T H) e e ?

{A) 1,500 (B) 1,850

(C) 1,696 (D) 1,800

£ Solution: (D)

12
— x 5550
B = 37 = 1800
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A can complete 25% of a work in 15 days. He
works for 15 days and then B alone finishes
the remaining work in 30 days. In how many
days will A and B working together finish 50%
of the same work?

A T TH R 25% W, 15 Terl § s wwm & 1399 15
Tt 7% e Topan IR T 919 %™ =1 879he1 B 7 30 Tt
H 70 iR | A $TR B o W71 TR T B BU 59

1 50% AT TR oAl & T ?
{A) 25 (B) 24
(C) 20 (Dy12
£¢ Solution: (B)
A=60-15
B=30-40
1X6OX 40 = 12 days
2 100

Five men and 2 boys can do in 30 days as much
work as 7 men and 10 hoys can do in 15 days.
How many boys should join 40 men to do the
same work in 4 days?

T e SR 2 TeF 30 A | = W = w §
fstamn fam 7 w1 10 ek 15 ferdl o e oad & | 30
1 &1 4 fel H & o o 40 gl & w1 fonan @Sl &1

HH T AT FH AM(B T 7
(A) 10 (B) 12
(C) 14 (D) 15

£ Solution: (A)

(5M + 2B)30 = (7M + 10B)15
10M + 4B =7M + 10B

3M=6B

1M = 2B

total work = 360 unit
360

. =90 - 80 > 10B

If 4 men and 6 boys can do a work in 8 days
and 6 men and 4 boys can do the same work
in 7 days, then how many days will 5 men and
4 boys take to do the same work?

7t 4 STEHT 1R 6 Tk foRet o B 8 A § mrwma €
A1t 6 oTEHt 3 4 Trgn St w7 T A wma
Al 5 ST i 4 Ttk T T R e e w7
(A) 6 (B) 8

(€) S (D)7

£¢ Solution: (B)
{4 men + & boys)8 = (6 men + 4 boys) 7
= 32m + 48B = 42m + 28B = 20B = 10m

M_2
B 1
So,

(4(2) +6)8 =x (5(2)+ 4 1))
= 14 x 8 =x(14) = x = 8 days

9. A tyre has 3 punctures. The first puncture

alone would have made the type flat in 9
minutes, the second alone would have done it
in 18 minutes, the third alone would have done
it in 6 minute. If the air leaks out at a
constant rate, then how long (in minutes) does
it take for all the punctures together to make
it flat?
U PR H 3 T | Teell Ta T 9 e H err
Tireret &1 &, TEU TR 3Tkt 18 TR ® = free
T F AR T TR e 6 e | 2R i e &
% 17fe 7o O T o H ket 7, o meft e 2
Ty Toer e | fra o (i o) &9 2
(A) & (B) 3
(C) 4 (D) 2

£ Solution: (B)

Let Total air Tyre = 18 cubic meter

18
Efficiency of first hole = Y 2

18
Efficiency of second hole = 18 =1

18
Efficiency of third hole = 5 3

18
Time needed together = m = 3 minutes

10. Person A can do one-fifth of the work in 3days,
while B's efficiency is half of that of A. In how

many days A and B working together can do
half of the work?

It A HTE B L 3 el ¥ 0 ok Tk #, e
B %1 T&FT A T 3T ¥ 1 A SR B Uw Wi fHae s
T g T I I A0 9T TR el § wwaa ¥ 2
(A) 5 (B)7
(€) 4 (D)6
£¢ Solution: (A)

Let, Total work = 30 Unit

A's efficiency = 2

B's efficiency = 1

. 15
Half work done in = il S days
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11.

A man, a woman and a boy can complete a
work in 3, 4 and 12 days, respectively. How
many hoys must assist one man and one
woman to complete the same work in one day?
T T&H, Tk Afgel IR T Tl Uk F1H & 9 3, 4
AR A R TR IS AR AT
TEal FAT AT 7
(A) S

€7

(B) 9
(D) 4

& Solution: (A)

12,

man

Women

Boy

1 Day = 4+3+1(x)

12-7 = 1{x)

5=x

Boys=5
A can complete work in 25 days and B can
complete the same work in 20 days. They
started the work together but B left after 4 days
and A continued to work. In how many days
will the entire worlt be completed?
A Tersit = 1 25 Tt H 70 = e # i B sEt @
&1 20 fol # U #2 Waan € | S2 U Wy e F W
7% frn o 4 i F o B Y wm s fen iR AT
e Rei ke Wi ilkea i G i e e U3 1

12

[l ¥ JREN

(A) 22 (B) 25
(C) 20 (D) 28
& Solution: (C)

A =25 Days, B =20 Days
LCM = 10 [total work]
A=4,B=5
1D=9
4D =36
64
il 16 Days

13.

Total = 16 + 4 = 20 Days
A can do a certain work in 15 days, while B
can do the same work in 21 days. If they work
toegther, then in how many days will the same
work be completed?
A Toreft =™ 1 15 fE A o2 T 8, i B 541 %E i
21 & B s werar € 1 At o U we e R S €,

o5 % TR A | qarm ?
3 3
(a) 85 (B) 65
3 ln]
© 9% (D) 7%

£ Solution: (A)

14.

A=15(7) LCM = 105
B=21(5)

A+B= 12

1D=12

BD =906

9 3 3

2- 3 %3 Dw

14 men can complete a work in 15 days. 1f 21
men are employed, then in how many days
will they complete the same worl?

14 2T U %W 115 TE F o e € 1afg 21
ST T R © &, 4 9 39w # fwRe e H{ qu
7
(A) 10
(C) 12

(B) 14
(D) 15

£ Solution: (A)

15.

M, xD =M, xD,
14 x 15> 21xD,
14x15

D, = 51
X.Y and Z can complete a piece of work in 46
days, 92 days and 23 days, respectively. X
started the work. Y joined him after 7 days. If

Z joined them after 8 days from the beginning,
then for how many days did Y work?

X, Y 37 Z T T R A 46 T, 92 Tt o 23
H e R € | X 7 F0 9% fF 1 7 5l % 9 Y swd
T 1A Z ARG H 8 T % o 5 e SR,

= 10 days

WY 1 o o= g% =W faan ?
5 5
(A) 12? (B) 11?
5 5
(C) 107 (D) 97

£¢ Solution: (B)

let Total work = 92 unit
x=2,y=1,z=4

let total work completed in P days then
x(P) +y(P-7)+ z(P-8) = 92

ZP + P-7 + 4P-32 =092

131
:>7P=92+39:>P=7
131
v work = P-7 days = " 7
131-49 82 _11§d
= —— = — =1l- days
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16. 20 men can finish a work in 30 days. They
started working, but 4 men left the work after
10 days. In how many days would the work he
completed?
D0 FTEHT TF HM &1 30 e § g9 =2 96 € 1520
TR AT I (o, Ao 4 STl A 10 feAl & =% =M
=g fea | = fafe fedll # quemm 7
{A) 30 (B) 25
(C) 35 (D) 28
£ Solution: (C)
20 mcm complete in 30 days
after 10 days and 4cm lefts
20 % 20
16
Total days =25+ 10 = 35 days
17. Acollege hostel mess has provisions for 25 days
for 350 boys. At the end of 10 days, when some
boys were shifted to another hostel, it was
found that now the provisions will last for 21

more days. How many hoys were shifted to
another hostel?

T HieTd 3152e % B H 350 TH % fam 25 T #
weH ¥ | 10 & % e, 59 T e ® gHL oE |
TR SR &3 T, 78 WA TR e 21 AT R wEe
AR ¥ | ToFe TTgk! 1 THE SO H TG %

= 25 days

™7
(A) 92 (B) 110
(C) 98 (D) 100
£¢ Solution: (D)
ATQ,
15x 350 = xx21
= x = 250
Now, Shifted boys= 350 - 250
= 100

18. P and Q completed a work together and were
paid ¥1,080 and ¥1,440, respectively. If P can
do the entire work in 20 days, how many days
did they take to complete the work together?

P % Q 7 TF W % 7 TR oIt 5= A 1,080
3R T1,440 7 Tam e = 1 91 P e &1 20 ff
H L Thdl €, T =i Uk W e e e |

Tepga Ta7 =1 9 fean ?
4 3
(A 6; (B) 67
3 4
(€) 8- (D) 8-

£¢ Solution: (D)
Eff. of (P: Q)= 1080: 1440
=3:4
Now total work = 3x20 = 60
60 = @ = 8i days
3+4 7 7 )
19. A and B working alone can complete a work in
8 days and 12 days, respectively. They started
working together, but A left 2 days before
complection of the work. In how many days
was the work completed?

A 3R B STohoi—3Tohe! o hid g (e ™ 1 A9 §
f&T 3 12 R H U = T ¥ | 3% wmy e
9 T YE AL SR AT FH e § 2 fA e
M 18 Taa | ™ T T | 70 gen ?
(A) & (B) 5
(C) 8 (D) 10
£ Solution: (A)

Let Total work limit = 24 unit

A=3, B=2

Let Total days model = x

So, B(x) + A(x-2) =24

=2x+3x6=24=5x=30

x =0 days

20. A tyre has two punctures. The first puncture
alone would have made the tyre flat in 45
minute, and the second puncture alone would
have done it in 90 minutes. If air leaks out at
a constant rate, then how long (in minutes)
does it talke for both the punctures together to
make the tyre flat?
TF 2R H & TR ¥ | vEen TR awhe 45 fo e H el
TEU To STRet 90 Tie # 2R &1 fasrerr <ar € 1 e gan
T A 59 = Fenert ®, o Sl dare us e faere
= fraeem o fra w1 (ol |) =i 2
(A) 30 (B) 15
(C) 40 (D) 45
£¢ Solution: (A)
Let in tyre = 90 cubic meter
first purches = 2 cubicmeter per min

Complate by (P+ Q) =

Second purches = 1 cubicmeter per min

90
So time taken together = 511

= 30 minutes
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21. If35 men can finish a work in 6 days, then in
how many days can 7 men do half of the same
work?
7fE 35 STEHT Tk FM FH 6 A H W THTE, AT
SITEHT SH T o A T T T g wma € 2

(A) 30 (B) 15
(C) 60 (Dy 17
& Solution: (B)
L 5x6) =7 855 15d
- e x — - —
g (38X€) =Tx=x= "5 7 =x ays

SSC MAINS : 2020

2
1. A and B can do a work in 265 days. B and C

together can complete the same work in 48
days, while A and C together can complete the
same work in 30 days. How long (in days) will
A alone take to complete 60% of the work?

N 2 . .. .
A @t B oot U =W 26§ A maEd 1B

AR C Toome =t wm # 48 T § 0 = T ¥,
SEfF A $R C e st M 30 faf ¥ quwt vd
T 1A 3T ST 1 % 60% T [WHA H o awg

(feAie) em?
(A) 20 (B) 32
(C) 24 (D) 36

& Solution: (C)
Let T.W. = 240

A+B —>83—O —9

B+C —48 =35
A+C =30 —>8

2(A+B+C) =22

A+B+C =11

efficiency of A=11-5=6

Time taken by A to complete 60% of work

240 x 160%
= ———— =24 days
6
2. 4 men and 5 women can complete a work in

15 days, whereas 9 men and & women can
complete it in 10 days. To complete the same
work in 7 days, how many women should as-
sist 4 men?

4 g% 31T 5 it T % 1 15 KA A 90w v €,
S ¢ qew R 6 Afecd 3% 10 A F qU w HEd F
=Tt 1 w1 7 o o g e % for, T Afaenet w4
El hi WAl HAT A6 7
(A) 13
(C) 15
£ Solution: (A)
(4M + 5W)15 = (9M + 6W) 10
12M + 15W=18M + 12W

(B) 14
(D) 11

6M = 3W
M_1
w2

(4=x1+5=x2)x15=(4x1+xx2)7
142 x 15= (4 + 2x)7

30=4+2x

x=13

1
3. Two pipes A and B can fill a cistern in 125

hours and 25 hours, respectively. The pipes
were opened simultaneously, and it was found
that, due to leakage in the bottom, it took one
hour 40 minutes more to fill the cistern. If

the cistern is full, in how much time in hours)
will the leak alone empty 70% of the cistern?

T IR A 3R B T ¥ B FHM 12%‘«:1%3?11253%
T W TR € | T3 Rl ek W e T ST e e T,
T H 3 % R, Z % R H T He 40 e
T aferk =T | Afs TR O R T E, T TR fam
dant 1 70% e, foran g & (94 &) @t 81 s 7

(A) 40 (B) 35
(C) 30 (D) 50
£ Solution: (B)
A B
25 25
2
1

25

If there had been no leak, cistern would have

25
filled in — — = 8 hr 20 min.

)
But it took 1 hr 40 min more due to leak
total time taken = 8 hr 20 min. + 1 hr 40
min. = 10 hrs.
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10hrs workof Aand B=10x 3 =30
= 30 -25=5 work is done by leak in 10 hrs
lealk does 5 work in 10 hrs

:>Eworkir11hr

lealk does 70% of work in

25x70 70 5
= = — ®
loox 42
2
= 35 hours

1
4. Atap can fill a tank in 55 hours. Because of

1
a leak, it took 81 hours to fill the tank. In

how much time (in hours] will the leak alone
empty 30% of the tank?

- 1 ...
Uch 7 USh 3k &l 55 S H W Hehdre | fTHE o S,

EeakaRiiok 8% e T M| 1R e § e v
(sidf H) H dan 1 30% Tawm et 21 s ?

w2 o 5
) o5 B)
(© 3 (D)
£¢ Solution: (A)
A A + B (leak)
11 33
2 4
Py 4
33
A+B=4
A=6
=B=-2

= leak does 2 work in 1 hr

30% of work will be done by leak in
3,38

10 2

=%hrs.

5. P can finish a work in 18 days. When he had
worleed for 5 days. Q joined him. If both of them

13

together completed the remaining work in 5

days, then in how many days can Q alone fin-
2

ish 665% of the same work?

P et ®d ®1 18 T & u R wFar € 1 35% 5 R T

M A F T2, Q W SHH WY TH w1 | w0 g1 S

%lﬁﬁﬁw%wmgﬁﬁn@w%,mo

mﬁm%%g‘%amaﬁrfﬁﬁ el o 70

THRAME ?
(A) 5 (B) 4
(C) 2 (D)3
£¢ Solution: (D)
5
Work done by Pin 5 days = 18
Work d by P i Ed by W
ork done by Pin == days= ———=¢ = o
Total k d b P—3+E—§
otal work done by P = o+ 5-= o0
Work d b Q—g
ork done by 30
v _13x90 _9
eff. of Q=" 52 "2

2
Taken days by Q of the gth of work

> 9
=1><§><§ =3 days

6. A and B worked together and received a total
of ¥18,000 for 15 davs. A's efficiency in the
work was 5 times that of B's. The daily wage of
A (in ) was:

A 31 B 7w w1 faert w fn @ 15 e % foo
FE1T18,000 WH R | FH A %1 FIT, B 1 Hyera
i 5 AT < | A w2 Aeedl (T H) farat ot
(A) 800 (B) 600
(C) 1,200 (D)1,000
£ Solution: (D)
A B

Eff. 5 1

Total work = 15 x 6 =90

ATQ,

S0 — 18000

1 — 200
Daily wages of A= 5 x 200 = 1000 Rs.

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689 +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions Booklet = Time & Work

7. Two pipes A and B can fill a tank in 12 min-

utes and 24 minutes, respectively, while a
third pipe C can empty the full tank in 32 min-
utes. All the three pipes are opened simulta-
neously. However, pipe C is closed 2 minutes
hefore the tank is filled. In how much time (in
minutes) will the tank be full?
T T A 3R B T 2o F1 HmEW: 12 e ot 24 fie
T o Od &, F%1 e C Y it g 2wt w32 e o
Bt T HEAT T | A T R T e e T T
BTA(h T=Y C Al <ol & 9 9 2 fiee vee 9t = faan
T | Za1 TR wra (e H) | 31 o WS 7

(A)9 (B)10
(C) 12 (Dy 8
& Solution: (B)
al12

=3

-3

Let the tank will full in t minutes
8t+4t-(t-2)3=96

= 12t-3t+6 =96

= 9t =90

= t = 10 minutes

8. Pipes A, B and C can fill a tank in 20, 30 and
60 hours, respectively. Pipes A, B and C are
opened at 7 am., 8 am., and 9 a.m., respec-

tively, on the same day. When will the tank
be full?

TET A, B #iit C ot 21 =1 9T 20, 30 iR 60 =02
H W qEd © 1 UEY A, B 3R C & v & fed gag wA:
7 =91, 8 s 919 Al Wiel T | k! o s T U
T AT 2
(A) 4:40 pm/ I 4:40 7
(B) 5:40 pm/ M 5:40 7
(C) 6:20 pm/ M 6:20 T

(D) 7:20 pm/ o 7:20 99
& Solution: (B)

A0

T 30 G0
€2 @i
Work done by A & B till 9 AM
=3x2+2x%x1=8
remaining work = 60 - 8 = 52

52 26 2

1 - — _= 8— = 1
time 5 3 3 & hr. 40 min.
Time = 9AM + 8hr. 40 min.
=05:40 PM

SSC CHSL : 2020

1. Acan complete aworkin 20 days, while B can

complete the same work in 25 days. Both
worked together for 10 days and then C alone
completed the remaining worlk in 10 days. In
how many days will A, B and C together com-
plete the same work?

A forely =l =1 20 f&A H o T €, STaf B ST e =
25 &7 ¥ = wea € 1 S u Wy faee 10 feq o=
HE F & SIR R C o7t 99 @R & 10 &3 H
HEE 1A, B 3R C © oo 36 % &1 fored fer i @

4 7
(A) 5 days (B) 10 days
(C) 12 days (D) 8 days

£¢ Solution: (B)

A— 20 5
\100/
B— 257 ™4
Now, A + B work for 10 days = 10 x 9
= 90 unit work
Remaining work = {100 - 90)
= 10 unit

10
= Eff. ofC= o 1
= A+ B + C complete this work

100
(5+4+1)

= 10 days

2. Acando60% of aworkin 18 days, while B can

do 40% ofthe same work in 10 days. Both work
together for 10 days only. C completed the re-
maining work in 4 days. In how many days
will C complete the same work?

A Tt = % 60% 9 &1 18 T o s weka &, sdiE
B 1 % & 40% & 10 A = Awd § 1 9Hi U
e oo 10 fer ar sl < € 1 C S wr =1 4 fea |
T HA F | C, STRe FHA FA I e oA § quawdm 7
(A) 15 (B) 18
(C) 25 (D)12

£¢ Solution: (A)

3
5 1350

B——— 10—325"" g

A+Bwork 10day=11x10=110

Remaining worlc = 40
C can do 40 unit work in 4 days
So, efficiency of C = 10

150

C alone can do whole work = 1o - 15
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Geeta can assemble a toy in 10 minutes,
whereas Sudha can assemble the same toy
in 15 minutes. If they work together, how
much time will they take to assemble 60 toys?
T et # 10 fe | S ol 8, SaiE gur s
figciie %1 15 fade § g el & 19k 9 uw e w0
L E, A A 60 faei #1 i awg | g wdi € ?
(A) 7 hours 30 minutes

{B) 7 hours

(C) 5 hours

(D) 6 hours

£¢ Solution: (D)

G — 10 3toy
>30<
s — 15

2toy
Stoy — 30 min.
1 toy — O min.
60 toy — 360 min. = 6 hour.

A can do a piece of work in 12 days. He worked
for 6 days and left, and then B finished it in 10
days. If both work together, then in how many
days will they finish the same work?

AT EE & 12 G 8 v § 1394 6 57w m
i T =™ 91e =1, S%9%F 9% B 5 919 &9 %1 10 f&=
H qu T | 71 <91 o Wy foe Fwm = 9 9 s

= 1 TR & | 7 e AT 2
(A) 9 (B) 7.5
(C) 7 (D) 9.5

£ Solution: (B)

Let total work = 12
& day work of A=6
Remaining work = 6

6 3
= Eﬁ‘.OfB—E —g

12 12x5

CHIE
5

Suman and Lata working together can com-
plete a task in 8 days. If Lata can complete
the same task in 12 days, then how many days
will Suman take to complete the same task?
A S A T Ty e v e # 8 A W
TRt € | ST o SHT EE H evRey 12 T o e wewdt
(A) 18 (B) 24
({C) 10 (D15

= By{A+B)= =7.5

£¢ Solution: (B)

S.

(B) Total student in B.Com. =

700 %20
100

= Male-female = 75% - 25% = 50%

1
Difference = 140 = 5= 70

40 persons talke 6 days to complete a certain
task, working 10 hours a day. How many hours
a day will be sufficient for 30 persons to com-
plete the same task in 10 days?

40 =R wiafeT 10 5 &M Fd g, TF iv=a %1 6
oo 5 g e 1 30 =i g7 =gt w10 i |5
= T T wfdfeq farae s g g1 7

(A)9 (B) 8

({C) 6 (D10

£¢ Solution: (B)

M DT, = M,D.T,

40x 10x6=30x 10T

T=8
A can complete a task in 6 days, while B can
complete the same taskin 12 days. How many
days will they talke to complete the same task
if they work together?
A TF & &l 6 &G F 70 FX v € oK B 3 W #

12 & 9 0 R Eeha § | 3R 3 S Uk el H E,

T 39 M 1 T Ta H 0 < e ?
£¢ Solution: (C)
(A) 3 (B) 5
1
() 4 (D) 45

A can complete one-sixth of a worlc in 5 days
and B can complete one-fourth of the same
work in 15 days. In how many days, will both
working together complete the work?

A Tt = =1 wp-we T 5 T H qu A Twar® sl
B S % o T e 15 fedl § e v g |
{A) 12 days (B) 25 days

(C) 10 days (D) 20 days

£ Solution: (D)

—15— 60

A——é—S—)SO 2
: L
B_ L1
3 1

60
A+B-= 3 = 20 days
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9, 10 men or 15 women can complete a work in
30 days. In how many days can 15 men and 27
women complete the work?

10 &9 1 15 AfFam, fHEt = ® 30 a7 5 11w
TRt & | 15 789 31t 27 nieend st % = fes g7 o
T H T 2

1 1
(a) 6 (B) 117

1 1
(©) 577 (D) 977

& Solution: (D)
10m x 33 = 15w x 30
2m = 3w
(15m+ 27w)D = 10m x 30
(15x3+27 x2)D = 300 %3
{45+ 54)D = S00
900
99

100 9 1

D =

11 11
10. 15 persons working 6 hours per day earn < 900.
How much money will 20 persons earn, work-
ing 10 hours per day?
15 =i wfa faT 6 #2 %™ %% T 900 wAa ¥ 20
=t wia f67 10 =2 %M 540 (e T wAm 2

(AT 2,100 (B) ¥ 1,500
(C) ¥ 1,800 (D) T 2,000
& Solution: (D)
mDT  m,D.T,
W, ~ W

1 2

15x6 2010

900 W,
_20x10x900 .
:7  15x60 @ ©

11. Working together A, B and C can complete a
piece of work in 3 days. A completes the same
work in 24 days and B completes it in 6 days.
How many days will C alone take to complete
the same work?

T WA FH R Y A, BeiRCwwwri &1 3 fmd @
T TFIE 1T FE A A, 24 T H 9B, 6 T H 4w
F HEFA S | TH FE H o C faas fodll F qu A

Tha g ?
(A) 6 (B) 12
(C) 8 (D) 18

£ Solution: (C)

A+B+C— 3 8
A 24\24/1
B—6/ 4

C efficiency = 3

24
Ccando=?=8days

12. X can complete half of the work in 20 days and
Y can do one-fifth of the same work in 10 days.
X started the work and left after & days. Then
Y took over to complete the remaining work.
The total number of days taken by them to com-
plete the work is:

X foslt & % STe 91T 1 20 A o 0 o ek & SR Y

m - 1 = . =
I wHE - T %7 10 i & QU gt § 1 X A

Y& 7 $TR 8 57 % o Sres = = R Y 73w

AT k! 0 Rl |57 ATl Fe Q0 R H e fohad

feram?

(A) 48 days

(C) 60 days
£ Solution: (A)

X — 40 5
>200<
4

y = 50

= 8 davsworkofx=8x5=40
= Remaining work = 200 - 40 = 160

(B) 40 days
(D) 30 days

: 160
= Time of y = 2 " 40 days

= Total time = (8 + 40) = 48 days

13. A completes 20% of a work in 5 days and B
completes one-third of the work in S days.
They began the work together but B leaves
after 3 days. The total number of days needed
for completion of the worlk is:

A, TRt 61 o 20% Wi %1 5 Te A g0 e & of B 3ot
= 1 TH-T0R a5 A H WA e | Tk Wy %
& R ¢ ARA B, 3 57 & o1 w6 Sig i@ § 1w 9
T o stavae fodl 6 3 v e wl |
(A) 24 (B) 20
{C) 30 (D) 18

£ Solution: (B)

14. A and B can complete a certain task in 24 days
and 40 days, respectively. They worked to-
gether for 8 days. C completed the remaining
task in 14 days. Working together, A and C
will complete 75% of the same work in;
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A IR B, forelt % =1 sheAwn: 24 57 81 40 fe7 # qu e
TFAE 19 TR WY 8 T ak = d § | C, I =i 14
o H 0w ® | T Ty wE W g A iR C, wEE

T 1 75% N e e o quasi 7
(A) 15 days (B) 10 days
(C) 12 days (D) 9 days

£ Solution: (B)

15.

Varun and Shayam can do a work in 3 days.
Shayam and Anil can do it in 4 days, and Anil
and Varun can do it in 6 days. How many days
will Anil alone take to do the work?

a0 3T varm fondlt w1 3 fer H qu s A €, M
3R 7 T8 4 TaT H g F AET & 7o AT SR TEW
=T Y F 6 A H TR TFA € | A SFRe 79

w1 o e # qu = arom ?
(A) 22 (B) 18
(C) 20 (D) 24

£ Solution: (D)

V+35—3 4
S+A—4>19<3
A+V 67 2

V+A+S=
S 2
al? L
= ATy T g
2x2
= Dayv by (A = = 24 days

16.

Working together, A, B and C can finish a
piece of work in 3 hours. A finishes the same
work in 8 hours and B finishes it in 6 hours.
How long will C take for alone to finish the
same work?

Us 1 wE #d 85U, A, B o C et wE s e |
AT Y Rt € | A STl 59 i <l § S o THIE el

¥ ST B s =9 6 T H OO I E | SR C ST FHE

=1 farem = H Tmm wom 7
(A) 24 hours (B) 15 hours
(C) 12 hours (D)18 hours

£ Solution: (A)

17.

A tap can fill a tank in 4 hours. Another tap
can fill the same tank in 6 hours. If both the
taps are opened at the same time, then in how
much time will the empty tank be filled com-
pletely?

T 7, TR 2t 1 4 52 T 9% TRl § | §E T, S97
T T 6 FE H R THA €\ 7 T T T e @ S

g, d wrell ot vl 0 e W 9§ e e o 7
{A)3h (B) 2 h 24 min
(C) 2 h 30 min (D) 2 h

£ Solution: (B)

18.

A and B can complete a piece of work in 27
days and 54 days. respectively. They completed
the work in 9 days with the help of C. How
many days will C take to complete eight-ninths
of the work alone?

A 3T B, foreil %M =1 A 27 7 8l s4 fRa d qua
TR ¥ 1 TR C A Heg ¥ 9 T ¥ wd qw e e

aq?w?fcwwfmg T R Fat e ?
(A) 24 (B) 45
(C) 30 (D) 16

£ Solution: (D)

19.

Anu can complete a piece of work in 22 days.
Shama is 60% more efficient than Anu. How
many days does Shama alone take to complete
the same piece of work?

27, Toreli vl 1 22 oA ® s wekd! € 1 9, &9 | 60%
A FI T | STk I, T S @l fwed oA @
HT ?

(A) 36% (B) 35~
(©) 13% D) 132

£¢ Solution: (B)

20.

A and B can complete a certain work in 6 days
and 8 days. respectively. They worked together
for 3 days. C alone completed the remaining
work in 2 days. B and C together can complete

ln]

W2
4 part of the same work in:

A 3R B ol =0 =1 91 6 for ol 8 i § Q@
TR 1A T Y3 A T FE w0 € 1 I BE # C
TFe 2 feA & T Fa ¥ 1 B 3R € w I, st wE

> et o 8
(A) 2 days (B) 3 days
(C) 6 days (D) 4 days

£ Solution: (D)

21.

A and B can complete a work in 80 days and
96 days, respectively. They completed the
work in 32 days with the help of C. How many
days will take to complete the entire work
alone?
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A SR B wH1: 80 foil 3R 96 fedl # usm ol =il 90 #X
TR € 1 5= C % Aeg ¥ 32 el F 5w e =i g0
e | C TR 59w B U F H TR a2
(A) 84 (B) 92

(€) 120 (D) 108

& Solution: (C)

22.

A — 80

/ e \ 5
A+B+C — 32 15

- Eff of C=(15-11)=4

B—96

480
= Total work complete by C = — =120

Acan do awork in 75 hours and B can do the

1
same work in 105 hours. If they work to-

1
gether for 35 hours, then what part of the

work will be left out?

1 .o . ~
A U M H 75 S U = Wkl & 2 B o8l &M

1 ... . y L1
logairnwm%amawwx 33 =2 Tk H

T €, 1 HH T TR W 9 S

A l B i
(A) 5 (B) 2
C g D i
©) 3 (D) 3
& Solution: (A)
15
AT 14
105
21
B-% 10
21 21
A and B work ) hours = 24><?
= 84 work
Reamining work = 105 - 84 = 21
Part of k will be left 2t 1
art of wor e left out = 1055

23.

24 persons can do a piece of work in 20 days.
In how many days can 30 persons do the same
work?

24 =faR ToRedt ™ 1 20 Tel § QU AL T4 £ | 30 =

(A) 14 (B) 16
(C) 12 (D) 18

£ Solution: (B)

24.

24x20=30xx

x= 16 days
A can complete a piece of work in 7 days and B
can complete the same work in 12 days. A and
B worked together for 3 days. C alone completed
the remaining work in 9 days. How many days
will take to complete the same work entirely?
A et @ i 7 el 9 0 R TR § ST B S S &
12 T § R T # | A SR B 5w oot 39 o
1 3 feHl ok T | C oTehet oM ot k1 9 Teri | o e
&\ <ot 9 1 A A C R e o 2
(A) 14 (B) 28
(C) 21 (D) 35

£ Solution: (B)

25.

27
= Complete by C = 9

Jdaysworkby (A+B)=19%x 3 =257

= Remaining work = (84 - 57) = 27

=eff. of C=3
84
. Total work complete by C = o 28 days

2
X and Y together can do a work in 2 5 days, Y

and Z together can do the same workin 3 days,
and X and Z together can do the same work in
4 days. The time taken by X, Y and Z together
to do the same work is:

X Sy foe ford a1 22 fol 4 g0 v 2,

Y iR Z foetent 351 o6 1 3 & 6 g s wend E, 31X
Az frem sl sm w4 fed d wamawd € 1X. Y
#r Z <7 Tk 7 faeTR 97 e R T T T R

H 3% foe fol =1 w9a @m 7

(A) 2 days (B) 1 day
C 2L d D lda
(€C) <5 days (D) 7 day

£ Solution: (A)
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26.

P can complete five-eighths of a work in 15
days and Q can complete three-fourths of the
same work in 30 days. They worked together
for 8 days and then P left. How much time will
(Q working alone, take to complete the remain-
ing work?

P % o s 15 i s Q o 4
o =t 30 el o W R T € 1511 8 i or w1y
et = fan oiR R P& =t o famn 1 Q svest v
R & 0 A H e v @My

(A) 15 days 16 hours  (B) 15 days 8 hours
(C) 20 days 4 hours? (D) 18 days 16 hours

£ Solution: (D)

27.

P 1'5"8 _24 davs> <
Qo2 30"4 =40 days

(P + Q)8 day work =({5+ 3)8 =64
Remaining work = 120 - 64 = 56

56 2
Complete by Q = 3 185 days

= 18 days, 16 hours

A certain number of persons can complete a
work in 54 days. If there were 15 persons less,
it would take 18 days more for the work to be
completed. Initially, the number of personsis:
fepdl T W o oafed, Tk ™ i 54 o H 90 =
T € 1 3% 15 oafd w0 8 9 €, 9 e [WEH | 18
fo eAferer o € | ARy, ==faai i e fedd &1 7
(A) 60 (B) 50

(C) 72 (D) 56

£ Solution: (A)

28.

Let total men = x

xx54=(x-13)72

= x =60
Pipes A and B can empty a full tank in 36 and
45 minutes, respectively, whereas pipe C
alone can fill the tank in 15 minutes. B and C
are opened together for 15 minutes, and then
both are turned off and A is opened. Pipe A will
empty the tank in (in minutes):
ET A 3 B, Rt ot g2 St i A 36 oiw 45 e
H @it 9 T €, WAF e C, SFRe 2 6 15 e
H RARAE | B 3R C % % @9 15 52 % fou g
ST B, STR TR 2T i o R T s g i A e
o E 1T A, ZR A ( Tz =) & @t e
{A) 20 (B) 24
(C) 30 (D) 18

£ Solution: (B)

A—36
B—45> <
cC—15

(-B +C) x 15=40 x 15 = 600 11tre fill

600
than by (-A) — o5 = -24 minute
29, Pand Q can complete awork in 9 days and 15
dayvs. respectively. If they work together for
three days, then in how many days will the

remaining work he completed by Q alone?
P 3R Q TRt =1 =1 en: 9 T ofiR 15 g # W
HFd € 1 91g o U 91 fHoret diF g an e #d €,
STH Q BRI ¥ T 1 T HLT H et o =it 2
(A) 12 (B) 9
(€) 8 (D)7

£ Solution: (D)

P— © 5
Q—15>45< 3

(P+Q), 3daywork=({5+3)x3=24
Remaining work 45 — 24 = 21

Complete by Q (in days) = % =7 days
SSC CGL: 2021

1. A can finish a piece of the work in 16 days

and B can finish it in 12 days. The worked

together for 4 days and then A left. B finished

the remaining work. For how many total

number of days did B work to finish the work
completely?

A U ®W ] 16 oAl H g0 @ vendr § 8RB 3% 12 &

H I o T € 1 SR 4 Al 7w A faeres e

feram &iR fRe A =1em T 1 B 9 99 & ekl U fR

A 1 T FH O % fo1e B A e (ke feren fedl oo

%™ TeRar ?
(A) 8 (B) 4
(€) 9 D6
£ Solution:
A-16
>48 <
-12

4 days work = 4x(3+4) =
Remaining work = 48— 28 20

20
Complete by B = 2 5 days
= Total number of days of B = 4+5 =9 days
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X, Y and Z can do a piece of work in 46 days, 92
days and 23 days, respectively. X started the
work. Y joined him after 2 days. If Z joined
them after 8 days from the beginning, then
for how many days did X work?

X, Y 3R Z T w1 A 46 e, o2 A e 23 i
T H THA | XA FH % Y 2 & % o 55
[T 9 T A Z IR H 8 TEH % 9 51w gEar e,

X A fraq 5 o =m a7
(A) 18 (B) 13
(C) 21 (D) 16

& Solution: (A)

ATQ,

4 + 6 (x+y)+a(xty+z) = 92

= 4+18+a(7) = 92

70

a= =10

Work day by A= 2+6+10= 18 days
A can finish a piece of work in 48 days and B
can finish it in 60 days. They work together
for 12 days and then A goes away. In how much
time (in days and hours) will B finish 25% of
the remaining work?
A T FE F 48 feAl H ud F Tohar € 3B 39 60
fet # wra R T #1912 & 9 v e e
A A § S A T S g | B 3 ®H 6 25% fRA
T H (oA st s /) qu aim 7
(A) 8 days 8 hours/ 8 fcA 8 52
(B) 8 days 6 hours/ 8 f§7 6 72
(C) 6 days 4 hours/ 6 T&7 4 %2
(D) 6 days 6 hours/ 6 T&a7 6 =

& Solution: (B)

(A+B) 12 days work = 12x9 = 108

1
25% of Remaining work = (240-108)x 2
=33

33
Complete by B = e days = 8days 6 hour

A, Band Ccandoaworkin 8, 10 and 12 days,
respectively. After completing the work to-
gether, they received ¥ 5,550. What is the
share of B (in I) in the amount received?

A, B 3R C T% =M F1 %9 8, 10 31X 12 & ¥ o=
TR § | TR w1 e e 0 % % 918 S € 5,550
T 0 9 U H B A few (3 ) R E 2

(A) 1,500 (B) 1,850

(C) 1,696 (D) 1,800

£ Solution: (D)
A = 8D|B = 10D|C = 12D
15 12 10

12
B = —=-x5550= 1800
37

6. A can complete 25% of a work in 15 days. He

works for 15 days and then B alone finishes
the remaining work in 30 days. In how many
days will A and B working together finish 50%
of the same work?

A T T A 25% 9T, 15 A F q0 9 g g 1599 15
Tt 7% e Topan IR T 919 %™ =1 879he1 B 7 30 &t
H 1 {1 A 2t B W 91 FoofeRd S i gU 39 &

1 50% 91T fafaq feAf & qu i 7

(A) 25 (B) 24

(C) 20 (D) 12

£ Solution: (B)
A=60—-15
B=30—-40
1 60x40
2% 1oo ™ 12 days
7.  Five men and 2 boys can do in 30 days as much

work as 7 men and 10 hoys can do in 15 days.
How many boys should join 40 men to do the
same work in 4 days?

qiw STEHT 2 2 wie® 30 &l | Ta s # Hod
fotamn o 7 w1 10 e 15 ferl o e oaa & | 30
= R 4 T | e 75 feTU 40 TR & T fRa i

T T T S AT 2
(A) 10 (B) 12
(C) 14 (D) 15

£¢ Solution: (A)
(OM + 2B)30 = (VM + 10B]15
10M +4B=7M + 10B

3M=6B
1M =2B
total work = 360 unit
360
7 =90-80=10B
8. If 4 men and 6 boys can do a work in 8 days

and 6 men and 4 boys can do the same work
in 7 days, then how many days will 3 men and
4 boys take to do the same work?

7t 4 STEHT 1R 6 Tk foRet o B 8 A § mrwma €
4 ¢ A 2R 4 Trgr St wE A 7 T A e
T 5 AEH 27 4 Tk = W 1 e fea | w2
(A) 6 (B) 8

(C) 5 (D)7
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£ Solution: (B)
{4 men + 6 boys)8 = (6 men + 4 bovs) 7
= 32m + 48B = 42m + 28B = 20B = 10m
M 2
B 1

So,

(4(2) + 6)8 =x (3(2)+ 41))

= 14 x 8 =x(14) = x = 8 days

9. A tyre has 3 punctures. The first puncture
alone would have made the type flat in 9
minutes, the second alone would have done it
in 18 minutes, the third alone would have done
it in 6 minute. If the air leaks out at a
constant rate, then how long (in minutes) does
it take for all the punctures together to make
it flat?
U TR H 3 T € | Teoll dame 37ehel 9 fire J e
Tirept 21 %, T00 WA oTet 18 Tie o Zrr =it T
A1 E ST AE T 3ThE 6 THe H 2R I fawe g
T 1 41E ga U e o @ ket &, d gefi doer e
T Ty Toer e § fra o (e o) =9 2
(A) 6 (B) 3
(€) 4 (D)2
£¢ Solution: (B)
Let Total air Tyre = 18 cubic meter

18
Efficiency of first hole = Y =2

18
Efficiency of second hole = 187 1

18
Efficiency of third hole = 5 =3

18
Time needed together = m = 3 minutes

10. Person A can do one-fifth of the worlcin 3days,
while B's efficiency is half of that of A. In how
many days A and B working together can do
half of the work?

oafer Al VL w3 el B g o ek 8, e

B 1 gl A =1 3Tl 21 A 91k B Us WY faees &M
T B ST FIT H AN 9N T A A T E 2
(A) 5 (B)7
(C) 4 (D)6

£¢ Solution: (A)

Let, Total work = 30 Unit
A's efficiency = 2
B's efficiency = 1

15
Half work done in = o1 5 days

11. A man, a woman and a boy can complete a
work in 3, 4 and 12 days, respectively. How
many boys must assist one man and one
woman to complete the same work in one day?
U TEN, U Aiee R UH O U hH i HAI: 3, 4
# 12 et & 70 A T § | SH Fwm R T H
HETET ST Tey 7
(A) 5 (B) S
(€)7 (D) 4

£ Solution: (A)
man
Women
Boy
1 Day = 4+3+1(x)
12-7=1(x)

S=x
Boys=25

12. A can complete work in 25 days and B can

complete the same work in 20 days. They
started the work together but B left after 4 days
and A continued to work. In how many days
will the entire work be completed?
A et = 1 25 fef # g0 o Tea € S B 36 =
=1 20 &1 # 70 L Twar # | 5= Tk Ty e
Y R =i 4 Tefi % e B 1 %W oI fam o iR A S
T AT SR @ | 90 % TR el § qu e 7

12

— L

(A) 22 (B) 25
(C) 20 (D) 28
£ Solution: (C)
A =25 Days, B =20 Days
LCM = 10 (total work)
A=4,B=5
1D=9
4D =36
64
e 16 Days

Total = 16 + 4 = 20 Days
13. A can do a certain work in 15 days, while B
can do the same work in 21 days. If they work
toegther, then in how many days will the same
work he completed?
A ft w15 F o = TR €, SafE B =w w0
21 feAl § I waa § 1 3f% 3 ey e e e §,

7 o P Bl & g B

3 3
(a) 87 (B) 67
(€) 95 (D) 74
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& Solution: (B)

14.

A=15(7) LCM = 105

B=21(5)

14 men can complete a work in 15 days. [f 21
men are employed, then in how many days
will they complete the same work?

14 3Tes T HE w15 5§ 10w ww #19fE 2
el F W E §, @ A 3H FW i fea A H o
FHT 2
(A) 10
(C) 12

(B) 14
(D) 15

& Solution: (A)

15.

Ml * Dl = MQ * DQ
14 x 15 =21 x D,
14x15
D, = 21
X, Y and Z can complete a piece of work in 46
days, 92 days and 23 days, respectively. X
started the work. Y joined him after 7 days. If
Z joined them after 8 days from the beginning,
then for how many days did Y work?

X, Y it Z emFm R Fa: 46 T, 92 fai w23 i
H qU R W & | X A A I T 7 e & e Y s
T 9 T | FfE Z YR 8 A % 9% 37 W 9 g,

= 10 days

Y o &1 7% % T 2
&) 5
(A) 12? (B) 11?
5 5
(C) 10? (D) 97

& Solution: (B)

let Total work = 92 unit
x=2,y=1,z=4

let total work completed in P days then
x(P) +y(P-7)+ z(P-8) =92

ZP+ P-7 +4P-32 =92

131
:>7P=92+39:>P=7
31
v work = P-7 days = = -7
131-49 82 _ |5
= = = — = 11— days

16.

20 men can finish a work in 30 days. They
started working, but 4 men left the work after
10 days. In how many days would the work he
completed?

20 3TEHT Ua M 1 30 &l § T9ma = wd § 13
TR AT I (o, Ao 4 STl A 10 feAl & =% =M
=g fea | = fafe fedll # quemm 7

{A) 30 (B) 25

(C) 35 (D) 28

£ Solution: (C)

17.

20 mem complete in 30 days

after 10 days and 4cm lefts

20x 20

16

Total days =25+ 10 = 35 days
A college hostel mess has provisions for 25 days
for 350 hoys. At the end of 10 days, when some
boys were shifted to another hostel, it was
found that now the provisions will last for 21
more days. How many hoys were shifted to
another hostel?

T i 182e % 5 ° 350 TEH % fam 25 T
TH ¥ | 10 &1 % A, 59 T Tk ® gHL STE |
TRIATANE s 53 T, % o T o eredi 21 oAl vy
i % | foar s ®1 gEt s | i w1 femn
7

= 25 days

(A) 92 (B) 110
(C) 98 (D) 100
£ Solution: (D)
ATQ,
15 %350 = xx21
= x = 250
Now, Shifted boys= 350 - 250
= 100

18.

P and Q completed a work together and were
paid ¥1,080 and ¥1,440, respectively. If P can
do the entire work in 20 days, how many days
did they take to complete the work together?
P 3R Q 7 us Wi & gx fan o == s T1,080
SR T 1,440 1 raH & T 13z P9y @ &1 20 A
H L Thdl €, T =i Uk W e e e |
TR &7 o1 T foman ?

4 3
(A) 6 (B) 6
3 4
(© 8> (D) 8=

£ Solution: (D)
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19,

Eff. of (P: Q)= 1080 : 1440

=3:4
Now total work = 3x20 =60

60 60 4
Complate by (P + Q) = =—=38= days.

3+4 7 7

A and B working alone can complete a work in
8 days and 12 days, respectively. They started
working together, but A left 2 days before
complection of the work. In how many days
was the work completed?

A 3R B oPheI-3The! %M 0 S0 [ROT %M %1 F5: 8
f&T 3 12 R H U = T ¥ | 3% wmy e
9 F YE AL S AT FH e § 2 fA e
M 915 e 1 6 fobert foefi & g gen ?

(A) 6 (B) 5

(C) 8 (D) 10

£¢ Solution: (A)

20.

Let Total work limit = 24 unit

A=3, B=2

Let Total days model = x

So, B(x) + A(x-2) =24

= 2x+3x6=24=5x=30

x =0 days
A tyre has two punctures. The first puncture
alone would have made the tyre flat in 45
minute, and the second puncture alone would
have done it in 90 minutes. If air leaks out at
a constant rate, then how long (in minutes)
does it take for both the punctures together to
make the tyre flat?
T TR § g AR ¥ | vEel veR ot 45 fie H SiR
T T9 #hE 90 TH= ¥ 2R ! foreh aan € | afs e
U 7 SO A R @, 0 Sl et v wre e
=R = fraerm § foa w9 (e |) =i 2
{A) 30 (B) 15
(C) 40 (Dy45

£¢ Solution: (A)

21.

Let in tyre = 90 cubic meter
first purches = 2 cubicmeter per min
Second purches = 1 cubicmeter per min

90
So time taken together = 511 - 30 min.

[f 35 men can finish a work in 6 days, then in
how many days can 7 men do half of the same
work?

= 35 SAEHN T FE H 6 T 5 90 HL T 8, 0 7
STEHY SHT =R 1 e fewm frae fooff © qu R aaa € 7
{A) 30 (B) 15

(C) 60 (D) 17

£ Solution: (B)

35x6
2x7

SSC CGL: 2020

1
5[35><6)=7X:>x= =x= 15 days

Two men and 7 women can complete a work
in 28 days whereas 6 men and 16 women can
do the same work in 11 days. In how many
days can 7 men complete the same work?

<1 759 $i 7 AfEed U w28 oAl § g wwd ¥
Fdfeh 6 TE9 AR 16 Afgend 34 &M 11 i 4 g
TEGE. 7 AEH S BE B fHa A H e wma ¥ 2

(A) 12 (B) 11
(C) 24 (Dy 22
£ Solution: (D)
TW.=28x11
E
7w+2m — 28day 11 -

Tew +6m — 11 day 28
2Zm+7w=11 ... (1)
bm+1low =28 ... 2

By solving (1) & (2)

>w=5
Effi. of w =1
Effi. of man=2
: 28 %11
Time to complete work by 7 men = 7% 2
=22

Samir and Puneet can complete the same work
in 10 days and 15 days respectively. The work
was assigned for ¥ 4500. After working to-
gether for 3 days Samir and Puneet involved
Ashok. The work was completed in total 5 days.
What amount (in I) was paid to Ashok?

TR 3R T T e e 10 fam @i 15 fe |
T FTFRA ¢ | @ T 4500 % faw dimmar on | 3 751 7%
Tk W T8 HL & o5 FHR AR g+ 37900 & i
TR 1 5 &A1 | g o T o | eretR T TRt afe

(TH) =1 g = = ?
(A) 1071 (B) 750
(C) 800 (D) 1500

£¢ Solution: (B)

Samir — 10 3
::>30
Puneet — 15-72

3 days work Logether = 3 x 5 =15 work
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Remaining work =30-15 =15
Samir + Puncel + Ashok work Logelher [or 2 days
=15 work

1
Per day workeff. = - =75

2
Samir Puncel  Ashok
Eff, 3 2 : 25=75
Work done by Ashok = 2.5 x 2 days =5 work
a -
Ashok wages = 30 > 5=3730

A and B can complete a work in 15 days and
10 days respectively. They started doing the
work together but after 4 days B had to leave.
Then A working with a new worker C com-
pleted the remaining work in 3 days. [f C works
alone, in how many days he can do 40% of the
same work?

AR B FMH ®AM: 15 fA i 10 T d [
Tehd & | S781- Ueh TS 19 hiAl 96 foha oifend 4 fel &
e B &1 BEA 727 | il A T 90 F AT C & WY e
T I T T 3 T H QA # 1afg C ovhe e
AT S, T 9E S FE B 40% e &1 § e Tk € 2
(A) 10 (B) 9

©8 D) 85

& Solution: (B)

A — 15
P
B — 10-73
A and Bwork Logelther 4 days =4 x5=20
Remaining work = 30 - 20 =10 unil

10
A and C complele work per day = — unil per

3
day

. 10 4
C's efficiency = Fs - 2= 3 work per day

in]

30 2
_“ aQuy = —— — q: lavs
A C's days 3 X5 X3 9 days

There are two water taps in a tank which can
fill the empty tank in 12 hours and 18 hours
respectively. It is seen that there is a leak-
age point at the hottom of the tank which can
empty the completely filled tank in 36 hours.
If both the water taps are opened at the same
time to fill the empty tank and the leakage
point was repaired after 1 hour, then in how
much time the empty tank will be completely
filled?

U 21 H U % T A @ S Gl 2 w1 e 12 52
R 18 ¥ H W ¥d ©. I T= T € TR d & e T
fram foig & <1 36 ¥ ¥ Uit e W R FF ® @l =
TR 2 197 Wt 2T T 9T o T ST Tl RO e
T E, A BT 2Rt A IHa | T | R St ?
(A) 7 hours 12 minutes / 7 %< 12 iz

(B) 8 hours 24 minutes / 8 Wi 24 fifz

(C) 7 hours / 7 ¥

(D) 7 hours 24 minutes / 7 %2 24 o=

£ Solution: (D)

‘ A 12 3
Filled
B 18 2 36
Empty[ C 36 1
ATQ,

Workdone by A, B&Cinonchr. =4
Now C is [ixed sowork done by A & B

32
=5 =6 hr 24 min.

Total time =1 hr + 6 hr + 24 min, =7 hrs, 24 min,
A can do a certain work in 15 days. B is 25%
more efficient than A. Both worked together
for 4 days. C alone completed the remaining
work in 8 days. A, B and C together will com-
plete the same work in?

ATE ffim e =1 15 T T wFa g1 B, A9 25%
arferer Y B 1 < 1 e 4 A o e T C
TSl IR A & T H qu R g | A, B 3R C T

el T B e Tl B 2
£ Solution: (C)
(A) 4t days (B) 61 days
2 27
(C) 5 days (D) 4 days
T.W. =120
E
A—15 8§
B— 10

ATQ,
T.W.=4{A +B) + §C)=120
=4(18) + 8(C) =120
BC=120-72=48
Efficiency of C=6
Timetakenby A+B+C

~ T.W. ~ 120
T Effiof(A+B+C) T 24

=5
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6.  Eighleenmen can complele a work in 14 days. Three
women do as much work as lwo men. Five men and
six women started the same work and continued for
4 days. Subsequently 3 more men joined the group.
In how many Llolal days was Lhe work compleled?
IINE TCT TF FE B 14 TE H 7m w wwe €1 4=
AfEed €1 el o S5 e w2 | wie e 9 9
Afgerstt 7 w0 FE & TR i 4 feqf g I @)
T A5 3 &7R YTY UAE H WA & T FwE H wA

farem fo=l o g foren T 7
1 1 , _
() 217 ®173 Q18 (D)2

£¢ Solution: (D)
3 women =2 men

Eff. of M: W 3 00 2
Tolal work = 18 x 3 x 14 = 756 unils
5menand 6 women work Logelher 4 days

=(3x3+6x2)="108 unit
work = 756 - 108 = 648
‘ 648
Time = 36 18
Total time =18 + 4 = 22 days
7.  Atankis filled in 4 houtrs by three pipes A, Band C,

1
The pipe Cis 1 - Limes as fasl as B and B is 3 Limes

as fast as A, How many hours will pipe A alone take
to fill the tank?

Uk SR & G 139 A, B SR C g0 4 52 W fgm e |

R S . ¥
WC,B‘GIETETW%WB,Aﬁ3TﬁTﬁH%IWA

= ]- o N Tt 2 ot
A TE FH A 115 T U T%a s 1 B, A¥ 25%

fers FI € SR C, B 9§ 50% %I E | A, B $iRC TF
e T L H FHA S YU A 7
(A) 8 days / 8 f&7 (B) 4 days / 4 T&7
(C) 3 days / 3 feA (D) 5 days/ 5 feA
£¢ Solution: (B)

A B C
EIl. 4 . 353 25

-+ Bis 25% more than A

23
= Total work = o x 4 =46 unit

= Total time taken by A, Band C=

46 .46
4+5+25 115

=4 days

9. A can complete a work in 60 days. B is 25% more

efficient than A. They work together for 15 days. C
alone completes the remaining work in 14 days. B

5
and C Logelher will complele 3 Lh parl of Lhe origi-
nal work in:
A T M T 60 feT F T X T 1B, A § 25%

sife I ¢ 1 9 uF w1 15 Al 9% w6 = §1C
TR 9| T T 14 A H 1w €1 B & C fiem

. 5_, . . -
A T o ¥ T AT

(A) 18 days/ 18 f&
()12 days/ 12 f&3

(B) 16 days/ 16 fea
(D)15 days/ 15

\’ . - s FC - =~k ?
Sl " £ Solution: (C)
(A) 17 hours (B) 34 hours A B
() 3-0 hours {D)15 hours ELf. 4 - 5
£ Solution: (C) days 3 . 4
A LB:C bz a2
) 2 o0 : 48
Eff. of pipes 3 2:3
5. 6:9 240
Total tank capacity = (2 + 6.+ 0y x 4 =17 x4 ltr, A—60 ) 4
B— 48| 5
Time Laken by A = L7 x4 _ 34 hours
2 1 A + B together work for 15 days
8. A can complete aworkin 11 2 days. B is 25% =15 x 9 = 135 units
more efficient than A and C is 50% than B. Remaining work =240 - 135 = 105 unit
Working together A, B and C will complete the 105
same work? C's eff,= 1a units per day
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B+C ff—E +'—E i d
ceff.= 7= +35=—7~ unit per day
240><5
8
= 175 =12days
14

10, A and Btogether can complete a certain work in 20
days whereas Band C Logelher can complele il in 24
days. Il A is lwice as good as workman as C, Lhen in
whal Lime will B alone do 40% of the same work?

A &I B U O fREt = w1 20 oA F o wwa #

ok B #1R C fream 3w 24 fedf § [ wmma €198 A,

C © Tl %81 F1H hiA Tl 8, G B STohet ST IH &

40% oA w= | a7

(A)Y12days / 12 f7

(C)18 days / 18 f&=
& Solution: (A)

(B) 10 days / 10 f&
(D)15 days / 15f7

120
B+C— 24-75
A C B
2 1 4
B lete 40% I 120 20 12d
! - g 10 = X —— = dy
- Bcomplete 407 work 2 100 ays

11. Acandoapiece of workin2 days, and Bcan do five
Limes Lhe same work in 15 days when Lhey work for
Len hours a day. If Lhey work Logether, Lhen how
many hours in addilion Lo a day's work will they
require to complete the work?

A T w1 2 Tl F w2 a8, ofix B 55w F A
AT 15 fal B T € 9 A vt a9 we e
£ 17fe 9 ok T R R §, o A T O R & s
(A)2 (B)1
0 (D)3
& Solution: (A)
(i) A can do a piece of work in 2 days work 10
hours per dav A — 20 hrs.
(ii) B can do [ive Limes the same work in 15 davs
working 10 hours per day
i.e. B can do work in 3 days
B — 30 hrs
Tolal work =60
EIL.
A - 20hrs — 3
B - 3hrs —» 2

(A+B) — 3
60
Time lakenby A& B= 5 - 12 hrs

2 s inaddilion Lo a day's work.

12. Pipes A and B can [ill a lank in 12 hours and 16
hours respectively and pipe C can empty the full
tank in 24 hours, All three pipes are opened together
, bul afler 4 hours pipe B is dlosed. In how many
hours, the empty tank will be cimpletely filled?
URY ASI B UF £ &l HAW: 12 = SR 16 " H W
TR # 3R TE C T EF w24 7 H B wEEa g |
T AT 2T T T BieT Sl g, T 4 ¥ 9% 7Y B
1 ST 2 &2 o ¥ | Tt 2ot e W W T WE N

T 7
(A)18 (B) 32
(C)28 (D) 14

£¢ Solution: (A)
Let total work =48

A — 12hrs — 4
Fill
B — 16hrs — 3
Empty[ ¢ — 24hrs - 2
= For 4 hrs. all pipe opened Logether and aller B

closed
44 +3-2)+TMH-2)=48
2T =48 - 20
28
T2
T=14

Tolal hes. Lo (il the emply lank =14 + 4 =18
13. Each one ol five men independently can complele a
work in 20 days. The work is started by one person.
Next day one more personjoins and every next day
one more person joing. From Lhe [fth day, five per-
sons conlinued work as a leam. In how many davs,
will the work be completed?
= E I Y e e ¥ Y 20 T H v e AR
TR 2 | T R S R Y R i # | o7t fo
e foA 4, o sAteal § Uk S & w0 H A R SR
@ | A T fed § g e ?
(A)2 (B)é
3 (D)5
£ Solution: (B)

Eacn men can complete work in 20 day.

Lel lolal work =20

Efficiency of one man=1

Tow.=1"day + 2" day ...... 6™ day

ATQ,
20=1+2+34+4+5+5
20=20

Time =6 days
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14. A man and a woman, working together can do
a work in 66 days. The ratio of their working
efficiencies is 3 : 2. In how many days 6 men
and 2 women working together can do the
same work?

U %Y 3R Tk AT T W19 H1H L 50 66 Tl § Tk
T F TEA € | SR BT B 6 TR 3 : 2 ¥ 16 I
IR 2 AfewTd ek W S A 5 THH FE A R G

A TFAE?
(A)15 (B)14
Q18 (D)12
£¢ Solution: (A)
Man + woman — 66
Efficiency = Man Woman
3 : 2
Total work =66(3 + 2) =330
ATQ,
' 330 30
Time = M = = 15 davs

15. To do a certain work, efficiencies of A and B
are in the ratio 7 : 5. Working together, they

1
can complete the work in 175 days. In how

many days, will B alone complete 50% of the
some work?

g e Rl S e A SR B i sma 7: 5%
A B € | T W1 w0 F g, o S S 175 Rt d
T T Tk € | TR el H, B owRer TRt e 6 50%

U FM 7
(A) 15 (B) 30
(C) 42 (D) 21

£ Solution: (D)
A:B
Eff 7:5

ln]

5
Total work = (7 + 5) x > = 210 unit

210 1
B done 50% worlk = TX 5" 21 days

16. Five men can complete a work in 20 days. Ten
women can complete the same work in 15
days. Two men and six women started work-
ing together. After 5 days, three women left
the worlk and a new man joined the work. The
group continued working together till the end
of the work. In how many days will they he
able to do the remaining work?

Ui SAEHT Ush 19 1 20 feAl H g0 # wend |79 Afeemd
=Y w1 15 oAl # 9 R wRdr 1 < genl R 2
Afgersii 7 T Te HE F I | 5 57 % 9, 99
Al 7 T B o S T T SEH w1 H e
T T | HHE 1 S % 370 T U W EH R S

¥ T A R T W R TR ?
(A) 14 (B) 19

1 2
(c) 18 (D) 16

£¢ Solution: (A)
5Mx20=10wx 15

SIS
| o

Tw=5x3x20=300
Work done = (2x3+6 x 2) x 5=90
Reamaining work = 300 — 90 = 210
210
3x3+3x%x2
17. 14 persons can do a work in 18 days. After 5
days of work, 6 workers left the work, and
joined back on the last day of the work. [n how
many days the work got completed?
14 wafar forslt = &1 18 fodl & s wend 8 15 i =
& a1, 6 A 3 W Sig fn, ik wH & sifem fed
a9 e 2 T | e Ta H qgen ?
(A) 24 (B) 12
({C) 21 (D) 27
£¢ Solution: (D)
14 person — 18
T.W.=14 x 18 =252
Now, ATQ
252 =5(14)+ T(8) + 14
T(8) = 252 — 84
168
s "
Total time =21 + 5+ 1 =27
18. Two pipes A and B can fill an empty tank in 10
hours and 10 hours and 16 hours respectively.
They are opened alternately for 1 hour each,
opening pipe B first. In how many hours, will
the empty tank be filled?
T U1EY A 3R B T @iall <o FI HAT: 10 5 A 10 5
AR 16 W B Y Hekd € | 3¢ ai-ard 9 1 5 =& forg @ien
W1, YEel YU B w1 Eiel Sl # | Wiell < fohad sie A
R ST 7

Time = = 14 days

21

2 2 2 2
a)120 (B 14- (@107 (D162
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& Solution: (A)

19.

A—>10hrs. 8 >80
B——>16hrs. 5
Opening pipe B first :

work done by pipesin first two hrs. = 5+8=13
work done by pipes in after 12 hrs. = 13x6=78

Now remaining work is done by B = ghr

2
Total time = 12g

To do a certain work, the ratio of efficiencies
of X and Y is 5 : 7, Working together, X and Y
can complete the same work in 70 days. X
alone started the work and left after 42 days.
Y alone will complete the remaining work in:

T ffa = w9 F o X R Y B et W=
S 5 ¢ 7 &, Wek W1 %A %d g, X Y 36 & &0
70 &A1 # T FT T € | X SFhe T YIE B 3 42
fei & e S MR Y ket I wH i R T H 0y
I —

(A) 90 days (B) 96 days
(C) 8D days (D) 72 days
& Solution: (A)
Xy
eff. 5 7 — 12 unit/per day

20.

Total work = 12 x 70 = 840 units

x work done 42 days =5 x 42 = 210 unit
. 840 -210
remaining work done by Y = e

=90 days

To do a certain work A and B work on alter-
nate days with B beginning the work on the
first day. A alone can complete the same work

1
in 24 days. If the work gets completed in 11—
W2

7
days, then B alone can complete gthe part of

the original work?
T Tfea % 1 w0 F 0 A @R B Jfers il o
F L & 2R B Tee A i IS Al E | A ST

3t % i 24 Tl A U wwar g 1Ak wE 11 fedf
]

H U S €, 79 B STkl go HE g%wi?ﬁ%fﬁﬁfﬁ

T T 7

1
(A) 45 days (B) 4 days

1
(C) 55 days (D) 6- days

£¢ Solution: (D)

1
24A=6B +5A+ A
W

19A—%A=613
W2

56A=18B

A 9

B 28

TW = 24 x 9

7
Time taken by B to complete o th part of work

7 1
=24 x0x—x— =
T & days

CDS : 2020-(1)

1. 8 men or 12 wemen can do a piece of work in

24 days. In how many days can the work he
done by 8 men and 12 woman?

8 T&d A1 12 foaa st wm 8t 24 e A e awa €18

&y i 12 fomat =54t %m & e i o w40 2

(A) 12 &7/ days (B) 18 &1/ days

(C) 24 f&7/ days

(D) 978 ATwi % FRw Faffia 2T fHan = awa /

Cannot be determined due to insuffficient data
£ Solution: (A)

8m = 12w
8m x 24 = (8m+ 12w) xdays
8m x 24 = lém xday
_ 8x24
*T e

x = 12 days.
CDS : 2020-(Il)

1. 20 men are supposed to complete awork in 10

days. After working for 5 days. they realise that
only one-fourth of the work is done. How many
more men they need to employ to finish the
work on time?

20 =Rl 10 T H TE B U R 5 T e
T G, IR e B S 5 et TR B E
T g ¥ | 39 ®H & T R QU wE F AU 3% i

fepe- SETTeRTa =i STEeaehal 2 ?
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(A) 40 (B) 30
(C) 20 (D) 15

£¢ Solution: (A)

Work units completed after working for 5
days = 20 x 5 = 100 units

U AT 39 76 W 30 &7 3 Tt s &3 =1 wewa g
% o widfed s = & foru 3§ 500 20t et s} yoiw
AT Yo et T 2 87T, 100 S0 i A2t st et |
Zaq Ay & TEE W3 11,400 90 91 g1 | S0

1

— of total work unit = 100 (A) 20 (B) 21

4 (C) 24 (D) 25

= Total work unit = 400 units £ Solution: (C)

Now, Let the man worked x' days.

remaining work = 400 — 100 & obsented 30 - x day.

= 300 units x x 500 + (30 — x)(— 100) = 11400

Time to complete the remaining work = 5 500% + 100x - 3000 = 11400

days. 600x = 14400

300=5xM

_ 14400

X= oo 2tdas

More men = 60 — 20 4. Let work done by (3n - 1) men in (2n +1) days

= 40 men be x and work done by (3n +1) men in (4n - 3)

2. Sheela can stitch a suit in 2 days, while days be y. If x : vy = 6 : 11, then what is the

Meena can stitch a suit in 1| days. How many valueof n?
days will both take in stitching 30 suits ? AF EEE (3n - 1) =l 57 (2n + 1) it § fn v
Yien wF gz 2 A § fae wewdt &, setE | ouE ge i x & 3R (3n + 1) = EW (4n - 8) i & fem

| . _ e TMHEE y e A x:y=6:11%, din® A= Fng ?
15 Tt & e wndlt 8 1 <11 =BT 30 2 faer ® Prad R’ (A) 6 (B) 7
i 7 (C) 8 (D)9
(A) 32T (B) 33 fa © 8011(13?11‘10111)[?()&5011 (2n + 1)Days — x Work
(C) 35 & (D) 40 fea v

{3n + 1)Person {4n - 3)Days — y Work

£ Solution: (C A
Sheela(—>] 2 Days — 1 Suit (80— 1) (2n+ 1) = (3n+ 1) (4n— 3)

Meena — 1.5 Days — 1 Suit 6 11
; Now put value of n from options
Work done by Sheelain 1 day = 5=0.5 n=7.
- CDS : 2021-(l)
Work done by Meena in 1 day = 1 = 2 1. If 20 persons can clean 20 floors in 20 days,
15 3 then in how many days can 16 persons clean
Time taken by Sheela & Meena to stich 30 16 floors ?
suits = 20 =fH, 20 TR, 20 & § TE W Ewd €, @ 16
T[l+g]- =fad, 16 W fokar oAl § o s 91 7 (¢ps-2021)
2 3)°30 (A) 25 days (B) 24 days
(C) 20 days (D) 16 days
T= @ £ Solution: (C)

20 person can clear 20 floor in 20 days.
Mean 1 person can clean 1 floor in 20 days.
then 16 person can clean 16 floor in 20 days.

3. A person agrees to work for 30 days, on a
condition that for every day's work he should
receive ¥ 500, and that for every day's absence
from work he should forfeit ¥ 100. At the end
of the time be received ¥ 11,400. How many
days did he work ?
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(Previous Year Questions | 2017-2022)

1. Aistwice asgood aworkman as B and together
they finish a piece of work in 13 days. In how

many days will B alone finish the work ?
A, B ®I 9o 8§ SR B9 AeigL E $i 9 T Ty faees
fonell el 1 13 & o 90 € | 3Rt B 3T @ @

P A m#MUm?  (CPO 23-10-2020 S-1)
(A) 18.5 (B) 21
(C) 39 (Dy42
& Solution: (C)
A B
2 1
Total work = 13 = 3 =39
) 39
B along finish the work = EE =39 days

2. Two pipes A and B can fill a tank in 15 hours
and 18 hours, respectively. Both pipes are
opened simultaneously to fill the tank. In how

many hours will the empty tank he filled ?

T T A 2R B el e 1 e 15 W SR 18 He H
W HHA © | Soh1 Rl A o o0 191 WeY Wk T wiel |
€ 1 @rell dont feme sie H Wil 7 (CPO 23-10-2020 S-1)

2 2
(A) 77 (B) 977

9 2
(€) 10 (D) 8-

& Solution: (D)

A — 156
>90

B — 187°

Time taken to fill the tank
210) 2

=11 8 11 days
3. A andB can do ajob in 10 days respectively.
They worked together for two days, after which
B was replaced by C and the work was finished
in the next three days. How long will C along
take to finish 60% of the job ?

A SR B & =i #H9: 10 3R 5 e § #x v § 1S9
T 19 THeTeR 1 167 77 1 30 €, 59 915 B % T
T C I ST T T o 0 E S | et C 39
1 60% 9 fFa &9 ¥ 70 %01 7 (CPO 23.10 | 8-)
(A) 30 days/f&T (B) 25 days/f&T
(C) 18 days/f&a (D) 24 days/ &=

£¢ Solution: (C)
A — 101
>10
B — 5 72

2 daysworkdone=2x3=6

4
C's efficiency = Tre =3

=4=3+3C
1=3C

60 10

C alone can do = —— x—
100 13

_ 60x10
10

*x 3 =18 days

4, Pipes A and B can fill a tank in 16 hours and

24 hoursrepectively whereas pipe C can empty
the full tank in 40 hours. All the three pipes
are opened together, but pipe A is closed after
10 hours. After how many hours will the re-
maining part of the tank be filled ?

TR A ¥R B fmel <t #1 ®H9: 16 2 24 % T aw
HFd € Tk =Y C 9 g2 Zi A 40 5 H Wt
Wkl & | AH 9EY Uk Wi Eiel 91 & i 10 5 "5
Y A I 98 e W F 1 6 e we 9

qam? (CPO 23-10-2020 S-I)
(A) 15% (B) 12%
(C) 20 (D) 10

£¢ Solution: (B)
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A — 16 \15
B — 24 10 — 240
C — 40 /6

10 hour after = 10x19 = 190

Remaining = 240-190 = 50

Remaining part of the tank fill by
50 25 1

ML o=
4 2 2

5. Aand B can do apiece of work in 36 days. B and
C can do the same work in 60 days. A and C
can do the same work in 435 days. In how many
days can A alone complete the same work?

A IR B et = =1 36 o § S 9% € | B R C =65
F4 F 60 FAH T TFAE 1A TR C s we Fr4s g
FX THRA © | 3Thel A TH % =1 Fere fem g ?
(CPO 23-10-2020 Shift )
{B) 45
(D) 120

(A)90
(C)e0
£¢ Solution: (C)

5 A+B-36
3 B+C-60j|180

4 C+A-45
A+B+C—E—6
=5 =
A=6-3=3
A alone complete the same work
180
= T=6Odays

6. Two pipescan fill atankin 15 hours and 4 hours,
respectively, while a third pipe can empty it in
12 hours. How long (in hours) will it take to fill
the empty tank of all the three pipes are opened
simultaneously?
g1 U1g, fRe o] Rl SHHI: 15 € SR 4 5o H W W &
TAfF T AR U 3 12 He § w9 B 1 3
! U= Uk WY e B, 1 <l W H R v (e H)

T ? (CPO 23-10-2020 Shift II)
N2 gls 50 30
W= B ©5 O

£ Solution: (D)

4 A - 15 60
15 B - 4
-5 C 12

A+B+C=4+15-5=14

ot e - &0 - 0
oL 1_me—14—7

7. X can do a work in 3 days, Y does three times

the same work in 8 days, and Z does five times
the same work in 12 days. [f they have to work
together for 6 hours in a day, then in how much
time can they complete the work?
X et ot 1 3 T 9 e ashar 2, Y <9 o o O T
8 & H W wEa1 ¥ 3 Z 3¢ e & uiw A w1 12 TR
TR 2 191 3 T me vl ¢ e wd wa €, S ST
B F I G0 H T ST wHA 0
(CPO 23-10-2020 Shift )

(A) 4 hours
(B) 5 hours
{C] 5 hours 20 minutes
(D) 4 hours 10 minutes
£¢ Solution: (C)

X=3-> w

y=8—> 3w

z=12 > 5w
w 3w Ow
R LA A

3 8 12
_ 8w+9w+ 10w _ EW
- 24 24

_24><6_16_5hr20 .
=57 = 3 = minutes

8. When operated separately, pipe A takes 3 hours

less than pipe B to fill a cistern, and when both
pipes are operated together, the cistern gets
filled in 6 hours. In how much time (in hours)
will pipe B fill the cistern. if operated separately:
ST - ST Ufi=Tied g WY, foRst Sant &1 Wi © Uy A
B ¥ 5 w21 ®H TR €, 3 9 <M1 WeT T 9 it
BRI &, 1l 3T 6 5 H WS § | 7fs T3 B o7 aftnferd
¥, T Tk BRI 21 W1 O T A I (2 H) 99

e (CPO 23-10-2020 Shift II)
(A) 18 (B) 15
(C) 9 (D) 10

£¢ Solution: (B)

6x A—x-5)
6(x-5 B—x >6x(x - 5)
X[x - 5) C—6

Ox+6x-30=x%-5x
x2-17x+30=30
X?2-1bx-2x+30=30
X(x-15)-2(x13)=0

x=15,2
. 6x(x —5)
Pipe B fill = 6(x-5) =X

x = 15 hours
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A and B can do a piece of work in 36 days. B
and C can do the same worlk in 60 days. A and
C can do the same work in 45 days. In how
many days can B alone complete the same
work?

A i B foreft wmr et 36 Tl H #ewwa €1 B o C =t
w9 7 60 fofi § % g ¥ 1 A sk ¢ sHi wm #T 45
fedi # s vakd ¥ | B o1kl 351 M &1 forae oAl © qmas

oA E ? (CPO 24-10-2020 Shift 1)
(A) 90 (B) 60
(C) 120 (D) 45

& Solution: (A)
A+B

0
10. Pipes A, B and C can fill an empty tank in =

36 \ / 5
B+C 60 /180\ 3
45 4

A+C

2(A+B+Q) 12
B-o(p-4=2 ’
. B alone complete in —— =90 day

2

ln]

7
hours, if all the three pipes are opened simul-

taneously. A and B are filling pipes and C is
an emptying pipe. Pipe A can fill the tank in
15 hours and pipe C can empty it in 12 hours.
In how long (in hours) can pipe B alone fill the
empty tank ?

qH 9=Y A, B 2K C & U% WY GieH T A e

4 "‘O . =+ - 5 = = -
Wﬁ%ﬂ%ﬂ W HED & | A SR B 9 9l T ©
S C Qrefl = 916 T3 € | 2T A I i 15 " H @
TR T o TE C 39 12 94§ Wil s UHhd & | U9 B
ST S8 T 2 S R T (R ) smHmaE ?

(CPO 24-10-2020 Shift 1)

11.

A and B can do a piece of work in 25 days. B

alone can do 66 % of the same work in 30
W

4
days. In how many days can A alone do 15

part of the same work ?

A &R B fodt @ 91 25 fedl § i wd € | B otohed 341
. 2 . vy .
FHH 665"0 a1 30 & § W HEm B A S

™ 4 -\ b -
SH M % — WM % TR ol s g B 7

15
(CPO 24-10-2020 Shift 1)

(A) 15 (B) 20

(C) 18 (D) 12

£¢ Solution: (A)

12,

9 A+B=2

Ell. (A)=9-5=4

4
s 225 x — =60
15

60
So A work = i 15 days

When operated separately, pipe A takes 5
hours less than pipe B to fill a cistern, and
when operated together, the cistern gets filled
in 6 hours. In how much time (in hours) will
pipe A fill the cistern, if operated separately ?

AT -7 A Fort S W et et @ Wi | TET A,
U9 B S go H 5 5 w1 T o €, o e W e
foFU S T EHT 6 ¥ H W Sl € | Afe Uy A R ST
=15 o T, T 9 2 W fEee gE A (R H) .|

(A) 4 (B) 6
(€) 3 (D) 5
& Solution: (A)
— 30 1.
A+B-C = = 14
A = 13 60 4
C = 12 3
Eff.(B)=(14-4+5)=15
60
ST 4 hour

Tm? (CPO 24-10-2020 Shift I)
{A) 10 (B) 18
(C)9 (D) 15
£ Solution: (A)
By Option
A— 10 a
> 6U<
A+B—> 0 10
60
L B= i 15

AB-A=15-10=5
So, Oplion A is righl.
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13. P and Q together can do a work in 12 days. P
alone can do the same worlk in 18 days. In how
many days can @ alone complete two-third part
of the same work ? (CPO 24-10-2020 Shift II)
TF W19 P 3R Q et = =1 12 fa & o A g
3TReT Pt A A 18 T H 0 A I ¥ | a7 Q 9T
el % <i-faerd v i e i F qu R w2 2
{A) 30 (B) 21
(C) 24 (D) 36

£ Solution: (C)

P+Q —12 3
>36<
P — 18 2
P=20Q=1
Tolal Work =36

2 2
3 Parl ol work = 3 x36=24

" = 24 days

24
Q=T

14. A pump can fill a tank with water in 3 hours.

1
Because of a leak, it took 3§hours to fill the

tank. In how many hours can the lealt alone
drain all the water of the tank when it is full ?

whIE 99, sl Ol Al ST 1 3 S H W HoRd | e
35 O, T FH o 3% o R | R e
21, 51 TR PR T 2 3 R R Froer # e

T ? (CPO 24-10-2020 Shift II)
(A) 21 (B) 15
(C) 30 (D) 10
£ Solution: (C)
A ] 10
30
10 > <
A+B —3 o
Elf.ofB=-1

0
B= ER =30 hours

15. Pipes A, B and C can fill a tank in 15, 30 and
40 hours, respectively. Pipes A, B and C are
opened at 6 a.m., 8 am. and 10 a.m., respec-
tively. on the same day. When will the tank
be full ? (CPO 24-10-2020 Shift II)
T A, B #iR C et Zwt = e 15, 30 #i 40 =
# R T ¥ | T F T T A, B #iR C %1 gue
6, 8 & 10 o5 e S & | 261 foha ot o) STt 2
(A)3:20 p.m. (B)y11:20 p.m.
(C)7:20p.m. (D) 5: 20 p.m.

£ Solution: (A)

A 15 \ / &

B 30 120 4

C 40 / \ 3

6—7am | Sam—-10am 10am

A+A |A+B+A+B|A+B+C
16 24 15

10 am till work done =40
Remaining work = 120 - 40 =80

Time =320 PM

17. A can complete some work in 35 days and B

can complete the same work in 15 days. They
worked together for 8 days, then B left the
work. [n how many days will A alone complete
60% of the remaining work?
A, frdt = =1 35 57 & o A € o B S5 % &1
15 &7 5 90 2 Tl & | T2 UF 919 8 &7 7% w
e, sqF o5 B 7 @ 9 T sel A 9N wH &
60% T &I fordA 57 H 90 ST 7 (CPO 24.10 | 5-1I)

{A) 15 (B) 10
(€) 5 (D) 8
£ Solution: (C)
A 35 3
>105<
B 15 7

8day workof A+ B=(7+3)8=280
Remaining work = 105 - 80 = 25

o0
100

60% of remaining work = 25 x 15

15
Time = E 5 days
18. A and B can do a job in 10 days and 5 days,
respectively. They worked together for two
days, after which B was replaced by C and the
work was finished in the next tree days. How

long will C alone take to finish 40% of the job?
A iR B fret &M w1 s 10 3w 5 feAl f saed £
AT = R 9% T e e e e ¥, S 9% B
% TIF W C 7 HAE SR FH T A e H e
W | C TSt 39 S T 40% fod =i fmm i d qu

= T ? (CPO 25-10-2020 Shift 1)
(A) 15 days/feA (B) 18 days/ =
(C) 10 days/fea (D) 12 days/ =
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& Solution: (D)

A—10 1
P
B— 5 2

Zdayswork, AandB=3x2=6
Remaining work = 10-6=4
~ Eff. of C={4-1)=3

40
= 10x O><3=12days

19. Two pipes A and B can fill a tank in 12 hours
and 18 hours, respectively. Both pipes are
opened simultaneously. In how much time will
the empty tank be filled completely ?

T R A #iR B wF FR w12 8 18 W H R

TR € | %1 FI 9 & T i & e S e

T W1 I S 8 | e 22k 1 et 23 | T o) S ?
(CPO 25-10-2020 Shift I)

(A) 8 hours

(B) 10 hours 24 minutes

(C) 9@ hours 30 minutes

(D) 7 hours 12 minutes

& Solution: (D)

A—12
>)6<
B—18

Both{A+B)= ? =7 hour 12 minute

20. Pipes A and B can fill a tank in 16 hours and
24 hours repectively whereas pipe C can empty
the full tank in 40 hours. All the three pipes
are opened together, but pipe C is closed after
10 hours. After how many hours will the re-

maining part of the tank he filled ?

T A iR B fE Zont ol A9 16 8% 24 % H )
T & Tk TET C 39 T ES 2 R 40 5 H @Rl
TFAE | T TET TE A @ WK E S 10 W 9w
WY C & I F &AW F | Zaw 5 foRa s @R

T ? (CPO 25-10-2020 Shift I)
A) 2 B 2l C) 5 D 5l
(A) 2 (B) =5 (<€) (D) =3

# Solution:

21.A) A— 16
B >24o<
— 40

A + B - ()10 hour
= 240 -190 =50

(15+ 10 —6) = 190

0
— =2 hour

~ (A+B)= =5

21. A is twice as good a workman as B, and to-
gether they finish a piece of work in 13 days.

In how many days will A alone finish the work?
A, B & g ® S el meigl § i 3 9w T
Ty fiRett # =1 13 e & 90 %< € | oPhet A St
= 1t 59 § [ s WMem ? (CPO 25.10 | S-1)

1 1
(A) 41 (B) 195 (C) 91 (D) 39
£ Solution: (B)
A: B Total work
Capacity 2 : 1 13x3 =39
39
= — S 19
A 5 5 days

22. P and Q together can do a work in 12 days. P
alone can do the same work in 36 days. In how
many days can QQ alone complete two-third part

of the same work ? (CPO 25-10-2020 S-II)
P &R Q Ty freret fonelt ®m =1 12 T & 0 st wadt
% P 3701 SHT M ® 36 faAl ¥ W HE € | Q I
o & & st e BT 21T o 0 e A € 2
(A) 12 (B) 18

(€) 21 (D) 15

£¢ Solution: (A)
P+Q=12~3
© >36
P =361

EfflQ) =

36 2 24
. x 2=
- 3

24
Time of B = 2

23. A can complete a certain work in 35 days and
B complete the same work in 15 days. They
worked together for days, then B left the work.
In how many days will A alone complete 60%
of the remaining work ? (CPO 25-10-2020 8-II)
A forett = 1 35 Tl & e wwar € i B SHt &
1 15 ft # 70 = gwa € | 52 7 B 7 T oy
@ fom, AR B 3 %1 e o | A srEdl I B &

= 12 days

60% T =l fofe Tl # g =i ?
(A) 7 (B) 15
(C) 10 (D) 8

£¢ Solution: (A)
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A =363
>105
B=15-%

(7 +3)7 =70
Left work = 105-70=35
60% of 35 =35 = 60—21
°0 1007
E—Td
= 3 " ays

24. Two pipes A and B can fill a cistern in

12§hours and 25 hours respectively. The

pipes are opened simultaneously and it is
found that due to a leakage in the bottom, it
took 1 hour 40 minutes more to fill the cis-
tern. When the cistern is full in how much
time will the leak empty the cistern?

T TET A iR B R T F mE 12%@3&{253%
H R wwd € 1 S WY U W el TSI A qrEn
far 9t o o & @ 3t wA § 1 @ 40 faee st
T | S 2Rt o1 L O T g/ I et ae A
T T ? (CPO 25-10-2020 S-II)
(A) 48 hours/¥2 (B) 45 hours /¥

(C) 42 hours/™ (D) 50 hours/=<

£ Solution: (D)

25.

25
A-Z 2

: >25
B-2571

§+§—10
3 3
A+B-C=10
Now
25
A — 5 N\Q0
B — 25 10 — 230
A+B-25 \
A+B+C=10
i 250
Time (C) = ?=50 Hours

A pump can fill a tank with water in 1 hour.

1
Because of a leak, it took 1 3 hours to fill the

tank. In how many hours can the lealt alone
drain all the water of the tank when it is full ?

g 71, R gt w T ER 1 1 Se H wnea ¥ 1A &

.. N . .
HR wzﬁﬁﬂﬁﬁlgmmmmﬁlmaﬁ
o ol 2, A e e 4@ fwe w2 | 3 S O a9

ST ? (CPO 25-10-2020 S-1I)
(A) 2 (B) 1
(C) 4 (D)5

£ Solution: (C)

Aol ~4

A-B 4>4

B3
EffofB=1

4
So leak fill empty tank = 1 4 hours

SS8SC CPO | 9 December, 2019 - Shift : I
26. Pipes A and B can fill an empty tank in 6 and 8

hours respectively, while pipe C can empty the
full tank in 10 hours. If all three pipes are
opened together, then the tank will get filled in:
TET A 3R B UF @l 2% F AN 6 IR 8 W H o
Hed &, TaIloh 9T C W TR 10 52 H Eell o el
F | afe 91 Tl U W W o S S, @ e e
O o S ?

1 1
l 72
(A) 6 5 hrs (B) 75 hrs
4 5
4 5>
(C) o3 (D) 23 hrs

£¢ Solution: (D)

C—1
A+B+C' =20+15-12=35-12=23
Time talten by all pipes to fill the tank

_10_ .5
D R W

27. 4 boys from school A and 6 boys from school B

together can set up an exhihition in 5 days.
while 5 boys from school A and 10 boys from
school C together can do in 4 days or 3 boys
from school B and 4 boys from school C together
can do in 10 days. Then how many boys from
school A can set up the exhibition in one day?
Tt A % 4 715 7R foeera B % 6 wie Ao 1%
WYt 5 T H o ek #, 9t e e A 5 TeE
& faamem C % 10 o Mo 4 fedl § st mhd € =1
oo™ B % 3 @ik iR fammer™ C % 4 @iesh oo 10
et & € 1 99t wewi feer A % R ot T
fead e e €7

(A) 80 (B) 40

(C) 60 (Dy 20

£ Solution: (B)
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ATQ,

4A + 6B —> Sdays
5A +10C——> 4 days

3B +4C —— 10 days

= One day work of

5A+ 10C = 5

Multiplying it by 2

10A + 20C — 10 e (1)
As3B+4C — 2

Multiplying it by 5

15B + 20C — 10 e (2)
Subtracting equation (2) from equation (1)
(10A+20C) —(15B +20C) =0

— 10A= 15B
A 3 2
_ = =—A
B 2 =B=7

28.

As, JA+6B - 4

Putting value of B
2

484 +6 x €A= 41=8A=4
“ 1

= A = )

1

20
= Time taken by A = (— = 40 days
)

or Number of hoys from school A to do the
work in on day = 40 boys.
If 10 men can complete a piece of work in 12
days by working 7 hours a day. then in how
many days can 14 men do the same work by
working 6 hours a day?

7t 10 =afe nfafea 7 92 W w T ®m &0 12 Tl
o O F A €, T 7 w14 S afafeT 6 v

HTH Stk fra foai § e o Wk © 7
(A) 16 (B) 15
(C) 10 (D) 12

& Solution: (C)

29.

Let no. of days=n

ATQ,10x12x7=nx 14 %6
10%x12%7

=0T T

= 10 days

Three pipes A, B, C can fill an empty cistern
in 2, 3 and & hours respectively. They are
opened together. After what time should B be
closed, so that the cistern gets filled in exactly
1 hr 15 min ?

T Y A, B 37 C T Bt wemed F1 799 2, 3 31
6 ¥ H TR € | 91 Wg i Rl s W e A S |
foFa THE % =15 9B B &I | 5@ 9 AiSy, i
T S 1 He 15 e | RS 7
(A) 30 min (B) 20 min
(C) 45 min (D) 15 min

£ Solution: (A)

30.

A—>22N
2

B——>3

C—6

15
l1hr 15 min=1—=1

6()
. A+B+C
) L Lim

He | =

| l) Lime

—
Oy AT

5
ATQ,(3+2+1]t+(I—|-] 3+1)=6
6t+5-4t=6=2t=1

]
t =E hr or 30 min.

9 December, 2019 — Shift : I1

A can do 2/5 of a work in 6 days and B can do
2/3 of the same work in 12 days. A and B
worked together for 6 days. C alone completed
the remaining work in 8 days. A and C, work-
ing together, will complete the same work in?

ATHFEH 2/5 T H 6 G § WA Ha g ¢ B
SHtEmEF 2/3 ym w12 T ¥ e TEa g 1A ol
B T T fhemt 6 il aF %™ % € 1 9 %™ w1 C
aTReT 8 Tl # qU R B | A $R C o Ty Tt e
Tk, SHT FH F fmad oA # o e ?
(A) 12 days/ et (B) 9 days/ feai
(C) 10 days/ fg9i (D) 8 days/ Al

£¢ Solution: (C)

2
A 5 - s 6days

5
5 Aslosex 5—)15days

2
B - 3 12 days

3
Bs1-s 12X5—> 18 days

_15x18 270 90

“15+18 33 11 verkdoneby

11 11

90 %~ 15

i 4
15 15

A+

A+B in 6 days —

Reamaining work — 1 -

Study Center : Jaipur « Gopalpura: « Lalkothi » Jhotwwara + Ambabari » Atwar « Udaipur



Mother's Previous Years Question Booklet = Time & Work

4
=05 — 8 C—>1—>8X%

= 30 days
15x30  15x30D
15+30 45

= A+C> = 10 days

31. A, B and C can do a piece of work in 30 days,
45 days and 90 days, respectively. A starts the
work and he is assisted by B and C together
on every third day. In how many days will the
work be completed ?

A, B ¥ C T% %W & %9 30 &, 45 T qen 90

A A A aFd E 1AM IE T E TN B 3R C

AT TR 391 T O e meraar & ¥ 1w feae

Tt 5 9 21 = ?

(A) 23 (B) 24
£ Solution: (A)

30 — AK

45 BQ/ 90
1

90 —— C

(C) 22% (D) 30

3+3+6 3+3+6 | ———--=
AA(ABHIC) | A A(ABHC) | 12----
12 12

= in every 3 days work done = 12
= 21 days — 84 work
Jl + 2 days
23 - 84+6
23 days — 90 work
32. Pipes A, B and C together can fill a cistern in
12 hours. All the three pipes are opened to-
gether for 4 hours and then C is closed. A and
B together take 10 hours to fill the remaining
part of the cistern. C alone will fill two-thirds
of the cistern.

TET A, B 3R C U & #1 Ao 12 72 H s O £ |
T IR R T T 4 7 7 A Eien S eiR ' e
1 dg Y G 96 & | A SR B i foias 3 S 99 9
I W H 10 W T € | C 3The! S & -Ta8E W @
e T H wemy
(A) 40 hours/ <
(C) 60 hours/ =
£ Solution: (A)

A+B+C - 12

4

work in four hours — 1o =

(B) 48 hours/ =<
(D) 50 hours/ 94

Remaining work — 1 - 3

Wb W]~

2
:>A+B—>§ —10x3 — 15

2
12x15 12%15
= C=l15-12) = "3

o)
= Time taken by C to fill 3 of the cistern

2
=60 x 3" 40 hours
33. PipesA, B and C can fill a tank in 10, 15 and 30
hours, respectively. D is an emptying pipe which
alone can empty the full tank in x hours. A, B
and C are opened together for 3 hours and then

closed. Now D is opened which alone empties
the tank in 30 hours. What is the value of x ?

TET A, B 31 C TF FE ® FAT: 10, 15 iR 30 Fe H
WHFS T | D 5 H TIE e a8 ¥, S SR x
=l # g o Al Wl F ekl € | MR A, B #fR C
Ueh ©19 3 53] o ToTd Giet =i & ST T aig = fomn s
%1 379 WY D el W #, S e I A 30 He H
Tt T 2 € | X T HE FaET |

{A) 40 (B) 50
(C) 60 (Dy 45
£ Solution: (B)
A 10-3 B+ 15-2 30

C -530-1
Tank filled by A, B, C in 3 hours
=3)(3+2+1)=18

= D emtier 18 of tank in 30 hours

30
= D full tank in 1z x 30 hours = 50 hours

11 December, 2019 — Shift : I1
34. Acando 2/5of awork in 12 days while B can

do 66%% of the same work in 16 days. They
work together for 10 days. B alone will com-
plete the remaining work in :

A Um @R % 2/5 v i 12 A |, Fafw B 3H @ 5
66%% Tl 16 foii § e werar €19 10 Tt a
T T T e R € |9 W B st PRa fat

H qU L IM 7
(A) & days (B) 4 days
(C) 8 days (D) 9 days

£ Solution: (A)
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35.

2
A can do 5 of awork in = 12 days

5
A can do the complete work in = 12x 5= 30
days
2 2 .
B can do 3 (66 3 %) of awork in = 16 days

B can do the complete work in = 16 x 2
= 24 days

= A—30~4
>120
B——24-5
= 10 days of work (A + B) = 9x10=90 unit

Remaining work = 120 — 90 = 30 unit
B alone can finish the remaining work in

RIS
= 5 ~6days

Pipes A and B together can fill an empty tank
in 65 minutes. If A takes 3 minutes more

than B to fill the tank, then the time (in min-
utes) in which A alone would fill one-third part
of the tank is:

WAafTTBﬁWW@?ﬁﬁ‘OFEﬁ6§ e d W
T ¥ 1afs A¥E T 9= H B 3 fae w sifaes w9
oA E, A A e T T 1 T AR 9 R gea

(fret #) wam?
(A) 6 (B) 5
(C) 5.5 (D) 4.5

& Solution: (B)

36.

2
A+B > 65m1nute

A — (x + 3) minute
B — x minute

AT l+ LI
Q’X x+3 20

X = 12 minute
A — 15 minute
1/3rd part of tank will be filled by A in
15

= == =5 minut
3 nmuanute

Working 7 hours a day. 18 persons can com-
plete a certain work in 32 days. In how many
days would 14 persons complete the same

work, working 8 hour a day?

= A e w7 18 S aiaEs 7 5 wM AR 32 Tl H
T FLTFRT & | TH 14 FR WA 8 ¥ FE TR

Toma ot & = TR € 2
(A) 42 (B) 30
(C) 35 (D) 36
£ Solution: (D)

M =18, M,=14

D =32, D,=?

Let, D, =x

H =7, H,=8

37.

MIDIHI= MQDQHQ

18x32x7=14xxx%x8§

x =36 days
Pipes A and B can fill a tank in 36 hours and
48 hours, respectively. Both pipes are opened
together for © hours and then A is closed. Pipe

B alone will fill the remaining part of the tanlk
Nnow in:

5l URY A 31 B T <& Sl FH: 36 Se am 48 HaH W
Hed © | S T80 9 H g U WY el 91§ AR [
TEY A %I 95 Y @A W © | T5Y B d & 3 9 i
3Re TR Aea o W S ?

(B) 25 hours

(D) 24 hours

1
(A) 20 5 hours
(C) 27 hours

£ Solution: (C)

38.

A— 36~4
>144
B—— 4873
1 hour work together = 7
for 9 hours=7 x9 =63
Remaining = 144 - 63 = 81
B can fill the remaining part in
81

?=27h

11 December, 2019 - Shift : I

Three pipes, A, B and C, can fill a cistern in
12, 18 and 24 minutes, respectively. If all the
pipes are opened together for 7 minutes, what
will be the volume of the water that overflows
as the percentage of the total volume of the
cistern?

T 9T A, B 3R C TF e & F9® 12, 18 o7
24 Tz ¥ o g ¥ | i el wew 7 e % fom ww
e Ea fed 9 €, 9 Sy & FA Ead & A

Ay S SAfaveTg & &9 9 @8 S 2
7 1 2 5
(A) 26@ (B) 23E (C) 23g (D) 26E

£ Solution: (A)
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Mother's Previous Years Question Booklet = Time & Work

A— 10
B— 18 2 70

C—>04 3
Vol. of water in 7 minutes

={6+4+3)7
=(13)7=91

Vol. of water that will overflow
=91-72=19

= Required Percentage

19 100 = 26 U %
= — X = e
72 18 "°

4
39, Acando 3 of a worlt in 20 days and B can do

% of the same work in 15 days. They work

together for 10 days. C alone completes the
remaining work in 1 day. B and C together

ln]

W2
can complete 4 of the same work in;

A@ssﬁrﬁr%% oW % 20 f&Af |, T9fF B 35 F9 %

% 9P 15 A H 0w €19 10 T TR wm

T § 1979 &0 R C 31en 1 T d Qe Ea ® 1B #in
cwwxﬁwm"rw%% o i P o7 & gw

TIEFAE ?
(A) 8 days / feA (B) 5 days / &9
(C) 4 days / &7 (D) 6 days / T&7

£ Solution: (B)
4
A— 5 — 20 days

20x5

A—l— — 25 days

B—)%—}lSdays

% — 20 days

A—>25~4
>1oo
B— 20-75
A+B = 5+4=9
l10daysworkofAand B=9 x 10=90

Remaining work 10 done by C in 1 days
= C completes the work in 10 days

B—-l—

= One day work of
A=4, B=5 C=10

3
Zth work of B and C will be

) 100x3 75
Completed in = (5+10) =15
= 5 days

40. A and B together can do a certain work in x
days. Woking alone. A and B can do the same
work in (x + 8] and (x + 18) days, respectively.

5
A and B together will complete s of the same
work in:
A 37 B U 19 et wF W w1 x AT H O o ek
T 1 A ot B 7T~ ST6TT 1T % TR TE 1 T HA: (x
+ 8) 3R (x + 18) ferl # e W € 1 A 3R B T Ty

ferm el At 35 2 o e A A #
(A) 9 days / T (B) 8 days / T&7
(C) 10days /&7 (D) 12 days / &7

£ Solution: (C)
ATQ,

_ (x+8)(x+18)
- X+8+x+18

{u sing formula 5 }
a+

%% + 26% + 144

XS T ox 16

= 2x°+ 26x=x*+26x + 144
X2 = 144

= X = 12

= A and B together can do the work in 12 days
5
= They will do Py th of work in

5
= 12><g:>10days

41. PipesPand Q can fill atank in 18 and 27 min-
utes, respectively, whereas pipe R can empty
the full tank in 54 minutes. P and Q were
opened together for & minutes and then closed
and R was opened. The tank was emptied by R
alone in:

TEY P 3R Q TF ¥ = wAw: 18 o= oim 27 fee |
R THA &, 59 foF MW R W IF 54 e F et w
TEATE 1TET PSR Q =l 6 e 3 fA we e g
1R iR =g o o T, R MW R A B fa e
EY R 3Thell 39 4 i fokad foqe d @l s gm ?

(A) 30 minutes / /M2 (B) 40 minutes/ (/=
(C) 35 minutes / 72 (D) 45 minutes/ =

£ Solution: (A)
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0141-2711689 +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions Booklet = Time & Work

P—>18K
Q > 27+ 5108

R—)SM

P and Q will fill in 6 minutes

= 6+4)6=060
Now R will empty 60 in
60 .
E = 30 minutes

12 December, 2019 — Shift : I

42. Pipes A and B are emptying pipes and can
empty a tank in & hours and 16 hours, respec-
tively. C is a filling pipe. All the three pipes
were opened together. They took 80 minutes

to empty % th of the tank. Pipe C alone can
fill the tank in:

2T A 3R B S &1 Wil S 91t 7199 € SiT T I =
I 6 S TAT 16 W H @Al & Tard & | C Tk I A
A WET 2 | A T FT TR T B T ST W R

oo % O I A H 80 e m A T |

=0 C SToRell Sk oh! foha WHA H 9 Tkl & 7

(A) 48 hours /=< (B) 42 hours/He

(C) 40 hours/7= (D) 36 hours /7=
& Solution: (A)

A—>56

\{
B >16 48
/

3
C——>y X

ATQ, (8+3—x]) @ = 48 x i
’ 60 18
4  8x5
(ll—x)g = 3
44 - 4x = 40
= x =1

= C can fill the tank in 48 hours

43. Pipes A and B together can fill a tank in 16
hours, wheras pipe C alone can empty the full
tank in 24 hours. A and B were opened to-
gether for 10 hours and then closed. Pipe C
was then opened. The tank will now be emp-
tied by C in:

TRY A 81R B fieiet T 9o &l 16 W H W waEd
FERE MR C SR YL 2% R 24 T el A gk
1T A &R B #1 10 52 ¥ fou 1w e gen s E
3f fore <1 =t s = faan sman 2 | R T ¢ = g
T E | C B 5 1 BT A H TR THg o ?
(A) 18 hours/%2 (B) 10 hours /=<

(C) 15 hours/™ (D) 12 hours/=<

£ Solution: (C)
A+B-—=16

10 5
Tank fill by A+ B in 10 hours = 6 = 3

C can empty full tank in — 24 hours
= C will empty 5/8 part in

24 % 2=
"8

44, A can finish one-third of a work in & days, B

15 hours

2
can finish gth of the same work in 10 days

and C can finish 75% of the same work in 15
days. They work together for 6 days. The re-
maining work will be finished by B alone in:

A TF oM & T - el 9 &1 5 ool F qu e w2,
B 95 W\ % %msﬁ“‘r 10 feAi H g wspa & iR C

THLF 75% TR 15 A A Wwm gEa e 19 6 &
T T T THeToR 19 30 ¥ | 919 W i B o6 fpae

fedi & g e g 2
(A) 5 days/ {5 (B) 3 days/fa
(C) 2 days/f&T (D) 1 %days sl

£¢ Solution: (D)

1
A—>§—>5 =A—1— 15days
2
B—>g—>10 =B —->1->25days
C—>%—>15 —C = 1 — 20 days

B —>25>300
C ——>020-15

Work done by A+ B + C in 6 days
20+ 12+ 15)6

(47)6 =282
Remaining work = 300 - 282 =18
Ti ak bB—E—E—lld
ime taken by =12 "2~ '3 ays
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15.

A works twice as fast as B and B works twice
as fast as C. All three working together can
finish a task in 4 days with the help of D. If D
alone can finish the same task in 16 days,
then in how many days will A alone finish 75%
of the same task?

ABHR TETHITRH S FEF@MEIB, CH
TP ST T I R © | T Uk Wi et e o g
D=t Aeg ¥ 4 faq { o s v § 1418 D o7 39 ®M
=1 16 fedl # QU v ¥, @ A 279 S8 M & 75%

AT kI fefeq T H qu R Tm?
(A) 6 days /T (B) 9 days/f
(C) 8 days /&7 (D) 7 days/f&T

£¢ Solution: (D)

16,

Ratio of efficiencies

A : B B C
2 : 1 2 1
= A : B C
4 2 1
Let D works x in one days
ATQ, 4+2+1+x)4=16x
T+x = dx
w - roxel
= X = = X= 3
16 x7
=  Total work = .
W2
Req. Time =
16 x7 y 3 y 1 _4
3 4 g %

12 December, 2019 — Shift : II

Vivek can complete a definite work in 14 days.
Vishal is 75% more efficient than Vivek. [n how
many days, can Vishal complete thiswork alone?
T o e v &l 14 AT 6 W = g | fagw
I e H Tt 75% Arr Fyer d | et wet e

F1 forae fadl H [ w8 2
(A) 8 days /T (B) 6 days/f
(C) 9 days/Tea (D) 10 days/f=

£ Solution: (A)

Vivek — 14 days
Vishal Vivek

4 4

7 unit 4 unit

Vivek = 14 x 4 = 56 unit
) 56

Vishal = = 8 days

47.

Two pipes A and B can fill a tank in 18 and 24
minutes respectively. If both the pipes are
opened together, then at what time should pipe
B be closed so that the tank is completely filled
in 12 minutes,

T T A 3 B TF ¥ mA: 18 3R 24 R H o
et & |91 1 WIS o Wek W Wi & W €, a1 O
=l 12 el 7 gl &g 9 w3 & fan, 989 B =1 foae
THA 9T ST T E 2

(A) 6 minutes/ e (B) 9 minutes; e

(C) 5 minutes/ T2 (D) 8 minutes; fAe

£¢ Solution: (D)

48,

A — 18 min — 41

B — 24 min — 3!

Let total capacity of tank = 721
To fill the tank in 12 minute

A = 48 1
Remaining = T2-48 =241
It will be filled by B
24 )
B = 3 = 8 minutes

Three pipes A, B and C fills a tank in 4 hours.
Pipe C can fill the tank at twice the speed of
pipe B, and pipe B can fill the tank at thrice
the speed of pipe A. Find out the time taken
by pipe A to fill the tank.

fTUETA, B 3R C Th Hi Al 4 52 H i € 1 <t 1
Y B ®1 e 8, 729 C U a9 9 W ¥ S gy
AT H, TET B T T aSi F WRaT E | 37 MET A
Tkl I e T | My

(A) 25 hour /% (B) 40 hour /%2

(C) 32 hour /=< (D) 30 hour/%2

£ Solution: (B)

A+B+C—4h
If Ball = 21
ThenC = 41

2
[fA— Tl C=2I

2
A—)g = 2
B-2>6
C—4=12

Total = 20
In 4 hours = 20x4=801

80
Pipe Acan fill itin = 5 40 hours
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49,

Vaibhav can complete a work in 60 days. He
works for 15 days, after that the remaining
work is completed by Sandeep in 30 days. In
how many days, Vaibhav and Sandeep can com-
plete the total work working together?

F9 Tk M F1 60 T H WA wwar € aw 15
TF HTH FAA §, S AT T U A I HaT 7k 30
fert /U e 3@ § 1 9va ST wE 3 %W w U

freTeRt foram fatl o qu o R ¥ 2
(A) 22 day/fea (B) 18 day/f=
(C) 20 day/f& (D) 24 day /T
& Solution: (D)
V - 60
Total work = 60

50.

He worls for 15 days
S0, Remains work = 60 - 15 =45

Effici f Sand _ 40 S
ciency of Sandeep = —— = 5 D
Vaibhav and Sandeep together can finish

the work in

_ 60 _60 . _
1+3 S
2

24 days

13 December, 2019 - Shift: I

3 men and 5 women together can complete a
work in 6 days, whereas 4 men and 9 women
together can do it in 4 days. How many women
are required to do the same work in 7 days?

3 TE9 &1 5 Al el U %W ®i 6 o ° U
Tt €, FETF 4 789 SR 9 Afectd Mool 36 %W =1 4
ot H AT T TR ¥ I 3H W Rl 7 T e e
& ot feremt afecstl 1 stagaa 2 7

(A) 15 (B)12  (C) 14 (D) 14
& Solution: (B)

Given that
3m + 5w - 6
4m + 9w — 4
&(3m + 5w) = 4 (4m + 9w)
18m + 30w = 16m + 36w
m = 3w

(9w + 5w) can do the work in 6 days

4w — & days
lw — 84 days
xx7 = 84
X = 12 women

Sl.

Taps A and B can fill a tank in 15 minutes
and 10 minutes, respectively while tap C can
empty the full tank in x minutes. If all the
three taps are opened together, the tank is
filled completely in 8 minutes. Tap C alone
will empty 3/8 th part of the tank in:
71 A iR B e % i wmea: 15 fame o 10 fame H w
THa &, A% T C IR 1 x {2 | et m s g |
Iz Tt A7 =1 OF e Ee e o g, 9 E 8t A
T TE W T E 1T C Sk dF ok 3/8 W I fpa
TET H e R ?

(A) 10 minutes/f72(B) 10% minutes/ &2

(C) 9 minutes/fAe (D) 8% minutes/ 7=

£¢ Solution: (C)

52,

e 1
A - 15minute — ™ =
B — 10minute | Tritiute 1
10
C - xminute 1 winute L
X
L + _4R - 1
15 10 x 3

1 1 1 1 1

6 x 8 x 24
X = 24 minute

C alone will empty %th part of the tank in

= 3 x 24 = 9 minute

Pipes A and B can empty a full tank in 18 hours
and 24 hours, respectively. Pipe C alone can
fill the tank in 36 hours. If the tank is 5/6 full
and all the three pipes are opened together,
then in how many hours will the tank be emp-
tied?

2 ET A #iR B TF R T0 B HE: 18 5 947 24
= H el o W © | T3 C ST 39 O I 36 Ha H
R TR & 1 3G R 1 5/6 W 9 g & TR A aE
T B e = €, O S e wie | wret g s 2

1
(B) 125
(D) 12

1
(4) 105
(C) 10

£ Solution: (D)
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5 5
5 part is full so =72 x s =60
Tank will empty all the three pipes are

60
opened = 5 =12h

53. A can complete one-third of a worl in 10 days
and B can do 3/5th of the same work in 24
days. They worked together for 10 days. The
remaining work was completed by C alone in
15 days. In how many days can C alone do 2/
3rd of the same work?

A TF M F UFH-Taes am 10 fa 5 W awa e
wafeE B gl % 3/5 Wi T 24 A A e g £
T+ 10 el 7o ueh wr ot &M fe |9t g o &
C ¥ oThe 15 femi 6 @ a1l @m & 2/3 w1 C
skt fara el # g s 7
(A) 27 (B) 24

£ Solution: (B)

(C) 30 (D) 32

1
A— 3 of work in 10 days

B can do the complete work = 24 « 5/
= 40 days
10 days work of A+ B=(3+4) 10="70
Remainng work = 120 -
70 =150
C does remaining work in 15 days
50

So, effici fC=—
o, efficiency o 15

A can do the complete work = 30 days —a4
3:|L 20

2
C alone do + rd of the same work in
I

120 % g
= ~ 50 =24 days

15

13 December, 2019 - Shift : II
54. Pipes A and B can fill a tank in 18 minutes

and 225 minutes, respectively while pipe C
can empty the full tank in 12 minutes. A and
B are opened together for 6 minutes and then

closed. Now C is opened. C alone will empty
the tank in ..........

e A 3R B UF ¥ F1 %A 18 e | @i 22%
fomel H W wed ¥, sEfe weY ¢ qu w12 el |
At T Tk § | TR A 2R B ®1 6 f59e ¥ fow
e e W # i R 2 R v e T e ® ) o
URY C = Wi S E | C 3Tkl 59 3F Fi fha wa |
AT FL G2

2
By 8 5 minutes

(D) 6 minutes

{A) 5 minutes

c 7 g minutes

& Solution:

LCM
B= 45/2 060

ATQ, [A+ B] work first 6 min =36 x 6= 216
And then they closed and C open
. 36 1
Time taken by C = 5 Tgmm
55. A is twice as efficient as B and C is thrice as
efficient as B. Working together, they can fin-
ish a certain work in 5 days. A and C worked
together for 5 days. B alone would complete
the remaining work in __
A, B ¥ g sifys wegwe § iR €, B 9 |1 1
ATk FEFTA €1 3 Tw WY e wH w4 g TF
M 5 & H 70w T 1A SR C T TE we

Toere 5 T T M 4 £ | 99 %0 %1 B 376

foti H g e ?
(A) 8 days (B) > days
(C) 6 days (D) 4 days
£ Solution: (B)
ATQ, A : B C : B
2 1 3 1
I

A:B:C=2:1:3 — capacity
Total work =6 x 5= 30

L A+C =5 . B
" 5 day " Remain work
5x5=25 =5/1 =5 days

56. If 45 person can complete a work in 18 days,

working 8 hours a day, then how many per-
sons are required to complete two-thirds of the
same work in 20 days, working 9 hours a day?
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7fe 45 =1fam nfafea 8 sz M *3F U ®=m #1 18 Al
T TR R TR €, 1 S % TR o wfafia o
He oM Fh 20 &3 A U % & o fad safaast =t

STATIH B 2
(A) 36 (B) 40
(C) 30 (D) 24
& Solution: (D)

M =45,H, =8,D, =18 W =3

M,=?, H,=9,D, =20, W,=2
45x8x18 M, x9x20

3 - 2
M, =24

§7. Pipe A can fill a tank of capacity 350 litres in

3 5 minutes. Pipe B can fill a tank of capacity

2
780 litres in 85 minutes. How long (in min)

will it take to fill a tank of capacity 1615 litres,
if both pipes are opened together ?

T A, 350 T i G o1l U O 3% el o
W Thal © | 73T B, 780 et &1 efid a1l U d A
8% forel o o) TR & 1 7fE S WEd O e Ee
feon S 2, 91 1615 wiiet &t anfiar sl S 1w o
fepen T (Timel o) & 2

1 1
(A)9 B 7, ©8; (D8
& Solution: (C)

. . 350 .
Capacity of pipe A = X 2 =100 {/min

. ) 780
Capacity of pipe B =

26 x 3 =90]/min
) 1615 |
time taken by (A + B) = Too - Samm

58, Pis 20% more efficient than Q. If Q alone can
finish a work in 10 days, then in how many
days P alone will finish the worlc?

P, Q T 20% A4k FEFIE € 1 315 Q 2TokeT et % =i
10 f&A # 9 X WA 2, T P 37T 39w Y b Al

o U wEm?
(A) 8% (B) 8.5
)9 (D) 12

& Solution: (A)

P Q
Efficiency 120 100

6 3
time 3 6
6 unil 10 days

it 19
unit 6 ays

5 uni 5XE—@
unil 6= 6

5=

SSC MAINS | 12 March 2019 - Shift: I

59. The efficiencies of A, B and C are in the ratio
4:5: 6. Working together, they can complete
a work in 12 days. In how many days will A
alone be able to complete that work?
A, B 3R C #I FH-H@ I &4 : 5: 6 ¥ ITH TS
A A GU A TR wE A 12 el A e asd 1A

=T = 27 fare fet g o 7
{(A) 45 (B) 36
(C) 30 (Dy 40
£ Solution: (A)
A B C
4 5 6
T, = 12x(6+4+5)
= 15x12=180
) 180
Time, = e = 45 days

60. Two pipes A and B can {ill a tank in 6 hours
and 9 hours respectively. They are opened al-
ternately for 1 hour each, starting with pipe A
first. [In how many hours will the tank be filled?
T TET A 2 B FET: 6 %2 3R 0 72 ¥ U I W Aw
T Tew UIET A W I R 8 a-a/ | 1 52 % e @
T ¥ | FF R S H o ST 2
(A) 5 (B) 4
(C) 6 (D)7

£ Solution: (D)
A — 6~3
>18
B — 9
5 S 5
2 hours
= S5 —=2hours|x3

15 — 6 hours
= Remaining 3 will be filled by Ain 1 hour

Study Center : Jaipur « Gopalpura: « Lalkothi » Jhotwwara + Ambabari » Atwar « Udaipur
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61. 24 persons working 8 hours a day can com-

plete 2 units of a work in 10 days. How many
persons are required to complete 4 units of
that worlk, if they work 6 hours a day for 16
days?
Hidfed 8 =< TM & g, 24 =Afh, U 1 &l 2 SHEA
=l 10 f& 9 qu R wewd €1 16 TeAl oo wfafea 6 =i
I FIT G IH FR HT 4 TS A T HLA o Tord foma
=Tl i STaTaRdl BT 7

(A) 48 (B) 36
(C) 40 (D) 32
£¢ Solution: (C)
24 x8x10 _ox6x16
2 T4
24 x8x10x 4
= &= T oxex16
= 40

62. Pipes A and B can fill a tank in 6 hours and 9
hours respectively and pipe C can empty the
full tank in 12 hours. If all three pipes are
opened together when a tank is empty, in how
many hours will 35% of the tank he filled?
=Y A SR B ®H: 6 5 ST 9 5 F U Ik W Wk ©
SRwET ¢, 12 ¥ ¥ g0 % Tl w dwa § | 9fe IE
Tt 2 WA e T W e € a4 W 35%

FT g =i T 9 S ?
(A) 1.9 (B) 1.5
(C) 1.6 (D) 1.8
£¢ Solution: (D)
A—> 6
6
B > QR%
C —> 12;’/
A+B+C =6+4-3=7
36 <35

Required time = = 1.8 hours

100 =7

63. Pipes A and B can fill a tank in & hours and 8
hours respectively and pipe C can empty the
full tank in 12 hours. All three pipes are
opened together, but pipe A is closed after 3
hours. In how many hours will the remaining
part of the tank be filled?

=Y A9 B fordl S w1 6 He 9 8 He H WU wehd € aen
RN C W I T 12 ¥ H @iell L HEkd | A dml
R R Uk {12 Gied 581 50 92 729 A 1 3 He 7% 9%
Y feon S A foe S o o R S Wi ) ST 2
(A) 9 (B) 12
(€) 11 (D) 10

£¢ Solution: (A)

6 — A

8 B/24
12—— C
(A+B+C)—>4+3-2-55
= A+B+(),>5x3—=15
Remaining = 24 -15=9
B+C—-3-2=1
Time = 9 hours

SSC MAINS | 12 March 2019 - Shift : II

64. 36 persons working 8 hours a day can do 3
units of working in 12 days. How many per-
sons are required to do 5 units of that work in
16 days, if they work for 6 hours a day?

36 =R U B H 8 W2 i %, 3 92 % #1125
H e ek € o foRe =afad 5 gfae w6 w1 16 a7 i =
T § | A9 T T H 6w el i 2

{A) 50 (B) 55
(C) 60 (D) 45
£ Solution: (C)
36x8 =12 xXX16x6
3 B 5
_ < = 36x8x12><5=60
3x16x6

65. The efficiency of A, B and C are in the ratio 5
1 61 9. Working together, they can complete a
work in 18 day. In how many days can B alone
complete 25% of that work?

A, B9 C & FREGHA S SHIET 5 : 6 : 9 § | Uk WA FH
F0F 9 FE w18 6T ° aurvn a1 TR fe A
B i &l 25% TAME 4 7

(A) 18 (B) 10
(C) 15 (D) 16
£¢ Solution: (C)
A B C
Eff 5 6 9
Tw = 18x(53+6+9)

= 20x 18 =360

360

B,. = 16 15
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S$SC MAINS | 13 March 2019 - Shift: I

66.

18 persons working 8 hours a day can com-
plete 3 units of works in 10 days. How many
persons are required to complete 5 units of
that work in 16 days working 6 hours a day?
18 =1t fafen & e wm & e e 1 3 gHEal
& 10 fod o 7 = wed €| 3H w0 & 5 Rl .
afafed #1 9idfcT 6 50 ®=M = 16 g4 ¥ 90 w1
fopae =afmal 1 STevasRal B 2

(A) 25 (B) 15

(C) 20 (D)9

& Solution: (A)

18x8x10 ecx16x6
3 - 5
18x8x10x5

=TT 3x16x6
=25

67. The efficiencies of A, B and C are in the ratio

2:5: 7 working together, they can complete a
work in 10 days. In how 29 many days will, A
alone be able to complete 30% of that work?
A BIERCH BE-amq 2:5: 7 F R H ¥\
T T G §U S R wE A 10 R H e v € |
A STRAT 3Y 1 W 30% %M foradl 631 § g0 s o 7
(A) 20 (B) 28

(C) 30 (D) 21

& Solution: (D)

Ef. A B C
2 5 7
(10) (2+5+7)
140
140 %30

100x2

T

Time, = 21

68. Two pipes A and B can fill an empty tank in 10

hours and 16 hours respectively. They are
opened alternately for 1 hour each, starting
with pipe A first. In how many hours, the empty
tank will be filled?

T A R B TRt et Fo 1 wE: 10 702 87 16 70
T o TR ¥ | TS TET A H YE F0 F aI-ai 7 1
U & TefT Wit W9 & | Wl S feha s H 9 S 2

1 1
(a) 12 (B) 12

1 1
(©) 12 (D) 12—

£ Solution: (C)

69.

A—=10 8
>80
B—16 5
8 +5

A B|A B|A B

2 hour
13 - 2hours | =<6
78 — 12hours
2 1

= Remaining 2 work = g hours = Z hours

an
= Total time = mzhours

Pipes A and B can fill a tank in 12 hours and
16 hours respectively and pipe C can empty
the full tank in 24 hours. All 3 three pipes are
opened together, but after 4 hours pipe A is
closed. In how many hours from the beginning
the tank be filled?

T A 3R B Rl E I 12 8iR 16 W H
THT & 3R WeW C T 24 ¥ H BT R THA L
[t AT a3t SR T W Eie fo o g, S 4 s
o5 W29 A Tl =55 o fear I € | @t d & W |

[EnERCERGHE
(A) 24 (B) 28
(C) 30 (D) 32

£¢ Solution: (D)

70.

A=124

3416%48

C—24
A+B+C=7-2=5
A+B+C),=5x4=20
Remaining Work = 28
o= [ T 28 hours

Total time taken = 28 + 4 = 32 hours

16 persons working & hours a day can com-
plete a work in 10 days. In how many days 24

persons working 8 hours a day will complete
80% of that work?

yfafeT 6 U< M Fd gY, 16 =90 U %A %1 10 fea it
T FLTHA E | 24 SR TG 8 e W 0 g 9w

Time

7 80% IR 71 fopat ool & g i ?
(A) 3 (B) &
(C) 4 (D)8

£¢ Solution: (C)
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Total work = 16 x6 x 10

80% ofwork = 16 x 6 x 10 %

100
Time taken by 24 person working 8 hours
a day
[16><6><10>< 80]
100

- 24 x8 =4 days

SSC MAINS | 13 March 2019 - Shift : II

71.

The efficiencies of A, B and C are in the ratio
5 1 6: 8. Working together, they can complete
a piece of work in 120 hours. In how many
hours will, B alone be able to complete 40% of
that work?

A BIRC H FE- A A TS : 6 : 8T ITH T
T AT g A Tak M Sl 120 592 H W TFA § | B
TR 39 HH 1 40% foFeA T H 90 F w1 & 7

(A) 114 (B) 152
(C)182.4 (D) 167.2
£ Solution: (B)
A B C

Eff. 5 6 8
= Total work = (120) (5 + 6 + 8)
=19 x 120
= 2280

72,

40% of total work = 2280 x =912

100
. 912
Time taken by B = 6 152 hours

Pipes A and B can fill a tank in 16 hours and
24 hours respectively whereas pipe C can
empty the full tank in 40 hours. All three pipes
are opened together, but pipe A is closed after
8 hours. After how many hours, the remain-
ing part of tank will be filled?

TET A iR B %A 16 W0 3T 24 50 H UH ok W
TET ¥ 21N TR C, 40 WU F g I Treft T qHh |
i T Tk T Tl 9§ 9ig § WU & 9IS IR A 9%
=T fon ST 2, @ E o ¥ o fope w2 H o Smem 2
(A) 28 (B) 22

(C) 26 (Dy30

£ Solution: (B)

A—>16 15
B—>24 %240
C—>40

A+B+C = 15+10-6=19

In8 hours = 19 x8=152
Remaining = 240-152= 88

Ti B +C' = 88 —ﬁ—QQh
ime “ o6 a ours

73. Two pipes A and B can fill a tank in 16 hours

and 20 hours respectively. They are opened
alternatively for 1 hour each, starting with pipe
A first. In how may hours will the empty tank
be filled?

T UEY A 3 B ®H: 16 U Y 20 90 H U IF W
THT # | T T A ¥ YE F06 A -9 § 1 A0 3
oo @ wma ¥ | @t Sk e v H o s ?

3 1
(A 175 (B) 175

© 17>

3
172
14 )7

£ Solution: (D)

A—>16~5
>80
B —>20

2hrs — ©

Multiply by 8

16 hrs — 72
J+1hrs J+5 Units

17hrs — 77
= Remaining will be filled by B

- 17% hrs — 80

SSC MAINS | 14 March 2019 - Shift : I

74. Acandoaworkin 12 days while B can do same

work in 18 days. How long (in days) will it take
if they do the worlk together?

ATFFE 12 A W oFa € @ BSA FE & 18
f& H =t wera ¥, 9 SAT e 39 w0 & e T |
U FLT 7

5 1
(A) 55 B) 72

1

2
(€) 6 (D) 6~

£¢ Solution: (B)
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75.

A — 12 days
B — 18 days
= A =12 3
B —>18>36
= (A+B) one day work = 3+2 =15
30 |

Time = ?= 7§ days

6 men or 5 women earn ¥ 14820 in two days.

How much will 4 women and 6 men earn in
one day?

6 SARHT A 5 2t 2 feq § T 14820 wAM ©, 41 4 3
¥R 6 3meH 1 f&7 | fe T s 2

(A) T 13338 (B) T 13832

(C) T 26676 (D) T 27664

& Solution: (A)

76.

let man earn x in one day.
let woman earn v in one day.
= O0xxx2=14820 = x=1235
= Sxyx2=14820 = y= 1482
= 4 women and 6 men will ewrn in one day
= 4 x 1482 +6 x 1235
= 5928 + 7410
= 13338 Rs.
One-fourth of a tank can be filled in 3 hours
by pipe A and one-third of the same tank can
be filled in 2 hours by pipe B. How long will it
take for the tank to be filled if both the pipes
are kept open?
T FF 1 - 9T 9RT A BT 3 %2 H ORI T
B 3R oH ¥ o U TR 9 TET B BN 2 W H ar e
T | A S T T T T E A S e
R o o 2

(A)5h (B)2h

& Solution: (C)

1L|‘I
4 oftank by A =3 hours

= Whole tank by A= 3x4 = 12 hours

qrd

T of tank by B in = 2 hours

717.

= Whole tank by B = 6 hours

]
> 12
— (A+B) one day work=1+2=3
12
3
A tank can be filled by pipe A in 5 hours and
emptied by pipe B in 8 hours respectively. How
much time will it take for the tank to be half
full?
U UEY A UF Ok 1 5 5 H W wahar ¢ i udy B =4
T &I 8 He H WIel R Wl §, q S I S A H

Tera T = ?

= A= 12

B =6

= Time = = 4 hours

1
(A) 35 h

1
12—
(€12 h

£¢ Solution: (D)

20 2

Time to be half full = —/ = 65 hrs.
A

SSC MAINS | 14 March 2019 - Shift : II

78.

21 typists complete a project in 8 days. In how
many days 15 typists will complete the project?

21 =it U uiEer = 8 il § R #1115 TRfre

FH @S & fRe & J g ia 7
(A) 5.8 (B) 11.2
(C)9.3 (D)7

£ Solution: (B)

Using time and work concept
21 x8=15xx
here, x is the no. of days in which the work
will be completed
_ 21x8

=X= = = 11.2

Study Center : Jaipur « Gopalpura: « Lalkothi » Jhotwwara + Ambabari » Atwar « Udaipur



Mother's Previous Years Question Booklet = Time & Work

79,

A pipe can fill a tank in 32 minutes, Due to a
leakage, the tank gets filled in 48 minutes.
The time the leakage will take to empty the
full tank is:

U UEY 32 e ¥ uw S e wemar € | R & s e
48 fome o w2 e § | fRmma o Rw v gen S mret e
H Temra1 wHE T 7

(A) 1 hour 20 minutes / 1 == 20 /=

(B) 1 hour 36 minutes / 1 %21 36 iz

(C) 1 hour 42 minutes / 1 5a1 42 fie

(D) 1 hour 56 minutes / 1 5a1 56 fie

£ Solution: (B)

80.

Pipe A can fill in — 32 min.
Pipe B which can empty the tanl, with A
can fill the tank in — 48 min.

5 330

A 3'?96
A+B'—> 48
B'=A+B1-A=2-3=-1
Pipe B is emptying it
B'=1
Time talken by pipe 'B' to empty the tank

06

= T = 96 min.

1 hour 36 min.

Three pipes X, Y and Z discharge three ditffer-
ent chemicals A, B and C in a tank. The pipes
can fill the tank in 20, 25 and 40 minutes re-
spectively. What will be the proportion of
chemical B in the tank, if all the pipes are
open for 10 minutes?

TR IRTX, Y 3R Z % & | 9 fir=-fa= e A, B
27 C Sied & 198 U=y shEe: 20, 25 St 40 fiqe d S
1 ST £ 1 3fE Feit v 1 10 e F fru gen s
fear < €, ar on o TR B 91 S99 21 7

o L]
(a) - B) 55
o8 NEE
©) 23 (D) 15
£ Solution: (C)
A B C
S S TR |
) 25 40
Multiplying the ratio by 200
w20
= 20 25 40
= 10 8 5

Work done by (A + B + C)in 10 minutes
=10+ 8+ 5) 10=230

Work done by B in 10 minutes
=8x10=280

Part of iquid B = —0 = &
art ol aquIid B = 5.0 = 23

81. The efficiency of A is thrice as that of B and
efficiency of B is twice as that of C. [f B alone
can finish a work in 15 days, in how many
days A and C together will complete that work?
A I TR B 6 T & I B i seim C A ST E 1A B

kel T w1 15 e H W wma E, A SR C

forerent 0 & w1 fva fedl § qu &4 2
1 1
60— 4=
(4) 65 (B) 43
2 4
4— =
(©) 47 (D) 7
£¢ Solution: (C)
A B B C
Efficiency 3 1 2 1
Merging both Ratios
A B C
3 1 1
2 2 1
One Day work 6 2 1
Total work =2 x 15 = 30
A and C) = Ti -0 —30—4gd
(A and €) = Time = ° 77 = 7~ = *7 days

15 March 2019 - Shift : I

82, Two pipes A and B can fill a tanl in 45 min-
utes. If pipe A can fill an empty tank in 1 hour,
how long will it take pipe B to fill the empty
tank ?
T META AR B 45 TR H U fF W aw € 19l T A
TS Gl o I 1 5 H T §, A @l o ! a0 H
Y B T R T e ?

{(A) 2 hours (B) 3 hours
(C) 1 hour (D) 4 hours
£¢ Solution: (B)

: 4
A+B——=>45 > 180
A—>80 3

B=(A+B)-A

=4-3=1 180

= Time taken by B = — = 180 min.
1

= 3 hours
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83.

Three painters have to work for 6 hours a day
for 12 days to finish a worlk. If after 3 days one
painter leaves in how many days the remain-
ing work will be completed ?
A TRl =1 U A T e % foe 12 oAl o fom e
e yfa fe7 =t wfq & =0 wow e § 1 e 3 fodl & = w
& FoeR e BigE ol Sl & df SRt fosen
fei # 39 e Tm wm ?

2

(A) 153

(B) 13% ©1 D8

& Solution: (B)

84.

According to question,
Using Time and Work concept
3x6x12=3x3x6+2x6xx
x — No. of days in which remaining work
will be done
=216 =54 + 12x
= 12x=216-54
=X =% = =§ = ’B%days
A pipe can fill a tank in 30 minutes. Due to
two leakages A and B, the filled tank would be

1 1
drained off in 15 hour and 11 hour respec-

tively. How long will it take to fill the tank if
the pipe, A and B are left open ?

T TET 30 {2 & 0 ¥ R A # | A @R B 9 fgm
. 1 s W A
W gu ol R \ ﬂ%ﬁ?liﬂéﬂwmﬁﬁ%l
Afe W, A S B &1 ge 318 fem 91 d % w ae o
FFamaTa T ?

(: ]. II()[Jl D ]- ]:10'-11

& Solution: (A)

Let Pipe 'C' fill the tank

3

A > 2 -10
5

B! > -12 15
| 30

C—> -

A+B' +C=-10-12+30=8
15
= Time taken to fill the tank = ?

= 1§ hour

15 March 2019 - Shift : II

2
85. A and B can finish a work together in 3 — days.

3

1
C and D can finish the same work in 3 = days.

If A, B, C and D do the worl together, how long
will it take for then to finish half of the work?

A St B 4 e i 41 35 fod o a1 £1C
s D T = 3% i E et 19 A, B, C
3 D ok T AT e w E o o e T
H 3= fonaen wH @M 7

(A) 1 f (B) 151%3
8 2
(€) Efﬁ (D) gﬁ?

£ Solution: (A)

A+B—>11/3 O
22
C+D—>22/7 -~
Total one Day work of (A+B) + (C+D) =
6+7=13

11
= Half work done by all = 13 days

Acando 1/5th ofawork in 4 days 1/6th of the
same work in 5 days. In how many days they
can finish the work, if they work together?

A Tt &l 1 17591 9 4 feof o e wean &, B 34
w1 1 1 /691 AR 5 fedl # w weka & 1At 3w |
Tirerr e # 1 55 e o iR fae H w o e

g7
(A) 12 (B) 30
(C) 20 (D) 15

£¢ Solution: (A)

Adoes 1/5 of work in — 4 days
=> A does whole work in — 20 days

1
B does gofwork in — 5days
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= B does whole work in — 30 days

= A—>20 3
60
B—30 2
(A+B) one day work=3+2=5
Total work = 60

o
= Time = 5 =12 days

87. Two pipes A and B can fill a tank in 20 min-
utes and 30 minutes respectively. If only pipe
B was kept open in the beginning for 1/5 th of
the total time and then, both pipe A and B were
kept open for the remaining time. How many
minutes did it take the pipes to fill the tank?

AT A iR B wF ¥ &1 wEw: 20 A i 30 fire
A osd & 1A e A gaama & 1759 a7 % fag
T T B 1 37T 99 57 % 0 WeT A R B g1 %
G W@ T o, 1 S 6 e H g1 aig i =i e e
T ?

5 1

16 — 13—

(A) 1253 (B) 1953
S 7

13 — 13—

© 23 (D) 11

£ Solution: (D)

A—>20 3
60
B—>30 3

Let total time taken = 5x

According to Question

2x+4x{3+2) = 60
= 22x = 60
_ 30
= X 11
So Total Time
5 150 1,_7 ot
— —_— = \)_
X 11 11 minutes

88. Three pipes A, B and C can fill a cistern in 15,
24 and 36 minutes respectively. If pipe D can
drain a full tank in 1 hour, how long will it
talke for the tank to be filled if all the four pipes
are kept open together?

T ET A, B 8% C 7A: 15, 24 317 36 TR § #t
=l T § | 5781, MW D T WS 1 = H @t W
TR & | ATE T SR W T W W GAT Tl g

I S ] W R S i ?
1 12
9_dg 5——Ha
(3) 95+ (B) 555
16 . 2 .
8 —=2 7=
() 857 (D) 75
£¢ Solution: (C)
A —=>15
B —>24
C —»36
D ——=06()
A+B+C+D=24+15+10-6
=49 -6=43
360 16
— Time = ~ =8 —hour
43 43

1 July 2017 - Shift : II

89. Raman is three times as ef?cient as Manan.
Raman can complete a work in 60 days less
than Manan. [n how many days the work would
be complete if both of them work together?
T R} &THAT B W A A S | T TR B Rl R |
TR E 60 A FH o ¥ 1M R & 5 g g smem =g
Tl eI 39 & H H E 2
(A) 15 (B)17.5
(C)22.5 (D) 27.5

£¢ Solution: (C)
Raman Manan
3 : 1
L]

2 =60
1 —30
30 days

Raman-30 3

>90<
Manan-S0 1
a0

Raman + manan = il 22,5 Days.

(efficiency)
(Work)

90 days

90. Two inlet pipes can fill a cistern in 5 and 6
hours respectively and an outlet pipe can
empty 24 gallons of water per hour. All the
three pipes working together can 7?11 the empty
cistern in 10 hours. What is the capacity {in
gallons) of the tank?
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B 7TeT U Soh1 T THHET: S 99 6 T B TR € SR T
AT =t Uk s B 24 o g WIel S Wkl & | U
e AT e At 2 Y 10 Fe W 9% Tk £ | F0 HL

e (o) H € 2
(A) 90 (B) 180
(C) 60 (D) 120
& Solution: (A)
Lelinlel pipes A, B, C

A-5K 6
B _§>30 5 {Efficlency)
A+B+C-1 3

C (efficiency) = (A +B+C) -A-B
=3-6-5=-8§

30

3

time takenby C =

o030
Capacily of lank = 24X 3 =%

91. 3/4 part of a tank is filled with oil. After tak-
ing out 60 litres of 0il the tank is 2/3 part full.
What is the capacity (in litres) of the tank?
T Shi &1 3/4 9T 00 § W g3 ¢ | 60 Tl ot enre

I % IS SohT T 2/3 9T U el & | 4kl hi 471 (T

) B ?
(A) 240 (B) 360
(C) 600 (D) 720

& Solution: (D)

: 1
1 ParlLis [illed so remaining parl is = 1
After taking out 60 litres,

_2 o3 _ 1,
BERE R hh

Se capacity of tank =12 x 60 = 720 litre
1 July 2017 - Shift: I

92. P is four times as efficient as Q. P can com-
plete a work in 45 days less than Q. If both of
them work together, then in how many days
the work will be completed?

P i &mel Q § SR AT E | P Ush S R wE H Q F g0
foru g W | 45 A w0 o # | 3 S e s

T ¥ T e fee A ?
(A) 10 (B) 12
(C) 15 (D) 30

& Solution: (B)

P : Q

4x X

4x -x =45

x=15

P : Q

o0 15

1 1_1+4 N

P+Q—E+E—E—l2days

93. Two inlet pipes can fill a cistern in 10 and 12
hours respectively and an outlet pipe can
empty 80 gallons of water per hour. All the
three pipes working together can fill the empty
cistern in 20 hours. What is the capacity (in
gallons) of the tank?

T T T ZR BT HAE: 10 ST 12 e F ww T € @R
U feRR ATl 7o U He H 80 e T St w5 T
T\ U WY A1 6 WICh <kl El 20 5 H YR Wkl © | ST
i1 gl (Tem ) F e 7
{A) 360
(C) 600
£ Solution: (C)
Omne pipe can empty a cistern in x hour
Three pipes working Logelher can (il the emply
cistern in 20 hours

1 1 1 1 1 8
+

1012 x 20 x 60
Qullel pipe can emply 80 gallons of waler per
hour

(B) 300
(D) 900

60
Capacity of the tank = 3 80 =600

2 July 2017 - Shift : II

94, A is 20% more efficient than B. If B alone can
complete a piece of work in 12 days, then A
alone can complete the same work in how
many days?

A, B ¥ 20% 334k FEFIA T 1S B TR U % HI
12 feT H T T E, A A TReT ST W T R e o

T L THATE 7
(A) 10 (B) 12
(C) 14 (D) 16
£¢ Solution: (A)
Efficiency A B
120 100
6 3
Time 5 )
Time ol A = ox12_ 10 days

6
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95. A and B together can complete a work in 10
days. They started together but A left after 2
days and the remaining work was completed
by Bin 12 days. In how many days can A com-
plete the entire work while worlking alone?
A ¥R B T %E ® e 10 fg H wem w1 A TR
Y S ¥ i 2 5T % 9 A % BE 2 E aen
I e sThet B g 12 fedt F 0 e s € 1wt e
7T, o750 ®d w0 EUA fRa Tl H e aar # 2
{A) 15 (B) 20
(C) 30 (Dy45

£¢ Solution: (C)
Time of A+ B =10days

|[\3
I

]
1| =

2daysworkol A+B=

Ul =
Il
U] b=

Remaining work =1 -
4
B Compleles 3 th work in — 12 days

5
So B compelte full work = 12 x 2-1 days

3A+ B 10
>30
OB — 15

30
Time A = El 3 days

2 July 2017 - Shift : I

96. Two taps A and B can fill a tank in 10 hours
and 12 hours respectively. If the two taps are
opened at 10 a.m., then at what time {in p.m.)
should the tap A be closed to completely fill
the tank at exactly 4 p.m.?

T A T B, TF Eh1 1 AT 10 T 12 5 H TR
g 1 7fs 1 Tl 110 gete (TUR.) WE fon =,
21 4 STTF (0. TH.) R TR AT O % o T A w
ToRaT 9 (T8 | ) ¥ < & A1eT
{A) 2 (B) 3
Q)1 (D) 1:30
£¢ Solution: (B)
10 AM to 4 PM total time to completely fill the
Lank = 6 hour

6-x O
Tap A closed = WJFE =1
36 -6x+30
60 -1
6x =6

x =T hour or3 PM

97. Vijay and Sahil together complete a piece of
work in 40 days, Sahil and Ranjit can com-
plete the same work in 48 days and Ranjit and
Vijay can complete the same work in 60 days.
In how many days can all the three complete
the same work while working together?

Torsra qen e foerrs w1 40 Tt © T T
¥, wnfee qen Tofid o6 s w1 48 Fert & g ond € 3
Tita qen foorg =6 e = 60 o § U A e § A
e Fierers SEt & &1 fRae foedf # qu e weRa ¥ 7
(A) 16 (B) 24
(C) 32 (D) 38

£ Solution: (C)

Vijay, Sahil and Ranijit together complete work

1(1 1 1]
- o=+ —+—
2.40 48 60
1{6+5+4}

2| 240

-1 g,
" 489 708

3 July 2017 - Shift : I

98. Raman is 253% more efficient than Aman. If
Aman can complete a piece of work in 25 days,
then Raman can complete the same work in
how many days?

T, ST 25% 3TFe SEpeTe € | 98 77 WF FF
25 foA o U = wewa 8, @ o SH = # fma i A

T A & ?
(A) 12 (B) 15
(C) 16 (D) 20

£¢ Solution: (D)
Aman can complele a work = 25 davs
Raman is 25% more efficient than Aman
100
Raman can complete work =25 x 125 20days
99, A and B together can complete a work in 30
day. They started together but after 6 days A
left the work and the work is completed by B
after 36 more days. A alone can complete the
entire work in how many days?
AT B U w1 foee 30 fA A QU st o & 19 U
7 T FEAT TR FA € WY 6 & F aE A FE BE
AT A I FA B g0 0 S H 36 KA s ¥ 1A
TR TEYt T 7T TR faT By A €
(A) 45 (B) 20
({C) 60 (D) 120
£¢ Solution: (B)
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A and B Logether complele work = 30 day

: 6 1
Aand B 6 day complele work = 30 3
o g 14
Remaining work = 1-—=¢
4 .
5 Work complete by B =36 days

5

B complele work = 36 % i 45
A Complete work = 30 a5 " 90 days

100. Aman and Raman together complete a piece
of work in 30 days, Raman and Manan can
complete the same work in 36 days and Manan
and Aman can complete the same work in 45
days.All of the three working together can com-
plete the work in how many days?

ST o1 T TreTent Uk el <t 30 et o g0 < wend €,
T T A 34T 1 1 36 T o QU s Hendt € SR wA
AT ST ST 1 T 45 FoAT F qU R wemd & 11 et

30 % ) fopem feadl H Q@ wad § 7
(A) 12 (B) 18
(C) 24 (D) 28

& Solution: (C)
Aman and Raman together complete work
= 30 days
Raman + manan = 36 days
Aman + Raman + manan = 45 days

1 1 1
= —+—t+—

30 36 45
= 24 days

101. Two pipes A and B can fill a tank in 20 hours
and 24 hours respectively. If the two pipes
opened at 5 in the morning, then at what time
the pipe A should be closed to completely fill
the tank exactly at 5 in the evening?

BT AT B, U 21 ] 5% 20 T91 24 ¥ H oK Tod

F | =1fx ST AT BT HErE % 5 we! wie e s, § e S

5 9o ! I T WA F AU TS A FFA 5 F S

(A) 3 pm/ARE

(C) 1 pm/3THTR
& Solution: (A)

(B) 2 pm/3TT=
(D) 11 am/TAlE

OA — 20—
120
S5B— 24

Pipe B 5 am to 5 pm total time = 12 hour
toal work 12 x 5 =60
Remaining work 120 - 60 = 60

60
Pipe A work = r =10 hour or 3 pm

4 July 2017 - Shift : II

102. Two inlet pipes can fill a cistern in 20 and 24
hours respectively and an outlet pipe can
empty 160 gallons of water per hour. All the
three pipes working together can fill the empty
cistern in 40 hours. What is the capacity {in
gallons) of the tank?

T 7TET T 97T 1 AT 20-24 72 H M HEA ¥ iR TR
et et umR = T 160 o 9T ETell R e § | T
17 AT A BT SR BT 40 T H oF Td € | TR A

o (frem &) ot &1
(A) 1200 (B) 2400
(C) 3600 (D) 1800
£¢ Solution: (B)
20 — 6
24 5 120
40 3

Total efficiency =6 +5-3=28

) 120
Capacity of the tanl = 160 x

s - 2400

103. P alone can complete the work in 5 days, Q

alone can do same work in 6 days and R alone
can do the same work in 12 days. They jointly
complete the work and earn Rs 3400, What is
the share of R?
P 7ok folt = =t 5 farl o qu o Wk 2, Q oThel
T AT Rl 6 oAl H U R Tk § qe1 R TR | 3H F
71 12 T H T R WA € 1S U W e R R
T 5400 ¥. N & | R %1 fewm wngrm ?

(A) 1000 (B) 1200
(C) 1500 (D) 1800
£ Solution: (A)
P »5 12
Q—6 JIO 60
R—12_15

5
= —x5400
R share 57

=1000 Rs.
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4 July 2017 - Shift : I

104. A, B and C together can complete a work in 20
days. A and B together can complete the same
work in 30 days. Then C alone can complete
the same worl in how many days?

A, Baen C Toemm fret #e w1 20 i S qo s e €
A T B SHt % 1 30 & ¥ qU w HwS € 1 C ST

30 FE & e o § e wwa © 7
(A) 10 (B) 30
(C) 45 (D) 60

£ Solution: (D)

A+B+C-20m 3
ha
avB 30— N2

Total work
efficiency of (A+B+ () =3
efficiency of (A+B) =2
elliciency of C =1
C alone complele Lthe same work =

total work a0
ficiency of € = 7 - 00 days
105, Vijay is 10% more efficient than Vikas. If
Vikas can complete a piece of work in 33 days,
then Vijay can complete the same work in how
many days?
T3, Taeeme o 10% a1feer = o & | =8 o TR
H i 33 a7 ¥ & v €, a1 foaom 2o wr =1 T

i A AR w2

(A) 25 (B) 27

(C) 30 (D) 36

£¢ Solution: (C)

Vijay Vikas
110 100
11 : 10 efficiency Ralio
10 : 11 Work Ratio

So according to question 11 is equal to 33
1is equallo 3
10 is equal Lo 30
~. Vijay complele the work in 30 days

5 July 2017 - Shift : II

106. Ram is five times as efficient as Rohit. Ram

Rohit. If both of them worlk together then in
how many days the work would be completed ?

T # e Ufed | ofw A § | T TE = R EA A
Uled 9 60 A FA AN E | 7f% ST oo o0 = =1 &
%, @ o et T ¥ e ?
(A) 1O (B)12.5
(C)15 (D)20
£¢ Solution: (B)
Ram Rohit
X 3X
Given ax - x = o)
x=15
Ram — 15
Rohit — 75

Ram and Rohit work together =

=125 days
107. A and B together can complete a work in 20
days. They started together but after 4 days A
left the work. The remaining worlkk was com-
pleted by B alone in 24 more days. In how marny
days can A complete the entire work alone?
A TN B UF 1 A foore 20 o # Qo vk € 13w
7 T AT SR FA € TG 4 FE % qE A FE BE
T E 139 wE B 3rhe 24 At T A amE A
vl S T ke fRan fadl H qu s WA € 7
(A)75 (B)25
(C)45 (D)60
£ Solution: (D)
Aand B Logether complele a work = 20 davs
A and Btogether work 4 days

75

4 1

20 5
. .1 4
Remaining work =1 - 573

4
B work 3 Parl =48 days
5
B complete work = 48 x i 60 days

5 July 2017 - Shift: I

108. P, Q and R together can complete a work in
40 days. P and Q together can complete the
same work in 90 days. Then R alone can com-
plete the same work in how many days?

P, Q e R &t = 7 40 TRl & QU waa € | P aen
Q T T 1 90 T&1 & 70 2 TRa ¥ | R o7hen 39w

=i fr fedf & qu w2
(A) 40 (B) 72
(C) 84 (D) 90

£ Solution: (B)

can complete a work in 60 days less than
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P, Q and R together can complete a work = 40 days
P and Q together can coplete same work = 90 days
1 1 ] 9-4

R can 1 days same work = (E "%0 )" 380

R's can 1 davs work = 7,1—2
R can complete the same work = 72 davs
109. A alone can complete the work inl0 days, B
alone can do same work in 12 days and C alone
can do the same work in 15 days. They jointly

complete the work and earn Rs 4500. What is
the share of C?

A =Pren frelt w10 AT § QWA gEa E, B oTRe
=T w1 12 o o T A T € T C 3P S5 e
%Y 15 foril & J0 AT WeRA1 § | AE U WA A Q0 A
F A9 4500 ¥ FAME | C W femm A gm ?

(A) 1800 (B) 900
(C) 1200 (D) 1500
& Solution: (C)

A'scarn : B'scarn : C'scarn

1 1 1

0 12 15

6 : 5 : 4

4
C's sharc = (EX 4500 ]
=3 1200

6 July 2017 - Shift : II

110. 24 women can complete a work in 45 days. If
18 women are employed, then in how many
days the work would be completed?

24 Afeed Uk %14 %1 45 fedl § 90 L ol © | AT 18
ST 7
(A) 60
(C) 85
& Solution: (A)
M,D, =M,D,
LetWomenbe =x
24 x 45 =18 x x
_ 24x45
- 18
x=60

111. A and B undertook a work for Rs 2200, A alone
can do the work in 10 days and B alone can do
the work in 12 days. If they work together, then
what will be the difference (in Rs.) in the
amount they receive?

(B) 70
(D) 75

X

AT B ¥ Ush S il 2200 F, A 911 A SThen SH R
w1 10 Al & 2 B efehetl 38 % w1 12 Todi § S wewa
EIR R s e e T W (i e B G ) g I 43 RS g

(®.H) FEm?
(A) 350 (B) 250
(C) 200 (D) 300
£ Solution: (C)
{Tolal Work)
60
Efficiency 6 5
Days 10 12

Both earn = 2200
11 unil = 2200
Salary always Divide in efliciency Ralio

Lunit = 2292 _ 509
unit = 11 =

T =200 bolh work Logelher then Lhe difference
in Lthe amounl they received.

6 July 2017 - Shift : I

112. Pipe A can fill a tank in 12 hours and Pipe B

can fill the tank in 18 hours. If both the pipes
are opened on alternate hours and if pipe B is
opened first, then in how much time (in hours)
the tank will be full?
TR A T 12 W H TR § 9 LT B IH T A
18 T2 H o TR ® | T B MR 6 O W -
¢ & fau wien omar & qen 7fc Ty B &1 sl Giel s
&, T T fopem T (R ) # et 2

1 1
14— 15=
(4) 147 () 155
1 1
14— 15—
(€) 145 (D) 157
£ Solution: (C)
Pipc = A and B
time = 12 hours & hours
Efficincy = 3 2

Capacily = 36

They complele in two hours = (3 + 2) unit

Sunit * 7= 35 units, 2 hours * 7= 14 hours
Capacity left = 36 — 35 = L unit

Now B's will start then it will Gll

Total capacity 1

- efficiency of B 2

1
Total time = 14 3 Hours
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113.

A, B and C can do apiece of worlkein 20, 24 and
30 days respectively. All three of them began
the work together but B left 3 days before
completion of the work. [n how many days was
the work completed?

A, B 791 C T T 1 HEE: 20, 24 T4 30 EH A T
TEA © | Al 2 et el #1 3%sTd #1d © g B ®M
e B9 ¥ 3 57 9w R SigwR e W ¢ | E®H

TR faeT & I gem g ?
(A) 7 (B) 10
(C) 12 (D)9

£¢ Solution: (D)

lct the work completed be = x days
A, Band C can do a work in 20, 24 and 30 days

A, Band Ccan 1day work = 2% % and % davs

B let 3 days belore completion of the work

then B's can do a work = (x — 3) days

All three can Complete work

_x  x=3) x
20 24 30

3 Ox+5x-15+4x
B 120

=1 = 15x-15=120

135

= —— =1 .
X= 5 9 days

7 July 2017 - Shift : I1

114.

P, Q and R together can complete a work in 36
days. If the ratio of efficiency of P, Q and Ris 3
: 2 1 1 respectively, then in how many days R
alone can complete the same work?

P, Q @1 R TiereR us & =1 36 fodi # g0 e wapnt F)
7% P, Q T R Wi FIER9TeTd 26 STIMA FHY: 3 : 2 : 1 8,
o R STl 39 i I fohe ol A g0 X oRar € 7

{A) 108 (B) 216

(C) 72 (D) 144

£ Solution: (B)
P,Q and R together can complet a work in 36 days.

Efficiency of P, Qand R=3:2:1

Time ofP,Qand R=2:3:6

Let lime of P, Q and R = 2x, 3x, 6x days
1 1 1 1

R i

2x 3x 6x 36

_3+2+1_1
T 6x 36
= x=3%6days

R can complete the work = 36 x 6 =216

115. Two pipes A and B can fill an empty tank in 10

hours and 135 hours respectively. Pipe C alone
can empty the completely filled tank in 12
hours. First both pipes A and B are opened and
after 5 hours pipe C is also opened. What is
the total time {(in hours) in which the tank
will be filled?

T WET A G2 B T @Il S I wH: 10 H q 15 6
H YR € | TET C SThel Tk 9 O =1 12 S H @t
L HHA E | TE T TET A T B FI G ST E 7015
e A% TR C I GieT 91§ | 2 Fe R 9ea (HE
H) 7 wm 7

(A)7 (B) 5

()9 (D)8

£ Solution: (A)

A and B can fill an empty tank =10 hours and
15 hours
C can emply lank in = 12 hours

1 1 5
_ Mead A = —=t—=|==
Aand B filled after 5 hours [10 15] 6
1
Emply parl of Lank = 5
1
6
Emply parlfillupby C= ( 1 1 1 ]
_
16 15 12

_l12
—6 1 = Zhours

Tank completely filed =3 + 2=7 hours

7 July 2017 - Shift : I

116. A and B together can complete a work in 15

days. They started together but after 5 days A
left the work. If the remaining work is com-
pleted by B in 15 more days, then A alone can
complete the entire work in how many days?
AT B U FE 1 Ao 15 B meam e E A
TS W19 % FAT I R § g 5 Al 3 9% A e
oI 1A e EE WA B ® 15 s ewrar

A spen T B ) TR o | T wem ?
(A) 25 (B) 50
(C) 35 (D) 45

£¢ Solution: (D)
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A and B both can complete work in 15 days
5 1
A and B can 5 days work = 3°3

W

Remaining work =

L b

2
3 work canby B =15 days

B can complele work By days

2 1

A can complete work = 15 a5 45
=45 Days

117. Three men and 4 women can do a work in 7

days, whereas 2 men and 1 women can do it

in 14 davs.seven women will complete the

same work in.

AF 5o 31T 4 Afgen fEdt w = 7 fod § @ e €,

a2 TR SR 1 Afeen 39 % B 14 &7 5w

F 197 Aiged S5t B =i e e d gt ?

(A) 10 days/ & (B) 12 days/ e

(C) 9 days/feT (D) 8 days/f&

& Solution: (A)

(3m + 4w) 7 = (Zm + w) 14
S3m+4dw=494m + 2w

m= 2w
m_2
w 1

TwxD={3m+4w) x7
7xD=BG+4) x7
D=10
118. Pipe A and B can fill a tank in 43.2 minutes
and 108 minutes respectively. Pipe C can
empty it at 3 liters/minute. When all the three
pipes are opened together, they fill the tank
in 54 minutes. The capacity (in liters) of the
tank is:
T A iR B TRt 3w 43.2 e $R 108
e o W Thd € | I=RY C 39 3 oy, fime =1 <0 9 @l
FLHFAS | A TZY Uk | Eiel 91 8, 61 & 31
54 Tz & «wa ¥ 1 23t 1 e (e H) T S|
(A) 200 (B) 160
(C)216 (D) 180
& Solution: (C)

A —43.2~_2.5
B — 108 >1—108
C — 54 2

108 x2x3

3 216

Capacity of tanlk =

119. A cando a picce ol work in 15 days. B is 23% more
efficient than A and Cis 40% more efficient than B, A
and C work together for 3 days and then C leaves, A
and B logelher will complele the remaining work
in:
A fFft wE H 15 GF § S Twar €1 B, A &1 gorn 4
25% AR FIE ¥ 2R C 77 B T gor § 40% 7fer
P E, ARC, 3 & few e o € ol i C o
BT EAML | A 3T B T T 99 % %7 ke A o o
A 7

(A) 2%days/ﬁ?f (B) 3%days/ f

(C) 4 days/ & (D)3 days/ f&
£ Solution: (D)
A B C
4 5] S
5 5 7

A:B:C=4:5:7
Aand C=11x3=33
Total workk =15 % 4 = 60
Remaing work = 60-33 = 27

27
AandB Noofday=? =3 days
1
120. Acando20% ofaworkin4 days, Bcando 33; % of
the same work in 10 days. They worked togetﬁer for
9 days. C compleled the remaining work in 6 days. B
and C logelher will complele 73% of Lhe same work
in:
A TR = =1 20%, 4 57 & 90 = Tha1 &, B 39 %M

= 33% %, 10 fedl ¥ g s wahran 19 9 & & fog uw
W FHE FE E | C I wE w6 feA H qu A € 1B eir
C e =1 3 & o 75% fker fed | qu wia 7
(A)12 days/ f&T (B) 15 days/ T&

(C)10 days/ f&7 (D)9 days/ &1
£ Solution: (C)
20 L1 _ 4
A— > —
100 S
B — L — 10 —3

A+Bfor9days=5x9= 45
Remaing work = 60 -45= 15

15 5

C efficency = €= >
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5 9
B+C=2+_=

2 2
B + C = 75% of total work
60x% ™ 45
100
45%x 2

B completed work = 9

=10 days

121. To do a certain work, the ratio of the efficien-
cies of A and B is 7: 5. Working together, they

1
can complete the same work in 175 days. A

alone will complete 60% of the same work in:
=i ffvaa ®d w1 % T, A @i B %t % e 1
FUE 7: 5 7 | U Wi focte s #1d gu, o 39 e

117 Frd g s AT 60%

fope fem1 # 0 = 2
(A) 16 days (B) 18 days
(C) 21 days (D) 15 days
£¢ Solution: (B)
A: B
Eff 7 : 5
35
Total work 12 x Y
A b\ y 12x35x60
can do the work = 2% 100

x =18 day

122, Two men and 7 women can complete a work
in 28 days, whereas © men and 16 women can
do the same work in 11 days. In how many
days will 5 men and 4 women, working to-

gether, complete the same work?

1 gE ST 7 Afgar e e & 28 A H g e §
TAE 6 TET 3R 16 AfEd SH HE 11 G #
HFd § 5 780 3 4 Afgand wwary firersy SH wE ®)

fopam feAf A quain 7
(A) 18 (B) 14
(C) 22 (D) 20

£ Solution: (C)

(2m+ 7w) » 28 = (6bm + 16w) x 11 = (dm + 4w) *x
10m = 20w
2
w 1
12+ 16)11 =(10+4) x
28 x 11 = 14yx
x=22

m

1 2
123. Acan do - ofawork in 30 days. B can do 5 of
]

the same work in 24 days. They worked to-
gether for 20 days. C completed the remain-
ing work in 8 days. Working together A, B and

C will complete the same work in:

At 5 T 30 el ¥ B o
%% T w24 Tl H = T E F 20 A T uw Ty
fre wd # & C I wE ® 8 A H WAmE A, B
i C T e fAeTe SH e R o T

(A) 10 days (B) 12 days
(C) 18days (D) 15 days
£¢ Solution: (B)
1
A— —30—-90
3 L
180

2 3
B—- —24—6
5 2

20 day they work together = 5 x 20 = 100
Remaining work = 180 — 100 = 80

) 80
C' s efficiency = Y =10

180
A+B+C= o =12day

124. A B and C can do a work separately in 18, 36
and 54 days, respectively. They started the
work together, but B and C left 5 days and 10
days, respectively. before the completion of the
work. In how many days was the work fin-

ished?
A, B iR C fipet %9 1 oTe7- 3767 FA: 18, 36 &7
54 fer o B T § S UE T w0 E R O B
R C F ®=H W EA F 7w wHm: 5 fad sk 10 A
e M B fed | @ %M fwad oA J qu ge
{A) 13 days (B) 12 days
(C] 14 days (D) 15 days

£¢ Solution: (A)
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A— 18 6

B— 36 3— 108

C—>54 2

Bwork=5%x3=15
Cwork=10x2=20
total work = 108 + 15 + 20 = 143

143
work done = 11 - 13 days

125. A and B can do a piece of work in 18 days. B
and C together can do it in 30 days. If A is
twice as good a workman as C, find in how

many days B alone can do the work ?

A B fEfiFm & 18 f&7 # # wwhd & BiRC t=
TaTH 0T T Ak ¢ HgEm H A g
FIT & T B e 9 %M I TR a1 70 wom |

(A) 80 days (B) 100 days
(C) 75 days (D) 90 days
& Solution: (D)

A+B-18 5
>90
B+C— 303

A C

2:1
2x+B=5
B+x=3
2(3-By+B=35
6-2B+B=5
B=1

A B C
4 1 2

0
B complete the work = 1 90 days

126. A and B together can do a piece of work in 12
days. A, alone can do itin 18 days. In how many

days B alone can do the work ?
A 3R B "% Wy faee ts sm @ 12 9 4 W@ =
TR | A oTRel 39 18 fEA H U v € | B o

SH W & e fod H QU w wwm © 7
(A) 32 days (B) 30 days
(C) 36 days (D) 24 days

& Solution: (C)

A+B-12 3
>36
A —18 7

36
B complete the work = 7" 36 days

127. A and B can do awork togetherin 18 days. Ais
three times as efficient as B. In how many

days can B alone complete the network?
A R B Tt W % U o faeae 18 A H
TFa 1A, B H 97 T FIT E | B 5T 39 HE
forem A A QU A e & 7
(A) 60 days
(C) 72 days
£ Solution: (C)

A+B-18

A : B

3 @1

(B) 54 days
(D) 64 days

8 x4
1
128. Pipes A and B can fill a tank in 12 minutes
and 15 minutes, respectively. The tanlk when
full can be emptied by pipe C in x minutes.
When all the three pipes are opened simulta-
neously, the tank is full in 10 minutes. The

B complete the work = =72 days

value of X is:

Y A 3T B st St & e 12 fime 8k 15 fime
H o wekd ¥ | 3R & W TN W TRY C 50 x e A
A ol 1 Hohal & | 97 14 T8 Ush W1 Qi 9§,
i <l 10 fire o i St § | x 1 O Ja Fifag |

(A) 18 (B) 15
(C) 20 (D) 24
£ Solution: (C)
1 1 1 1
- - =
12 15 x 10
27 11
12x15 x 10
x= 20 days

11 Sept 2018

129. To do a cerlain work, the ralio of efficiency of A lo
thatof Bis 3 : 7. Working together, they can complete

1
the workin 10 > days. They work together for 8 days.

60% of the remaining work will be compleled by A
alone in ;
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et %1 i AT o TTT A $iR B T &7HaT 7 ST 3 4 A 30
: ) . L 3 B 40 > 120
7%|wmeﬁar€rmﬁm,aej=ﬁqumwm’loa 2 C 60
NV " . . Work fill 10 =3x4+2x3=18
e & v o Tk #1321 faere 8 fet o e or am
w16 60% B H A SR e R F Remaining work's time = % A
I ¢ ]
= 11 hr 20 min
_1 \ : ; ; :
(A) 'DE days/ -]'a;[ (B) 5 d&ly.‘ix -]'a;[ SO, time will be 9 : 20 Pm
| 132. A cerlain number of persons can complele a work in
Oy 6— days/ T DY4 davs/ f&T 34 days working‘?h.a day. Il the number of persons
© 2 5 / (D) ys/ is decreased by 40%, then how many hours a day
& Solution: (B) should the remaining persons work Lo complele Lhe
21 work in 51 days ?
Total work = (3 + 7) [?] - 105 Waﬁauﬁhﬁ9ﬂ%mwfﬂ%mmumﬁw
‘ ' T £ | AfS At t S w1 40% HH F e s
Work in 8 days = 10 x =80 4 5 G S it 1 51 Fer # el e ) 9w few
60% of remaining work = 25 x 5" 15 = o o o a2
15
Time required by A= — = 5 days (A)9 (B)8
3 ()12 (D) 10

130. Aand B candoa picce of work in 6 days and 8 days, £ Solution: (D)
respectively. With the help of C, they completed the
work in 3 dayvs and carned 1,848. Whal was Lhe share
ofC?

Let total persons = P
Px34x9 3Px51xh

: . _— e . AT
A iR B it e B e 6 T siR g A s wapa 2 Q w Sxw
C I WETar ¥ o 39 s # 3 Teq & QU T 1,848 wAT = H = 10 hour/day
T1C% foed o fopeq Tyw am 7
(A)ZT231 (B) T 924 12 Sept 2018
(C)T 462 (D) T 693 133, 4 menand 5 women can complete a workin 15 days,

£ Solution: (4) whereas 9 men and 6 women can do il in 10 days. To
4 A 6 complete the same work in 7 days, how many women
3 B 8 > 24 should assist 4 men ?
& A+B+C 3 4 7% 31 5 Afea v w0 w1 15 i F o v €

C,Sshme=lx1849=?231 TERE 9 R ¥ ¢ Higemd T4 w1 10 BE H 0w

8 TH € | IR {3 St %W w1 7 i A e % e g
131. Pipes A, Band C can fill a tank in 30 h, 40 h and 60 el o Mo foant wfeaneti & & e gim 7
hrespectively, Pipes A, Band Care opened at 7am,, (A) 11 (B) 14
§ am. and 10 a.m. respeclively on the same day. ()12 (D13
When w1]'] Fhe tank‘be ﬂj]] ? T & Solution: (D)
WA,B@RC'@FEﬁWW:3U,403ﬂTOUWﬁW (4m + 5w) 15 = (9m + 6w)10
e & 139 a1 T2 A, B IR C 1w &1 &= s 7 12m+ 15w = 18m + 12w
T, 8 T 3R 10 59 =] W fm ) T o e ow M 1
STt ? \ 6m = 3w W2
(A) 10.00 pan./ 390 10.00 =<1 SM=1,W=2
(B) 10.30 p.m./ 5T77% 10.30 5t — Total work = {4(1) + 5(2)}15
(C)9.20 p‘m‘/aTCITI'E;9.2UE|@f So acc. to question
(D) 9.40 p.m../ 37707 9.40 =1 = {H1)+5(2)15 = {1411] +x(2)57
= x =13

£¢ Solution: (C)
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134. Pipes A and B can [ill a lank in 16 hours and 24
hours, respeclively, and pipe Calone can cmply Lhe
full tank in x hours. All the pipes were opened to-
getherat 10: 30a.m,, but Cwas closed at 2: 30 p.m,
If the Lank was [ull al 8 : 30 p.m. on Lhe same day,
then what is the value of x ?

MET A 3R B TF 7 1 HRE: 16 7 3iX 24 H2 H R
TR € SR WEW C 3 gL W I & o1 x W H @
T THA S | A IR R TE W o 10 ; 30 TS =]
T T T, TR C T STHIG 2 1 30 719t wig oK fm |
ST SH 57 1 = § ¢ 30 o TRy R T o, d x R HE

FE?
(A) 64 (B) 48
(C)45 (D)%

& Solution: (D)

A—> 16“23

B —> 24>48

¢ — x-48/x
10:30t02: 30 - 4 hrs/till 8 : 30

48
5—; 4+(3+2)6=48

96 96
10- — +15=24 = 1= —
X X

= [x=96]

135. Todo acertain work, the ratio of the efficiencies of X

and Y is 5 : 4. Working Logelher, they can complele
the same work in 10 days. Y alone slarls Lhe work
and leaves after 5 days. The remaining work will be
compleled by Xalone in:
Tonelt =T Al A o o X i Y =t e o sTqua 50 4
F 10 T firer i e R, 3 3 =8 e w10 f
H 9 F WA € 1Y STk I % Rl & S5 el
T BT oA § | T FA W Tk X T fed F quaw
o ?

(A) 14 days/ T3 (B) 12 days/ f&
(O)15 days/ f&a (D) 10 days/ &=
& Solution: (A)
>
Eff. 5 : 4
Tw = 10x9 = 90
(x+y) 5= 9 x5 =45
Remaining work = 45
XTimc: - ? =9
Total time = 549 = 14 days

136. Acando40% of aworkin12 days, whereas B cando

60% of the same work in 15 days. Bolh work Logelhoer
for 10 days, C completes the remaining work alone
ind days. A, Band C together will complete 28% of
Lthe same work in :
A Tt st 1 40%, 12 f H o T 8, v B S
T A 60%, 15 & o #2 wan €1 €91 10 Al 7 ™
W T F & | CHTET R 4 G H Qi £1 A, B
& C ek T faerRt St e w 28% TR fa i |
L 7

(A) 2% days/ %7 (B)3 days/ f&

(C) 1% days/ &

£¢ Solution: (D)

5
A—> 30
o g 6150

(A+B),=11x 10110

(D) 2 days/ f&

40
= T = 10 [ODW)]

Teesr

c. = 130 15 d
Tie: - 10 - ays
150x28
= (A+B+0)28% = 100, o) = 2days
13 Sept 2018

137. A is an efficient as B and C together. Working to-
gether A and B can complete a work in 36 days and
C alone can complele il in 60 days. A and C work
Logether for 10 days. B alone will complele the re-
maining work in :
A 3Tk 391 241 & T fom B oiR C M1 e & 15
HTI g A 3 B fonet & 1 36 fol © ot € #iRC
sTReT <5t T T 60 Tt B B TR #1 A iR C IR
firerert 10 fel 7o = =5t € | B 9 el i otk fomet
fea # QoM ?
(A) 110 days/ &
(C) 84 days/ e
£¢ Solution: (A)
A B+C
1 1

(B) 88 days/ T&
(D) 90 days/ &7

A+B — 36\°
180

C — &0
Elf.ofA+B=5
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138.

=Ello[B=1
= Eff. of A=4
(A+Q),=7%x10=70

110
Remaining work by B = o - 110 days

A can do one-third of a work in 15 days. B can do
75% of the same work in 18 days and C can do Lthe
same work in 36 days. B and C work together for 8
days. In how many days will A alone complele Lthe
remaining work ?

A Tt = o we-faeE 115 Tl # e wshan € 1B =<t
% 75% A 118 & H o7 C ==+ e i 36 R
A THA S I BARC, 8 & G uw W F R Fd & A
31 B Y T P fo

(A)24 days/Teid (B) 18 days/Tedi

(C)20 days/fAH (D) 16 days/ =i &

£¢ Solution: (C)

139.

A—> 45

B—> %xd::zdt

C—> 36

(B+ ), — @5 +30), =75 x 8 =600
Remaining work = 1080 - 600 = 480

Pipes A and B are [illing pipes while pipe C is an
emptying pipe A and B can fill a tank in 72 and 90
minules respeclively. When all Lthe three pipes are
opened together, the tank gets filled in 2 hours. A
and B arce opened logelher for 12 minules, then
closed and Cis opened. The tank will be empty after:
TEY A T B %) & WA 916 WET €, FatE g C S
1 G T S WET 2 | A SR B T 1 FE: 72 3R
90 Tae & WL Wekd € | ST i1 T3 < Uk W1 DT el
TR 2 H WART R 1 WRW A SR BFH 12 A F
oy e W @en o ¥, iR 3= 9t =k 18T C #
Wil S € | St fedq wHA § el g1 S 2

(A) 15 minutes/ fA2  (B) 18 minutes/ fa e

(C) 12 minules/ 92 (D) 16 minules/ 872

£¢ Solution: (B)

A—> 72

B—> 90 360

A+B+C —> 120
A+B+C-A-B=3-9=-6

=C'=6

(A+B)u=9 x 12 =108
] 08 ]

Time = e =18 min.

140. 25 persons can complele a work in 60 days. They
slarled the work. 10 persons lefl Lhe work aller x days.
If the whole work was completed in 80 days, then
whal is Lhe value of x ?
25 =rfa foredt =R 60 ol # Qe o € 13 ® M
L YE T | x AT % =g 10 =faai 3 % s T
afg = M 80 ol H qUgsn el a9l x F A FE ?
(A)9 (B)8
(K12 (D)30
£ Solution: (D)

25 % 60 =25x% x +15 % (80 - x)

25 x B0 = 256x + 1200 - 15x

300 = 10x

=x=30

141. A tank is in the form of a cuboid with length 12 m. If
18 kilolilre of waler is removed from il, Lthe waler
level goes down by 30 cm. Whal is the widlh (inm)
of the tank ?

B % SRR 91 T o &1 wag 12 Wit 8 | Afe 39w 18
fepiTettex qIY fAeAret foam <mam & 1 3o sie T 30 .
<1 = e ¥ | E w1 ST (AR H) R € ?
(A)4 (B)>5
(C)3.5 (D)4.5

£¢ Solution: (B)

'12><ﬂ><x =18 =5
100 =18= x=5m

9 March, 2017

142. A can do aworkin 72 days and B in 90 days. If
they work on it together for 10 days, then what
fraction of work is left ?

A7 TEi S mFH AR TFa € s B S0 90 A H #
qFAE |1 TE S 10 i F U TE me EE Ew E, EE
=1 feRem o791 =9 ST 2
3 1

B) — Ci D
. B ©z O

(A) I
#{ Solution (A) =

oV en
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5 A—> 72 260 145. A can complete 50% of a job in 9 days and B
4 B 5 90 ) can complete 25% of the job in 9 days if they
1 day work = 9 worked alone. If they worked together how
10 days work = 90 much of the job (in %) can they complete in 9
ap 1 days ?
Work done =~ =7 A9 el § 50% = qu = T & 3 B 9 fedi 1 5w
3 HH I 25% T0 F THA ¢ | A A TSP HE
Work remaining = - F E | A 3 Tk T W w1 § o o T # e wm
143. A is thrice as good a workman as B. C alone (%% H) WA THRTE ?
takes 48 days to paint a house. All three A, B (A) 80 (B)go
and C working together take 16 days a point (C) 75 (D) 100

the house. It will take how many days for B #¢ Solution (C)>
alone to paint the house ?

1
A, gﬁwﬁﬁ?wmwwu%m 3T TF =R A's time 9 days —  work
* U2 F F R 48 fof 1 g o1 B | O g W
XA FL A, B 3 C =1 3@ s i 2w H 16 Ter @

1
B's Time 9 days — Zwork
1A— 18 36

% 1 39 S| Y2 e o foru othel B &l Tk fo onidr 7 2B - 36
(A) 32 (B) 64 1 day work = 3
(C) 96 (D) 72 9 day work = 27

#7 Solution (C) =

6 A+B+C —>16 06
2 C —>487

27
% work done in © days = 36 x 100 =73%

146. Working together A and B can do a job in 40
days, B and C in 36 days and all three together

Efficiency A B in 24 days. [n how many days can B alone do
34' 1 the job?
Efficiency B= -x 1= 1 A T B U T Tt 5 w40 T H e en €, B aen
) 96 C 36 el & % Twa € qen et i faerwRe et =
S0 B alone to paint house = 7 - 96 days 24 Tt ¥ o $ | B ovken o6 T S Fee e H
144, C is 5 times as productive as B. A takes 60 S 7
days to complete a task. If A, B and C work (A) 60 (B) 90
together they can complete the task in 12 days. (C) 72 (D) 120
In how many days can B complete the task if 4 Solution (B)=
he worked alone ?
C, B ®I g1 | 5 T STIEE € | A B TF F T F g:g :gg ?O 160
ﬁ60ﬁﬁW%lﬂﬁA,BﬁRCW'ﬂTan%ﬁT A+B+C —924 15
12 & & 9% [ R T € | SRSl M FA gU B B=4
fepae ferl o o & 90 R wwa & 7 BSD&Y:@:%M},S
(A) 18 (B) 27 147. A B and C cand a ) ‘
. A, B and C can do a job working alone in 50, 75
(C) 90 (Dy72

and 20 days respectively. They all work to-

4 Solution (C) = gether for 4 days, then C quits. How many days

5 A+B+C —>127 60 will A and B take to finish the rest of the job?
1 A —60 A, B @91 C 37%el T &d gU ! M & wae: 50,
Efficiency B :C 75 $iK 20 & H W E o6 § 13 9 =R A um
1:5 M F § a1 TR C %19 OIS 20 ¥ | 99 5T FE A
4 2 o B fefa ferll # qu st i 7
' i = —x1=—
B's efficiency 5 3 (A) 20 (B) 30
o (C) 18 (D) 24
So, B's time = ?X3=90 days # Solution (A) =
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A —350 6

B —75 4 300

Cc —20 15

Total work of three man in 4 days = 100

Remaining work = 300 — 100 = 200

Remaining work of (A + B) will be done

200

=10 - 20 days

148. A can do 50% of the jobin 16 days, Bcando 1/

4th of the job in 24 days. In how many days
can they do 3/4 th of the job working together?
A felt &M % 50% W= 16 f&l § s o g, B 3
FMF 1/4 9 i 24 T § FT ST | TR W FH

TUA BMF 3 /49 F o feAl o g o 2

(A) 24 (B) 9
(C) 21 (D) 18
#{ Solution (D)=
1
A x 2" 16 days
1 A = 32 days
B x i 24 days
B = 96 days
A-32 ‘ 3 ’ 9%
B-% | 1

3
Total work = 96 x 2 =72

72
Total work = 2 18 days

149, A and B can together complete a task in 18
hours. After 6 hours A leaves. B takes 36 hours
to finish rest of the task. How many hours
would A have taken to do the task if he worked
alone?

ATTBTEtEmE R R T 6 AT A
T BT a1 # | 59 U FM H T A 7 o B 36 w2
TR 1T A TFS FH AL A SE TH FE E B H

(A) 54 (B) 45
(C) 21 (Dy27
2 Solution (D)=
A+B— 18
12 Days work of A
12A=248B
A:B=2:1
18x3

A' total hrs = 5 = 27 hrs

150. Acan do aworkin 36 daysand B in 12 days. If

fraction of work is left?

AfFmiwm=i 36 T A M TwRm 7B, 12 A d ==
Tkl & 1A o i1 W1 H 3 {5 9k M *4d & o1 ®E &

T T = @ 7
N> B o~ D=
w3 ®5 ©f O
2 Solution (A) =
1 A—36
3 BE— 12 Total work = 36 units
4 — Total
(A+B)3dayvswork=4x 3 =12 unit
) 24 2
Fraction of work left = — =
3% 3

151. A can paint a house in 45 daysand B can do it
in 15 days. Along with C, they did the jobin 5
days only. Then, C alone can do the job in how
many days?

A fret s &1 45 fGA | He e voma © sIRB 39 15 feA
H T THAE | C e A 3 59 %W ] e 5
H #2 THd & 1 o7hen C 78 T fei ° s mam 2

(A) 12 (B) @
{C) 15 (D) 8
2 Solution (B)=
Efficiency
1 unit A—45days
3 unit B—15days
9 unit A+B+C—5days

([
1 3 5
Total work = 45 unit
C efficiency = 5 unit

45
Days = =5 - 9 days

152. AB and C together can finish a task in 7.5
days. Cis thrice as productive as A and B alone
can do the task in 15 days. In how many days
can A and C do the job if B goes on leave?

A,B 7o C et ®m = ue W fiee 7.5 A 6
T & | C i STUET 47901 A 1 T & o1k B svhan 39
FEF 15 T A W TR S | T B g WA I
A ¥R C Toeme w9 =@ =1 e fEa & #r e ?
(A) 30 (B) 10
{C) 20 (D) 15

2 Solution (D)=

they work on it together for 3 days, then what
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Efficiency (Unit)
2 A+B+C 7.5 davs
1 B 15 days
Total work = 15 unit
A+B+C
[

1 3
4

B

1

A+C-= Z+ = 1 unit efficiency

|

15
(A+C)doin= T ° 15 days

153. A, Band C can dojobin®, 12 and 36 days re-

spectively if they worked alone. A leaves after
they have worked together for 3 days. In how
many days can B and C do the rest of the job?
afg A, B 3R C Tordt %@ 1 379601 30 01 & 59 AT

9, 12 &R 36 & ¥ #d € | diA Al aok ot ST S e
FH FH F T A T 96 © | 99 §E FHE A B 991 C

Enphics ekl
(A) 3 (B) 4
(€) 5 (D)6
#7 Solution (A) >

Eff. (unit)

4 A —9

3 B —12

1 CcC —36

8 unit (A + B + C) Total work = 36 units
3 days work = 8 x 3 = 24 unit

Rem. work = 36 — 24 = 12 unit

B + C effiency = 4 unit

Time required = - 3 days

154. A is thrice as productive as C. Together they

can complete ajob in 22.5 days. If B joins them
after they have worked for 15 days then in how
many days can they finish the rest of the job
if B alone can do the jobin 15 days?

A T SeTEE s C | {8 191 frore st '
22.5 f&Hi d s v € 1 3R A A F 15 feA wm w3
% A B oft 36 WA [ I 8 O A 7 50 HME W R
T H T 1 AfE B 3R T 1 %! 15 T o W wwa

A's Efficiency : C's efficiency =3 : 1
Efficiency Days

A 3 30 22.5x4
C 1 90
A+C 4 22.5
davs
A 30 3 90
B 15 6
C 90 1

> 15{(A+C)+n(A+B+C)=90

=15x4+nx10=90

=nx 10=30

n =3 days

155. If A, B and C can do a job working alone in 12,

18 and 36 days respectively. They all work to-
gether for 2 day, then B quits. How many days
will A and C take to finish rest of the job?
A, B e C et @ o s 12, 18 $iR36 e =t
24 & 19 9t 2 & 9% W wm € i iR B w5
I A1 | TH M 1 YU HE % fau A 791 C i faa
HHT T 2

(4) 9 (B) 6
(€)3 (D) 4
2 Solution (B) =
day eff
A 12 3 36
B 18 2

C 36 1

S>2(A+B+C)+n(A+C)=36

—>2(3+2+1) +n(3+1)=36

=12+ nx4=36

=4x =24

xX=6

156. IfA, B and C together do a job in 4 days, A and

C together do the jobin 4.5 daysand B and C
together do the job in 12 days then in how
many days can C alone do the joh?
afc A, B C frfisma 4 A i s@ E, AT C =
I Y FH H 4.5 feq H F2d € 991 B 3iw ¢ fremme =g
W %1 12 ol H 0 € O C 3Tk =9 %W R R f

Hoawmar e ?
(A) 36 (B) 6
(C) 18 (D) 12

2 Solution (C)=
Days eff
A+B+C=4 18
A+C=4516 72
B+C=12 6
>{A+C)+B+C)-(A+B+C)=C

&7 =16+6-18=C
()6 B3 S -4
(€)9 (D) 2 S

£ Solution (B) = =C=-, =18 days
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157. If A alone can do a job in 40 days then, in how
many days can B alone do the job if together
they can do the job in 8 days?
7Ife A TRt TRt #1740 f & a1 8 1 B oFhel =9
=1 i a7 5 s o afs & S e =1 e A

sfrdmeaad?
{A) 15 (B) 10
(C) 20 (D) 25
2 Solution (B)=
Days eff
A=40 1
B= 4 40

A+B =8 5

40
B= a 10 days

158. Working alone A can do the task in 27 hours
and B can do it in 54 hours. Find C's share {in
Rs) if A, B and C get paid Rs 4,320 for complet-
ing a task in 12 hours on which they worked
together.

ST 1 LA GU A 27 H H T il 9 HHA § S
B 3d 54 e H w{ WA & 1 C W fewm s S af A, B
R C Wl 12 ¥ H UF FF TR F 0 4,320 %
O e 8, T W S=ie 1% W =@ fwa o

(A) 1440 (B) 960
(C) 1920 (Dy 1280
#; Solution (A)=
4A—27
2B—54 108

9A+B+C —12

Now efficiency of C=9-(2+4)=3
3

Share of C = 4320 x S - 1440

159. If A had worked alone he would have taken 63
hours to do the task. What is B's share, if A
and B work together on a task finishing it in
36 hours and they get paid Rs 5,950 for it?

Ifg A= 21kl &M fRa 21a 9 98 &0 i & g 63 =i
TR | B 1 = T, 2T A 3R B U W R
I 36 e H AT B © 2 W oW 5,950 B9T @

T R ST ?
(A) 3400 (B) 3600
(C) 2550 (D) 2750
2 Solution (C)=
4A—63

TA+B—36 252
So B's efficiency = 3

3
B's Share = 5950 x == 2550

160. Working together A, B and C can complete a
task in 12 days. A and B can do the task in 55
days and 66 days respectively if they worked
alone. In how many days can C do the task if
he worked alone?

AT H 5% FE A FLA, B 21 C 12 i 7w wE W
T FES ¢ | A 3 TRk S R € 4 A B
L. 55 faii 31K 66 ot & =g wF R T € 19f T
T TR C I E, 9 36 ® H 98 e & A @

= TEHAT © 7
(A) 22 (B) 44
(C) 20 (D) 40
2 Solution (C)=
12A—55
10 B—66 660

55A+B+C—12
Efficiency of C = 535 - 22 = 33

660
C days to do task = — 3 = 20 days
W2

161. B would have taken 10 hours more than what
A would have taken to complete a task if each
of them worked alone. Working together they
can complete the taskin 12 hours. How many
hours would B take to do 50% of the task?

B & Us &l QU & & a0 A &1 ga # 10 =5 Afa®w

THT T, ST S9H H YW 3 She-aTRe wE

BT | U W1 & L §U A SH HE # 12 5 H

TF ¥ | B B ST B F 50% F F G0 R W

i 7

{A) 30

(C) 20

2 Solution (B)=

A—x
B=(x+10)
Both working together No. of days =

(B) 15
(D) 10

x(x+10)
2% +10

=x‘+ 10x=24x+ 120

=x‘-14x-120=0

x=20

B days to complete 50% of work

=12

30

=5 = 15 days

162. Acan do aworkin 21 days and B in 42 days. If
they work on it together for 7 days, then what
fraction of work is left?
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ATrdi M= 21 TA Y S Tha & AIRB 34 42 fea o
X TRl & | AT 3 7 o U e e e § A e

o fem a=m ?
1 1 2 1
(A) 3 (B) y () 3 (D) 5

£ Solution (D)=

x (one day)
A——> 21 day LCM .
2 2
B —> 42 day> 2
Cne day work = 3
In7 day work =3 x 7 =21
So outof42, 21 work done in 7 day

1

W klf—ﬂ——
or et—42—2

163. A can paint a house in 55 days and B can do it
in 66 days. Along with C, they did the jobin 12
days only. Then, C alone can do the job in how
many days?

A el s 55 fedi § Yo s e € i B 39 66 fa
THTFNE | CF A T a s wHF 12 T
X THA E O C SThen 76 M w1 fma o | w2

(A) 24 (B) 44
(C) 33 (D) 20
#7 Solution (D) =
x (one day)
A — 55 day LCM 12
B —>66 day> 1x5x6x2

A+B=12+10=22
C=55-22=233

11x5x6x2 —o0d
733 = ays

164. A, B and C together can finish a task in 12
days. Ais twice as productive as B and C alone
can do the task in 36 days. In how many days
can A and B do the task if C goes on leave?

A BraC frdt zmm mrag 12 T s men ¥
B = gt § A ST 31 Sea1eH a1 © SR C SFekhan
39 M 1 36 feAl # s wEa § 1 Afe C ggl | =en 9
#dr A it B faor 79 % &1 e T | w e ?
(A) 10 (B) 20
(C) 15 (D) 18

#7 Solution (D) =

C's day =

One day work
A+ B+ C——> 12 day LCM 3
C w7 x% 1
CcC=1
A+B+C=3

Efficiency of A+ B=2

36
(A + B) days = o " 18 day

165. A, B and C can together do ajob in 9 days. C
alone can do the job in 36 days. In how many
days can A and B do 50% of the job working
together?

A, B9 C freft sm a8 o fl { qu e o € 1 C ke
THEE 36 AT H ST | AT B TR WG FE B
BU 50% M fHa e & # e 2

(A)6 (B) 12
C)9 (D) 15
# Solution (A) =
One day
A+ B+ C——> 9 day 4
C By 8. L
A+B+C=4
C=1; A+B=3
36 50
Days for (A + B) 50% work = 3 b 100 - & days

166. 25 men can complete a task in 16 days. Four
days after they started working, 5 more men,
with equal workmanship, Joined them. How
many days will be needed by all to complete
the remaining task ?

25 TEN T M 16 G o WA T § | W IE w1
% ¥R {57 9, WA 4 9 5 SR TEN 3R 91 9E
T I FF H W A F A o & e ot

ST ET 2 CHSL 18-03-2019 1)
(A) 12 days (B) 10 days
{C) 15 days (D) 18 days
#{ Solution (B) >
ATQ

25%x 16 = (25 x 4) + (30 x x)
400 - 100 = 30x
x=10

167. P can work thrice as fast as Q. Working inde-
pendently. Q can complete a task in 24 days.
In how many days can P and Q together finish
the same task ?
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P, Q © @ A1 9 & L Wkl & | T w0 T FH H
Y, Q Rl 1 24 TeA H QU s 9aa1 8 | P 3R Q U 7y
et st el =1 fp R S o w2
CHSL 18-03-20191I)
(A) 5 (B) 4
(C) 6 (D) 8
# Solution (C) =

P 241
>24
Q 8 3
24
Together = m = 6 days

168. P can do a work in 10 days and Q can do the
same work in 15 days. If they work on it to-
gether for 3 days, then the fraction of the work
that is left is :

PTFFHEF 10 e ¥ sfir Q s w1 15 A & ==
A © | A =9 S 7 3 KT 9 Wy & fEen, |
= &l fERaa1 9T 39 5= 2CHSL 18-03-2019 I1I)

1 2
(A) 3 B) 3
1 4
(€) 5 (D) =

# Solution (C) =

P 103
> 30 — Total work
Q 1572

3(3+2) 1
30 2

169. Ravi, Mohan and Govind can complete a task
in 12 days, 10 days and 15 days, respectively.
In how many days can Ravi, Mohan and Govind
together complete the same task ?
e, Are @i mfee Rt w5 w w12 &9, 10 fm
#r 15 fer & g o= ok € 1709, Hiee o ifa= v Ty
Tt 31 % & forae o7 H QU o € 7

CHSL 19-03-2019 I)

left work =

(A) 8 (B) 4
(C) 2 (D)6
2 Solution (B) =
R 12 Efficency
M 10%60  °
G 15 6
4
_ @ =4d
15 y

170. Kamal and Anil can dig a pond in 8 days and
14 days, respectively. If the total expense of
digging is ¥ 4400 then how much money will
Anil earn ?

FHA IR ST . 8 & 7R 14 f o v aem B
TH € | I T 1 F B T 4400 F, @ s1fe e
1 AW ZCHSL 19-03-2019 11)

{A) T 1500 (B)¥ 1300
(C)T 1600 (D) ¥ 1400
# Solution (C) =
7 Kamal -8
4 Anil - 14 =56
440 x 4
Anil's share = ———— = 1600

11

171. Ravi can complete a task in 6 days and Mohan
can complete the same task in 9 days. [In many
days can Ravi and Mohan together complete
the same task ? (CHSL 19-03-2019 III)

e ot o i 6 6 H T 9 T € of Hee = w e
w1 9 ToA | 70 o T § | 4 S FiEA e e faee

(A) 15 days/f&T (B) 3 % days /T

3 N N
Q) 35 days/fe (D) 9 days /T
2 Solution (C) =
3« R—6
2«M-=>9 LCM =18
Mohan & Ravi together work
18 3
=5 = 97 days

172. 15 mencancomplele a lask in 10 days. In how many
days can 20 men complele Lthe same Lask ?

15 ST Tk FE 10 T o 0 o € 156 e

20 STt fofer for ® g0 e 9 7
(CHSL 12-10-2019 I)
(A) 6.5 days/ faa (B) 7.5 days/ T&
(C)5.5 days/ 5 (D)8.5 days/ fea
2 Solution (B) =
ATQ,
x 10
Required days = 50 - 7.5 days
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173. 30 men working 8 hours per day can dig a poad in
16 days. By working how many hours per day can
32 men dig two same ponds, in 20 days?
wfafeT § ¥ e T A 30 79 T T 16 T
I ke © | 32 G Al SHT arere &1 20 el # @ied &
femn wfafe e =iz = *e 4/ ACHSL 12-10-
2019 1I)
(A) 6 hours per day/ 9fafee 6 =i
(B) 5 houts per day/ Wiafe 5 5
(C) 7 hours per day/ afdfed 7 =
(D) 8 houts per day/ fafeT 8 w2

£ Solution (4] =

8x30x16

Required flours = 30 20

=6 hr/day

174. Shvam can complele a lask in 12 days by working 10
hours a day. How many hours a day should he work
to complete the task in § days ?
% feA # 10 ¥e %/ F3d gu, 9 fadlt %@ =i 12 /=
H qu e weRa ¢ |8 Tea o & gu e % faw 39 U e
T PR e T T Ame (CHSL 12-10-2019 I1I)
(A)14 (B)16
O12 (D)15

£ Solution (D) =

10x12

Required hours = =15 hr

175, 3menand 8 women can complete a task in 34 days,
whereas 4 menand 18 women can complele Lhe same
task in 28 days. In how many days can the same task
be completed by 3menand 5 women ?

5 v #iR § wfeent fart & m =i 34 fedl § 0 = v
&, Fafer 4 Teui S 18 i H1 6 M & W He §
28 Tt o1 o T & 1 3 R o7 5 wiaemed gt w e

1 QU H T feT w7\ e 7

(CHSL 13-10-2019 I)
(A) 64 (B)72
(C) 36 (D) 36

£ Solution (C) =
ATQ, 34(5m + &w) = 28(4m + 18w)

m 232 4

w88 1
= Total Work = 34(5 x4+ 8 x 1) =28 x 34
So,

28 x 34
Required time = m= 56 days

176. A can [inish a picce of work in a cerlain number of
days. B takes 43% more number of days to finish the
same wotk independently. They worked together for
58 days and then the remaining work was done by B
alone in 29 days. In how many days could A have
compleled the work, had he worked alone ?

A Tl v &1 we Fifysd foAl o qu aar €\ B ) e
T H S EE B EAH 45% S 7 o E 2
wner fierent 58 T o 90 % %1 %% § i 9w &l =t
B o7ekat 29 fed! ¥ 0 @ € | 3T A 37k d TR #LAl
TE 39 W H TR a1 | 70 L WeR ?

(CHSL 13-10-2019 II)

(A) 110 days/ & (B) 118 days/ &
(C)Y8 days/ fe= (D) 120 days/ f&a
2 Solution (B) =
A : B
Eff. 145 : 100
=29 : 20

Total work = 58(29 + 20) + 29 x 20
= Time taken by A

_ 58x49+29x20
- 209

=118 days

177. Tap A can fill a tank in 6 hours, tap B can fill the
same Lank in 8 hours and lap C can emply Lhe same
Lank in4 hours. Il all thee laps A, B and Care opened
Logether, thenhow much lime (inhours) will be laken
to fill the tank ? (CHSL 13-10-2019 III)
TA A, TF 2F B 67 H ST THAE, 7T B, SH SR H8
He H R A © i A C, T fw i 4 W H welt W
T | A e A T A, B $IR C ol U W fe
W, T FE o H e weg (5 ) = ?
(A)24 (B)30
(C)28 (D)20

# Solution (A) =

4 A 6
3 B 8>24
-5 C 4
B 24
w4 436
178. Tap A can [ill a lank in 20 hours and lap B can [ill
the same tank in 30 hours. If both taps are opened
together, then how much time will be taken to fill the
tank ? (CHSL 14-10-2019 1)
I A, TRt St 1 20 se H W weka & o 9 B, 34
ol 1 305 T W Heha1 & | A{g ST e U w1 el I

SoT = 24 hr.

¥ T I H e W e ?
(A) 10 hours/ < (B) 16 hours/ <
(C) 12 hours/ e (D) 24 hours/ 52

# Solution (C) =
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3 A 20
D>60
2 B3
60
3+2)= 12 hours

- T(A+B)=

—

179, f 27 people, working 8 hours a day, can complete a
task in 12 days, then in how many days will 18 people
finish the task, working 9 hours a day ?
7z 27 AU e | § 7 FwW w0 g 12 7 H ww w e
TR TR €, T8 A T H Y e R S
M %! foret feA o 70 %41 7(CHSL 14-10-2019 I1)

(A) 18 days/ f&a (B) 15 days/ T&
(C) 16 days/ &= (D) 20 days/ &=
# Solution (C) =
equire avs = 18x0 ays

180. Ramu works 4 Limes as (asl as Somu. If Somu can
complete a work in 20 days independently, then the
number of days in which ramu and Somu together
can complete the work is :

T T ® 4 T 9 FH FIE TR W STk 36 HH
=1 20 fell H§ AR T E @ 99 <R I oo =9 W
= T fedl  qu =41 | (CHSL 14-10-2019 III)
(A)5 days/ f&7 (B) 4 days/ &3

(C)6 days/ f&a (D)3 days/ f&

#{ Solution (B) =>
20x1
Time Required = m = 4 days

181, Tap A can fill a tank in 6 houts and tap B can empty

Lhe same lank in 10 hours. If both Laps are opened
Logether, thenhow much lime (inhours) will be laken
Lo [ill the Lank ?
TA A TH 5 H1 67 H o THA &, T T B 3H TF
= 10 He § @ell & T € | A SFT Tl 1 U
e fem o, @ F oW 9 ¥ e wem (w9 )
T ACHSL 15-10-2019 1)

(A)15 (B)18
(G20 (Dy16
2 Solution (A) =
5 A 6
-3 B —10> 30
30
TA-B)= E—IS hr.

182. A cando a workin 12 days and B can do lhe same
work in 16 days. Il Lhey work on il Logelher [or 4
days, then the fraction of the work that is left is:
ATmFE w12 7T H ok Bt wm = 16 7 & ==
T T | S A T A 4 el ao sy % T, 4
M 1 FHa AN 39 T S ?

(CHSL 15-10-2019 II)

(

®

n |

(A)

; 7
© o D) ¢

# Solution (C) =

4A 12
>48 = Total work
3B 16

Work done in 4 days
=4 x (4+3) = 28
The fraction of the work that is left

48 -28 5

T T8 T 12

183. How many men will be required Lo plough 30 acres
of land in 10 days if 15 men required 6 days to plough
10 acres of land ?
afg 15 =afaal =l 10 Teke vfa e 1 6 fed o €, 4150
e gfF w10 A H S % e e =t =t
SAEvHH B 7 (CHSL 15-10-2019 III)
(A)45 (B)40
(C)55 (D)50

# Solution (A) =

M,D, M,D,
W, W,

_ 15><6><50_

= M= Tox10 P

184. Raju can finish a piece of work in 20 days. He woked
al il for 5 days and Lthen Jakob alone finished Lhe
remaining work in 15 days. In how many days can
both finish it together ?

T U F1 i 20 feA H T R W § 139 39 W5 feA
T TR | 557 e 99 o o Sihe 7 et 3115 e A
T T3 1 3 S O e T =9 i ) e A E 4w

WS © 7 (CHSL 16-10-2019 1)
(A) 10 days/ f&a (B) 12 days/ T&=
(C)16 days/ &= (D) 20 days/ T&

# Solution (A) =
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Raju can finish a worlk in 20 days work
completed by Raju in 5 days

_o 1

T 20 4

R;emajnlng work =1 - 2" 2

—th work completed by Jakob in 15 days

4
S0 Jacob will complete the whole work

4
=15 = =20 days
W
Raju — 20~ 1
>20
Jacob - 2071
20
Total days = 5 10
185. A and B separalely can build a wall in 12 and 16
days, respectively. If they work for 1 day alterna-
tively, starting with A, in how many days will the
wall be buill ? (CHSL 16-10-2019 II)
A #R B s13e-oThe fREl Sem =1 Fem wee: 12 #R
le T # = opa € 1| A 9 3% w0, 9% 7 F-ar
Tk T ¥, @1 A e ° SeR e e g a
e ?

(A) 7% days/ & (B) ]2% days/ feA

(©) 135 days/ T (D)6 days /

#7 Solution (C) =>
A 124
>48

B 1673
Total work = 48 units
If we start with A then work done in 2 days
=4+ 3 =7 units
2 days = 7 units
12 days = 42 units
13 days = 46 units

Remaining 2 units will be completed
within 2/3 day

b

a2
3=

Then Total days = 13 +—- =1

3

186. A alone can complele a lask in 3 days and B alone
can complele the same lask in 6 days. In how many
days can A and B complele il Logrether ?

A 37 T S 1 3 feA o 9B othet s Al 6 A
H W HRA L | A 3R B afs o faee wE s a1 ew
=M I T o7 H R @ CHSL 16-10 | S-11I)
(A6 (B)1
()3 (D)2

# Solution (D) =
A 32
>6
B &7

Total work = 6 units

6
Days = m= 2 days

187. A can complete a task in 18 days while B can com-
plete the same lask in 12 days. Il both work Logelher
[or 6 days and Lthen A leaves. In how many days will
B complete the remaning task ?
ATFFMEE 18 T H, S@fF B ST wM ® 12 TF 5 70
L HHRAT & | TG ST A A 6 Ter qom, v # & fawa o
T A ™ SIeF =er 7=, @ B &1 99 T % F 90

FHH fFai feA &2 (CHSL 19-10-2019 I)
(A) 3 days/ &7 (B) 6 days/ &7
(C) 2 days/ & (D)4 days/ &

2 Solution (C) =
2 A 18
> 36
3 B 12
Remainig work after 6 days= 36-(2+3)x6

6
Required time = 3 2 days

188. 10 men working 3 hours/ day carn T 300. How much
money will 15 men working 10 houtrs/ day earn ?
5 w2y fa e % A 10 799 3 300 FAE 11075
wid fea s & arel 15 e faRd AT (CHSL 19-

10-2019 1I)
(A)T 900 (B) T 600
(YT 800 (D)T 630
# Solution (A) =
) _ 15 x10x 300
Required Amount = “axl0 7900

189. Amirand Akbar can [inish a lask in 30 days and 15
days respeclively. Akbar worked on Lhe lask for 8
days and left the job. In how many days can Amir

Study Center : Jaipur « Gopalpura: « Lalkothi » Jhotwwara + Ambabari » Atwar « Udaipur

alone finish the remaining work ?



Mother's Previous Years Question Booklet = Time & Work

AR iR aToFeR Tk T SFEeT: 30 @R 15 e [
RS ¥ | 5FR 7 § 67 9% T8 W W w1 F a9R w5
e foar | ot a9 HE w0 AR R e § T
TFA E 2(CHSL 19-10-2019 I1I)
(A) 14 days/ f&T (B) 15 days/ T&
(C)16 days/ &= (D) 17 days/ T&

# Solution (A) =
Ammnir 30 1

30 = Total Work

15 2
Akbar worked for 8 days =2 % 8 = 16 units

Akbar

Left Work =30- 16 =14

14
Remaining work done by Amir = 1° 14 days

190. A and Btogether can complete a piece of work in 15
days. B and C together can do it in 24 days. If A is
Lwice as good a workman as C, then in how many
days can B alone complele the work ?
A @R B sk W9 Tyt Tt el =1 15 a7 ° m
T & | B 3R C 0 1 oot =4t e 1 24 A &
FLEHAE 1A A FHFE R PRI C A TAE, @
B 3Thet 39 T ! TR G | U R THAE ?

(CHSL 20-10-2019 I)

(A) 40 days/ f&a (B) 60 days/ &
(C) 32 days/ f&= (D)45 days/ f&7
#{ Solution (B) =
8« A+B=15
LCM =120
S« B+ C:24>
A+B=8 (i) ~A=2c¢
B+C=5 (ii)
A-C=3
C=3
B=2
A=6
120
B work 5 T 60 days

191. Aand Bworking together can do 30% of the work in
6 days. B alone can do the same work in 25 davs.
How long will A alone Lake Lo complele the same
work ?

A &t B Troret =™ = g el & = 30%, 6 A |
T F THRC € | B RS TH T HT 25 T T T
21 IH wW W A U R H A W fHEa e
T ACHSL 20-10-2019 II)
(A) 75 days/ f&a (B) 60 days/ T&
(C) 80 days/ g (D) 100 days/ feA

# Solution (D) =

LCM = 100

100
T30
5« A+B=20
4« B=25

x6 =20 days

A= - - 100

192, Anlony and Vikash Logether can complele a picce of
work in 20 days and Vikash alone can complele il in
25 days. In how many days can Antony alone com-
plete the same work ?
Tl 81K o we M &1 U wr i 20 fedi 6 91
A & 3T T 9 R 3R faree 25 Rl ¥ qu AR
T & | Ul T 3T%hel 39 F10 & 90 e | T e

TRIHFAE ? (CHSL 20-10-2019 III)
(A)90 days/ feA (B) 80 days/ &7
(C) 100 days/ &= (D) 110 days/ e
# Solution (C) =
S—A+B=20
4« B=25 LCM = 100
_ 100
1
A =100

193. A ¢an do a work in 15 days and B can do il in 10
days. Il they work Logelher for 4 days, Lhen Lhe [rac-
Lionof the worklefLis:

A forslt @ ol 15 &7 ¥ U @R wona © 31 B 35 ®m &l
10 T & 90 = Tk § 1 91 9 4 A 7w e faem
(CHSL 21-10-2019 1)

3 2
(A) 1 (B) 3
1 1
(&) 3 (D) 1

# Solution (C) =
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4 — A—15 4—A—15
>60 6—B—10>60
6 — B —10 Two day work = 10 x 2= 20
Work of 4 days Remaing work = 60 - 20 = 40

4 x(6+4 =40
Remaining Work = 60 - 40 = 20
20 1

Remaining Part = @= 3

194. A islwice as good a workman as B and Logelher Lhey

finish a picce of work in 22 days, inhow many davs
will A alone [inish the same work ?

A, B ¥ T TS & i S S ek e e Rt e
w1 22 T o g w ¥ | 5T A, =T e R R o
T M (CHSL 21-10-2019 II)

197.

40
A= T = 10 day

Total time = 10 + 2 = 12 days

Ravi and Mohan together can complete a task
in 3 days. Ravi alone can complete the same
task in 7 days. How many days will Mohan
alone take to complete the same task ?

T iR v v W frs w3 T d e € 11
TR TE HE B 7 T H wan € o 5 oo 39 mH

(A) 11 days/ ﬁﬁ (B) 44 days/ & | fra fer 9 #0m | (CHSL 26-10-2019 I1)
(C) 30 days/ T&a (D) 33 days/ &3
£ Solution (D) = 51 41
A= A+B - 2266 (A) ) days (B) 5 days
66 (C) 10 days (D) 4 days
A=5=33 # Solution (A) =
195, Aand Bcandoaworkin12days, Band Ccandoit 3 N
in 15 days and C and A can do it in 20 days. If A, B T 1= 3 days Lem = 21
and C work together, then they will complete the /«<—R + M
same work in;
AR BUwm ®W = 12 & H QU A €, BIRC W fe R =7 day

15 A A U 9 € eIRC R AT 20 A d e
Td & 147E A, B 2R C ush W fiea 0 g & o 32
39 &M & 0w H fwad fea @i ?

(CHSL 21-10-2019 III)
(B) 5 days/ T&7
(D) 14 days/ T&7

(A)12 days/ T&
()10 days/ f&7

#7 Solution (C) =>

A+B—12\5
B+C—1524—60
C+A—20

198.

21 1
Mohan = e days = 51 days

A and B working together can do 45% of the
work in 9 days. A alone can do the work in 30
days. How many days will B alone take to do
the same work ? (CHSL 26-10-2019 III)
A SR B T 91 Fh 45% w1 w1 9 fai o gama ==

TFE | A TFeT mA I 30 o & we w1 € | B o

A+B+C=75x2=10days (A) 60 days (B) 70 days
196. A and B can do aworkin 15 days and 10 days (C) 48 days (D) 50 days

respectively, They begin the worlk together but
B leaves after two days. Now A completes the
remaining work. The total number of days
needed for the completion of the worl is :

A¥RB, 15 fA s 10T d o wm = T €|
FIE: A TR T B IE A € | GfE 9 A o B
et SR ¥ | 378 A WU T € | I W TR f |

# Solution (A) =

A+B d £—9
can do 100

1—¢©
Acando — 30>
Q

&l (CHSL 26-10-2019 1) A+B— 20
(A) 15 days (B) 18 days _
(C) 12 days (D) 10 days B cont do the work < %0 o

#7 Solution (C) =
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Exam Date : 1 July, 2019 | Shift - 3

199, A and B can complete a task in 25 days. B

1
alone can complete 333% of the same task in

15 days. In how many days can A alone com-

4
plete Eth of the same taslk ?

A iR B et % 1 25 T § mo R W # 1 B ovhen

; 1 N . .
SEEHF & 3320 A 15 o H g0 w8, 9 9

Y A TR 39 F I Fmﬂmfﬁler- T & quwem ?
3
{A) 15 (B) 10
({C) 18 (D) 12
2 Solution (A) =
1
B— €_> 15 days
=B 45 days
=>A+B —>25days
Using formula to calculate work done by A

hich i XxXY
which is ——
A 25%x45
= A=
A _25><45Xi
4 20 15 = 15 days

13

¢ Exam Date : 2 July, 2019 ¢ Shift : |

200. If 30 persons take 10 days to complete a cer-
tain work working 8 hours a day, then 40 per-
sons should work how many hours a day so

that the work is completed in 6 days ?
7fE 30 =i Tt 8 w< % % gu et %9 % 10
et # U % €, 1 40 =il & wiates fHa 5e wM

A E I Al A T 6 oA B g 7
(A) 6 (B) 10
(C) 8 (D) 12

2 Solution (B) =
30x8x10=40xux6

_ 30x8x10

40x6 10

=

¢ Exam Date : 2 July, 2019 + Shift : 1l

201. A, B and C can finish a task in 42 days, 84
days and 28 days, respectively. A started the
work. B joined him after 3 days. If C joined
them after 5 days from the beginning, then
for how many days did A work till the comple-

tion of the task ?

A, B 8 C Um %W &l A 42 A, 84 feA 81w 28 A
H U R TEHA € I A | FW Y A 3 e Ag B 3wE
1 S T | SRS & B & 5 e =% C i 5ok w1
I3, W FH YU B G A A T 57w fopan 2

(A) 20 (B) 15
(C) 17 (D) 18
2 Solution (C) =
A—— 12 )
B > 84— 84
C—— 28 5
A (A+B)., (A+B+Q),
6 6 ! 72

Work done by A (Time) =3+ 2+ 12 =17

*= Exam Date : 2 July, 2019 = Shift : 1l

202. A and B, working together, can complete a work
in 16 days, C and A together can complete it
in 32 days. B and C together can complete it
in 24 days. They worked together for 12 days.
In how many days will C alone complete the
remaining work ?

A 3R B e W& F1H X gU fondt 6w &0 16 & ° @
FIFAE, C IR A faerRt 780 32 A 6 70 9k
B 3t ¢ fHert o8 24 & o 70 o wekd € 1 S 12
Tl 7% Tk T T A1 | 5 g0 AW R C o R

i & TR ?
(A) 40 (B) 36
(C) 45 (D) 32

2 Solution (B) =

A+B —3165
CH+A—>32 2 >>9%
B+C — 524

13

DL = 2

(A+B+C)

13
(A+B+C) ,= > x12=78

Remaining work = 96 - 78 = 18

18

No. of days taken by C = = 36

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689 +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions Booklet = Time & Work

¢ Exam Date : 3 July, 2019 ¢ Shift : |

¢ Exam Date : 3 July, 2019 « Shift : 11l

203. Pipes A and B can fill a tank in 8 hours and 12
hours respectively whereas pipe C can empty
the full tank in 6 hours. A and B are opened
for 3 hours and then closed and C is opened

instantly. C will empty the tank in :

T A SR B farsit S & A 8 He o 12 W H R
THA €, S 8T C TU 5% 6 5 H Tell T HEa S 1A
AR B 1 3 ¥ % AU Ben o € iR ffw o o T
S & qe1 C ® gia wd fomn s €1 ey ¢ I
e e & et e ?

(A) J%hours/ e (B) %hours/a%

1 . 3 -
(C) 35 hours/ =< (D) 3Ih0urs/ He

£ Solution (D) =

A —>8 =3
B —:»12%24

C'—s0
(A+B),=5x3=15
= E:qj hours
Time 4 _J__

¢ Exam Date : 3 July, 2019 » Shift : 1l

204. A and B together can do a piece of work in 10
days. B and C together can do it in 15 days
while C and A together can do it in 20 days.
They work together for 8 days. C alone will
complete the remaining work in :

A 3T B o SRt m &1 10 B & | aFa & | B iR
C oot SE M 15 feAl § L Hehd & Wt C A
faem 38 20 T e wma € | A medt 8 57 oo v Ey
FH I E | C 1T 39 FE F TRe = & 1w 2
(A) 12 days (B) 3

(C) 16 days (D) 2
#7 Solution (C) =

A+B ——>10~s
B+C —>15% 60
C+A —>20

13 1

13 _
+B+C) = — —=6=
(A+B+C)j= 5 =5C > — =6

(A+B+C),= %xsz.sz

8
Remaining by C, = m = 16 days

205. 18 men can complete a work in 9 days. After
they have worlked for 5 days, 6 more men join
them. How many days will they take to com-

plete the remaining work ?
18 %9 ToRdt &9 w1 9 T & qu s 9% § | 5 fafi 7%
A R 915 6 3T TH9 39 W § | 99 gu W R

o e A 7 et e @i 2
Al 3 B 2l )2 D '%l
(a) B) 25 (© (D) 3
# Solution (A) =
18x9=18x5+24 x ¢
18 x4 =24 xqn
=3
¢ Exam Date : 4 July, 2019 * Shift : |

206. A can do 40% of a work in 6 days and B can do
30% of the same work in 3 days. They started
the work together but B left after 2 days and A
continued to work. In how many days was the

entire work completed ?

A ot = =1 40% B foi 6 = v § i B 3%
HH 1 30% T A § X Twa ¢ 1 S 7w T
THeTR W T 3F fife, wifFa @1 fedf R e B 3 %W
oIg femn oit A 9 =@ 99 W@ 9u ® W fea &= Ao

O g ?
{A) 10 (B) 12
(C) 9 (D) 15
2 Solution (B) =
A ix100 =15 2
T '
_ 30
B— “Ux'lou =10 3
(A+B),=5x2=10
20
Hemaining = ? = ]'O days
Total work = 10+ 2 =12
¢ Exam Date : 4 July, 2019 + Shift : 1l

207. A, B and C can complete a piece of work in 10,
20 and 60 days respectively. Working together,
they can complete the same work in how many

days ?
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A, B 3iR C ft M 1 99 10, 20 3R 60 i H 70
TG € | THE fAETR B F 5, o SH B H

fopam fef & QUi 2
(A) 5 (B) 6
(C) 10 (D) 8

2 Solution (B) =

A —>10~8
B —>20 ——>60

' ——»60
=>A+B+C=10

¢ Exam Date : 4 July, 2019 « Shift : 11l

208. A, B and C can complete a piece of worlk in 4,
28 and 56 days respectively. Working together,
they can complete the same work in how many
days ?

A, B 3R C T8t M = 9 4, 28 3 56 & 5 7
Y UFA © | Uk W T =W = W, 5 36 w0 %)

TR foal o g AT T ?
3 1 1 3
A5 B35 (@55 (D)3
# Solution (D) =
A —>4 ~ 14
B —>28 %56
' —56
e = 45
e T 97717
* Exam Date : 5 July, 2019 = Shift : |

209. A, B and C can complete a piece of work in 5,
20 and 60 days respectively. Worlking together,
they can complete the same work in how many

days?
A, B &R C T M F1 9%: 5, 20 3k 60 T # 7
FT TFT £ | T THerT W R W, § 4 6

fore feAl A QU wrd € 7
1 3 ] 3
(A) 3 (B) 37 €57 M>3]

#{ Solution (B) >

A—>5~.12
B —>gg>60
C—>60

A+B+C=16

60 15 .3
1 =—:—:3_
Time = 0= 3773

¢ Exam Date : 5 July, 2019 ¢ Shift : 1l

210. A, B and C can complete a piece of work in 4,
20 and 60 days respectively. Working together,
they can complete the same work in how many

days?
A, B #iR C s 4, 20 iR 60 fei 9 et sm = g
Y TR & | Tk WY ot M Fd gU A SHT A @

TR feAf Ay mra § 2
3 1 1 3
(A) 5E (B) SE (C) 5E (D) SE

# Solution (D) =

A—>d 13
B_,Z(,}ﬁo
C ——60
A+B+C=19
60 3

¢ Exam Date : 5 July, 2019 « Shift : 1l

211. A B and C can complete a piece of work in 4,
20 and 60 days respectively. Working together,
they can complete the one third of the same

work in how many days ?
A, B iR C fg! &m =1 %59 4, 20 60 A § g
T HFS € | T T T M F0F 3 TH B F T

e o =t fra forfi & QA wwa €2
L3 1 3 L1
Wiy B lg © 5 D23

#{ Solution (B) >

A—>4 13
B —>gg>60
C—>60

A+B+C=15+3+1=19

. 60

Time = 19
F third k= 60 —@—1l
or one third wor = Tox3 19 19

*+ Exam Date : 8 July, 2019 * Shift : |

212, A and B can complete a piece of worl in 15
days and 10 days respectively. They got a con-
tract to complete the work for ¥ 35000. The
share of A (in ) in the contracted money will
be:
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A 3Tt B farstt =0 =1 w15 iR 10 & § o

¢ Exam Date : ¢ July, 2019 * Shift : |

TFd § | 3% T 35000 T 1 T FH F I (FLH)
e | 3 = ot § A 1 fewmn (TH) Fm:

(A) 7000 (B) 15000
(C) 14000 (D) 21000
#7 Solution (C) =
A B
ODW 10 15
2:3
35000
—Xx2=14000
*+ Exam Date : 8 July, 2019 = Shift : 1l

213. A and B can complete a piece of work in 15
days and 10 days respectively. They got a con-
tract to complete the work for ¥ 35000. The
share of A (in T) in the contracted money will
be

A ¥R B fFHt Fm A w15 fF i 10 fRi H quaw
THA & 132 T 35000 H FR G LA A1 S (FI~F)
e | 5% =1 A H B % fewmw (T ) fFamEm ?

(A) T 15000 (B) ¥ 14000
(C)T 21000 (D) T 7000
£ Solution (C) =
A B
Eff. 10 15
2 3
35000
= x 3 =21000
5
¢ Exam Date : 8 July, 2019 « Shift : 11l

214. A and B can complete a piece of work in 15
days and 10 days respectively. They got a con-
tract to complete the work for ¥ 75000. The
share of B (in ) in the contracted money will
he :

A ¥ B forft m 1 shen: 15 i oft 10 i ¥
Tehd € | T & %1 T 75000 H g0 FA T o 3 o
(wigae) Toerm 13% 1 afa | B %1 fe= (3 ) 3rm

(A) 35,000 (B) 40,000
(C) 45,000 (D) 30,000
£ Solution (C) =
A B
Eff. 10 15
2
= P 5~ 45000

2

215. A and B can complete a piece of work in 15
days and 10 days respectively, They got a con-
tract to complete the work for ¥ 75000. The
share of A (in I) in the contracted money will
be:

A 3T B Tt s =l shm: 15 et oie 10 f&Af 4 qu e
Tk © | TR 11 A T 75000 H g0 e F faw 5= g
(wige) faem <% =t afn § A =1 fewm (3T ) 2

(A) T 45,000 (B) ¥ 30,000
(C) ¥ 40,000 (D) ¥ 35,000
#{ Solution (B) >
A B
Eff 10 15
2 3
75000
A= ——x2=15000 = 2 = 30,000

¢ Exam Date : ¢ July, 2019 + Shift: 1l

216. A earns T 100 per hour and works for 8 hours
per day. B earns I 120 per hour and works for
6 hours per day. The ratio of per day wages of
B to that of A is:

A TfFHE T 100 FHE § 3R wiafes 8 = &\ Fa 2
B AT 5 ¥ 120 UM E &R wiafed 6 52 #HH@E | B
3 A =t wfifer = Asgd =1 STwE €

(A)10:9 (Bj4:5
C)5:4 (D)9:10
2 Solution (D) =
B A
120 x 6 100 = 8
6x6 5x8
9 : 10

* Exam Date : 9 July, 2019 = Shift : 1l

217. If A, B and C can respectively complete a piece
of work in 20, 24 and 36 days respectively, how
many days will they take to complete the work,
if they work together?

A, B 3R C farslt wm a1 e 20, 24 3R 36 i # qu
T € | AfE F whEe ARt e e E, @ %
T H 3% A i et ?
16 1

13 B 6y

8
(A) I
2 Solution (A) =

C9l
©95
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B—>24%36‘0

14

C—>736

(A+B+C)_ =18+ 15+10=43
, 360 16

Time =~ %5

*+ Exam Date : 10 July, 2019 = Shift : |

218. If 16 men working 12 hours a day can com-
plete a work in 27 days, then working for how
many hours a day can 18 men complete the
work in 24 days?

16 g%u, gfafed 12 ¥ @M Fd gy, fdl =M & 27

M W
Eff. 2 1
(Bm + 2w)2 = (W)cl
B3x2+42x1)2=1xu
=16

¢ Exam Date : 11 July, 2019 » Shift : |

221. A can complete a piece of worl in 20 days and
B can complete 20% of the work in 6 days. If
they work together in how many days can they
finish 50% of the work, if they worl together?
Afrdiem i 20 T A osa 2 sitB =@ wm &
20% %1 6 fel ® QU = W € 1 3k 9w o fiee
T H €, T 50% FM F e e o o e aek § 2

18 &0 3 1 1 24 Tl § g wwa € 7 @12  B)6 (€) 8 (D)9
(A)9 (B) 18 & Solution (B) =
(C) 16 (D) 12 A - 20 B 30
2 Solution (D) = 20% 30
16 x 12 x 27 =xx 18 x 24 A+B= _0“ =12=>[A+B]50%=6
16%x12%27 2
=X= TS = ¢ Exam Date : 11 July, 2019 s Shift : 1l

¢ Exam Date : 10 July, 2019 « Shift: I

219. If 40 men working 12 hours a day can com-
plete a work in 8 days, then how many work-
ing 4 hours a day can complete the same work
in 16 days?
7t 40 J%m Uil 12 = F@ Fd FU fosl &l 8
Tt H ot 2 W ¥, fpa 9o Wfafed 4 72 % W BT
et & %1 16 oAl # qof s wed €2
{A) 50 (B) 60
(C) 54 (D) 45

2 Solution (B) =

40 x 12 x8=x%x4x 186
x =60

*+ Exam Date : 10 July, 2019

« Shift : 1l

220. [t is given that men twice as efficient than
women in respect of doing a work. [f three men
and two women can complete the work in 2
days, then in how many days can a woman
working alone complete the work?
A i = A ) R U R A il e £ B A e 1
TU R Tieen =0 & =1 Frae 5 | 9o = wadt & 2
1
(C) 105

w125 (B)16 D)8

#{ Solution (B) >

222, An inlet pipe can fill a tank in 10 hours and
an outlet pipe can empty the completely filled
tank in 20 hours. Both the pipes are opened
at 6.30 am. When will the tank get filled?

T T UEY OF 5% ® 10 W2 H | wwmar & oK wet
T A TEY, T E T 91 g I % 20 W H et w1
THRAE | SET R AT 6.30 I WiET A E | FF FA W
T ?
(A) 2.30 am next day / 37T {7 gag 2.30 9
(B) 2 am next day / 379 fed o7 2 =
(C) 1 am next day / =7 fed g 1 o=
(D) 12.00 midnight / T&a0ta 12,00 ==

2 Solution (A) =

A—=>10 2
>2(1
B'—>20 ~1
) 20
Time = EY = 20 hr.
0:30+20 hrs = 2:30 next day

¢ Exam Date : 11 July, 2019 + Shift : 1l

223. A, B and C, alone can do a piece of work in 9,
12 and 18 days respectively. They all started
the work together, but A left after 3 days. In
how many days. was the remaining worl com-
pleted?
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A, B 3 C =1kl forddl & sl sH9r: 9, 12 iR 18 et
T g0t o FeR | 59 9l A faerRe e ey R, feeg
3 fefi % o A 7 et wrg femm | P el fopem Tt & ot

A7
A) 2 B ° C u D 2
(A) 2 (B) 5 (©) (D) 5
#7 Solution (D) =
A—> 9 o,
B—}12>36
C——>18 72

All work together for 3 days
=4+3+2)x3=27Y
Remaining work = 36 — 27 = 9 next day

9
Time = 5 days

SSC CHSL (PRE) Exam, 2017

224. A, B and C together can complete a work in
25 days. If the ratio of efficiency of A, B and
C is 15 : 10 : 6 respectively, then in how
many days C alone can complete the same
work?

A, B 921 C foe o & &1 25 {5 5 90 & v
£ 14l A, B 991 C 1 FAGIC %1 3T wH: 15
10 : 6 ¥, @ C SPFen A ®d * foha 7 J e

THEAE?  (SSC CHSL 12-3-18 S§1 2017)
(A)727/6 (B) 725/6
{C)775/6 (D)745/6
£ Solution (C) =
A : B : C
15 : 10 6 Efficiency
A+B+C-25
C alone can complete the same work
_25x31 775
6 6

225. Both X and Y together can complete a work
in 12 days and Y alone can complete the
same work in 30 days. [n how many days
will X alone complete the work?

X TN Y 2 oo mF w12 e S o wa
E qATY TR SH wE H 30 KA H qua A g 1X

e e 1 fret fe 7 g e ?
(SSC CHSL 12-3-18 $2 2017)

(A) 15 (B) 20

(C) 18 (D) 16

#7 Solution (B) >

x+y—12 3
y 0 60<2
Efficiency of y = 2
Efficiency ofx =3
x alone complete the work
60 20
=3 -2
226. Xandy together can do a piece of work in 30
days. Y and Z together can do the work in 20
days. X starts the work and works for 15 days
then Y takes that work and works for 27
days. Finally Z finishes the remaining work
in 9 days. In how many days Y alone can
complete the entire worl?
X qenY Toere fat e =1 30 & 8 [ a o €1
Y Tem Z foersr 53 e w20 i ¥ e as €1 X
T SR 1 § A 15 o a &l e € oy 59
w1 1 T o & 3o 27 fam e ¥ ofaw: Z 9
=t w1 9 ol | U S § 1Y ofhen T # e

fel o o = v € 2

(SSC CHSL 12-3-18 83 2017)
(A) 60 (B) 45
(C) 50 (D) 65

# Solution (A) =

x+y=30 2

y+z=20 >6O\3
15x+y)+3y+9(y+z) =60
15 x2+3y +9%x 3 =60
30+ 3y +27 =60
dy=3
y=1

60

v alone complete the work = 1 60 days

227. 30 women do halfof the total work in 30 days.
How many more women will be required to
complete the remaining work in 10 days?

30 Hiewd wek % w1 e, 30 fert # qu di & 1 9
& ® 10 oA 9 U & & o IR fea afgand
=fEw FiMT 7 (8SC CHSL 13-3-18 S1 2017)
(A) 45 (B) 30
(C) 60 (D) 80

# Solution (C) =

m, xD, m,XxD,

w, W,

30><30_10><(30+x)

1 17
hy ]

= x= 60
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228. Two pipes canfill acistern in 28 and 21 hours
respectively and an another pipe can empty
30 gallons of water per hour. All the three
pipes working together can fill the empty cis-
tern in 84 hours. What is the capacity (in
gallons) of the cistern?
Tl e Uk 4okl hl hHTI: 28 @1 21 W H UL Wk ©
T Ueh S e Wi ser 30 Te gt el o gehar € |
TSk WY A 6 Bl dohi Tl 84 5 H WX Tkd § | I
71 e (oM §) 77 % ? (SSC CHSL 13-3-18

$2 2017)
(A) 350 (B) 450
(C) 420 (D) 480

# Solution (C) =

A—28 3
B—21>84<4

A+B+C =84 1
C=-6

) 84
Capacity = 3 x 30=420

229, Pand Qtogether can make adoorin 12 days.
They started the work together but after 8
days P left the work. The remaining work is
completed by Q alone in 7 more days. In how
many days can P alone complete the entire
work?

P a1 Q e T T 1 12 R S e ama €19
TF O FE F ARG B E, g 8 T weEm P
T BT a1 ¥ | 99 FE Q aTken 7 e3fafem e H um
I | FPIU e [ P SR e {7 i qu et waka

2? (SSC CHSL 13-3-18 83 2017)
(4) 21 (B) 24
(C) 28 (D) 32
2 Solution (C) =
P+Q-12
. 8 2
Work done by P+ Q in 8 days = 2°3
. 2 1
Remaining work = 1 - §= 3

1
Q done 3 work in - 7 days

Q done one unit work in 21 days

P+0Q-12 /7
84
0-21 — S

P alone complete the entire work

—ﬁ—QSd
=3 " ays

230. A is 40% more efficient than B. If B alone
can complete a work in 42 days, then A alone
can complete the same work in how many
days?

A, B H 40% 21 FEET € 1 T B 3R U B
1 42 fAH TR THAE, T A e = = F A

fel o g v € 2
(SSC CHSL 14-3-18 S1 2017)
{A) 36 (B) 40
(C) 30 (D) 32
# Solution (C) =
A : B
140 : 100
7o 5
5
A alone complete work = T 30 days

231. 24 men can repair a road in 50 days. [f they
are joined by 16 more men, then in how
much time (in days) the road can be re-
paired?

24 4% Ush Feh Hi WG 50 T3 | e awd ¥ 13
TR W1 16 37 J59 9 W &, o s v (R )

4

H HgF ! AT §1 ekl & 7
(SSC CHSL 14-3-18 82 2017)

(A) 28 (B)25
(C) 32 (D) 30
2 Solution (D) =
MIDI = M'2D2
24 x50 =(24 + 16) x D,
24 x50 _
40 ?
D,= 30 days

232. Manish can complete awork in 21 days and
Karan can complete the same work in 28
days. If both together work for 7 days, then
what fraction of total work is left?

T U FE R 21 1o H I TR & a9 A 39t
= 1 28 A o T g ¥ | afE 2 e 7 e
T 1A R, 71 F FA I (ke e aan gen & 7

(SSC CHSL 14-3-18 S3 2017)

3 2
(A) 5 (B) 5

7 5
(€) ' (D) 12

2 Solution (D) =

Manish —2 ya
Karan — 28>84\3
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They worked together for 7 days
Work done in 7 days =7 x 7 = 49 units
Remaining work = 84 — 49 = 35 units
. . _ 35
Fraction of work is left = 34 12
233. M cancomplete 3/4 part of a workin 12 days
and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?
M TF T 1 3/4 90 12 RA S FEmar & 9o N o6t
wE 1 2/7 9 8 G T w wwar ¥ A e T
% =1 11/ 14 i fad fea o &85 7
(SSC CHSL 15-3-18 S1 2017)
(A)8 (B)9
€7 (D)6
£ Solution (4] =

M —% —12— 16 7
112
N—2_g_ 28 N,
7
11
1a of work completed by them

_112xMhy 112
11 14

=& days

234. X is 25% more efficient than Y. If Y alone
can make a chair in 10 days, then X alone
can make the chair in how many days?

X, Y ¥ 25% o1ftrek FEETa ¢ 136 Y TRt Uk
I 10 fead & o1 Tk ¥, 91 X oThel 61 = fnae feei
o1 ek & ? (SSC CHSL 15-3-18 S2 2017)

(A)8 (B) 12
(C)12.5 Dy 7.5
#7 Solution (A) >
X Y
125 : 100
5:4

Total work = 4 x 10 = 40 unit

X alone can make chair = ?= 8 days.

235. Both A and B together can complete a work
in 20 days and B alone can complete the
same work in 36 days. In how many days
will A alone complete the work?

AT B S faerR T & @ 20 for #.0 w e €
T B 27T 6 % 36 T ¥ W aEm g 1A
TR I R R TaT H qm wom ?
{SSC CHSL 15-3-18 S3 2017)
(B) 50
(D) 42

{A) 30
(C)45
2 Solution (C) =
B - 36 == 180\5
A' s efficlency =9-5=4
A alone complete the work
_ 180

2 - 45 days

236. X boys can do a piece of work in 24 days. In
how much time (in days), 2X boys will do half
of the work?

X T U M i 24 A H # T £ | 2X T o9

= =i foras oo (AT H) # quwid 7

{SSC CHSL 16-3-18 §1 2017)
(A)6 (B) 12
(C) 18 (D) 8

# Solution (A) =

M xD,  M,xD, Xx24 _2XxD,
woowo L

D,=6 days

237. U,V and W together can make a chair in 20
minutes. U and V together can make it in
25 minutes. How much time will (in min-
utes] W alone take to make the chair?
U, VT W fAem T 35 %1 20 e § s asa € |
U @en V et 39 25 fode o = wemd € | W sTeen
3T FH & wAH | o (R °) =7 (8SC
CHSL 16-3-18 82 2017)
(A) 100 (B) 90
(C) 60 (D) 120
# Solution (A) =
U+V+W-20 s
U+v-2s 100,
W's efficiency=5-4=1
W alone take to make cheir

100
= T= 100 days
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238.

Rahul can complete a work in 18 days and
Sonu can complete the same work in 15
days. If both together work for 5 days, then
what part of total work is left?
TEA TF B F 18 T J q0 e & e | s9
= 1 15 A o e g ¥ 1 afs 2 e 5 i
S I © A P HI ET AT WO A g E 7
(SSC CHSL 16-3-18 S3 2017)
(B)11/18
(D) 8&/15

(A)7/15
(C) 7/18

2 Solution (C) =

239,

Sonu —
Work done in Sdays=11%x 5=55
Remaining work = 90 - 55 = 35
35 7

Part of work Remaining = % = E

Rahul — 18 e
90
15— N6

Some masons promised to do a work in 10
days but 8 of them were absent and remain-
ing did the work in 18 days. What was the
original number of masons?
Fo fofedl 7 wF w@ ® 10 &7 9§ 70 w0 #7921
feam o, 7%g 30 @ 8 1l o 7 99 F = 18
o7 = qu = Tean | el =1 areiaes e o o ?
(SSC CHSL 17-3-18 81 2017)
(B) 21
(D) 18

(A) 10
(C) 15

2 Solution (D) =

240.

Let the total masons = x
M, xD =M, xD,
xX10=(x-8)%x 18
10x=18x-8x 18
8x=8x 18

x=18

12 men or 30 bovs can complete a work in
72 days. How many days will 48 men and 24
bovs will take to complete the same work?

12 geu a1 30 TES U %[ =l 72 feAl 7 qu s wekd
¥ 148 759 24 oig® SH BE F 90w H A i

2 (SSC CHSL 17-3-18 S2 2017)
(A) 20 (B) 18
(C) 15 (D) 25

# Solution (C) =

12M x 72 = 30B = 72
12M = 30B

M
B

N n

(48M + 24B)D = 12M x 72
(48 x 5+ 24 x 2)D =12 x 5 x 72 = 15 days

241.

Rashika can do a work in 5 days. Rashmi
can do the same work in 7 days. Both of them
finish the work together and they get Rs.240
for the work. What is the share (in Rs.) of
Rashika?

form T H 5 T Tl € | e s e
7 Ter o R wadt | S v W et & sl qu
Y € T I wE % fom 240 T figer ¥ i

1 e (T ) 1 2
(SSC CHSL 17-3-18 S3 2017)

(A) 120 (B) 100

(C) 140 (D) 160

2 Solution (C) =

242.

Rashika — 5 i
Rashmi — 7 355

7
Rashika's share = EX 240 = 140

If 8 men can do a piece of work in 14 days,
then in how much time ({in days) will 7 men
do the same piece of work?

=fs 8 qTy fopet w1 1 14 A & wr o €, T 7 720

T w1 1 foree T (&A1 H) =ia 7

(SSC CHSL 19-3-18 S1 2017)
(A) 16 (B) 15
(C) 17 (D) 18

Z Solution (A) =

243.

M, x D, = M,x D,
8x14=7x%D,
D,= 16

Some girls can do a piece of work in 18 days.
In how much time (in days] two times the
number of such girls will complete thrice of
the work?

% TEHAl U ®E F 18 7 F = wewdt §1 5
T SRl g9 T % i e wm (D # g

T ? (SSC CHSL 19-3-18 S2 2017)
(A) 12 (B) 27
(C) 21 (D) 24

2 Solution (B) =

Let the girls = x

MIDI _ MZDZ
W, W,

xx18 2xxD,
13
D, =27 days
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244. Two pipes P and Q can fill an empty tank in
25 hours and 20 hours respectively. Pipe R
alone can empty the completely filled tank
in 50 hours. Firstly both the pipes P and Q
are opened and after 8 hours pipe R is also
opened. What will be the total time (in hours)
taken to completely fill the tank?

T qEY P A=l Q Uek Wl <okl h shHel: 25 ¥ 21 20
s T MU Hkd © | TEY R SThell U Wi g2 <! &l 50
e W @rell T Tl § | 95 a1 1189 P A= Q & @il
W & T 8 He TTEI WET R w1 Wl 5 e | et

T R R T (R H ) e ?

(SSC CHSL 19-3-18 83 2017)
(a) 12 (B) 10
(C) 14 (D) 13

£ Solution (4] =

P-25 4
- 20 100;5
k- 50 2

Pipes P and Q fill the tank in 8 hours
=4+5) %8
=9 x8=72
Time to fill the remaing tank
28
=== 4 hour
Total time to fill the tank =8 + 4 = 12 hour

245, P does halfas much work as Qin 1/3 of the
time. If together they take 15 days to com-
plete a work, how many days will P take to
do it alone?

Q forefi =l =1 o o o e €, 59 1/3 a9A o
P e %A FIA1 © | AfE Uk F14 shl QU R % fag S
F U WY FA 15 G @md €, 9 P othen =9 ®9 H

A H fefeA oA o 7
(SSC CHSL 20-3-18 81 2017)
(A) 18 (B) 25
(C) 24 (Dy 21
£5 Solution (B) =
1/
o P
T
1%
P+Q-15
o 2P
3
P_3
Q 2
. 15x5
Time taken by P = = 25 days

246, P and Q undertook to do a work for Rs.7200.
P alone could do it in 20 days and Q alone in
12 days. With the assistance of R they fin-
ished the work in 5 days. What is the share
{in Rs.) of R?
P @ Q = TRt 1 A W 7200 T H S
o | P s 3 w20 A S A g & 9 Q
STRE 39 F W 12 feg A e el € | R = wemaar 9
IZMIE FAE 5 T H R fomn | R = i (v o)

FME7  (SSC CHSL 20-3-18 $3 2017)
(A) 1800 (B) 2400
(C) 2800 (D) 2600

2 Solution (B) =

P—20 3
- 12 >60§5
P+Q+R - 5 12

4
R's share = T 7200 = 2400

247. R is 80% more efficient than S. If 3 alone
can make a book in 90 days, then R alone
can make the book in how many days?

R, S 9 80% 3aiftx gy ¢ | 9% S kel U
& %1 90 TaF ¥ o g &, 1 R o7k 36 TR

=1 TR & B o AR & 2
(SSC CHSL 21-3-18 S1 2017)
(A) 65 (B) 60
(C) 50 (D) 70
27 Solution (C) =
R S
180 100
9 : 5]
S5-90
90 x5
R alone can make the book — 5 = 50

248, If 60 boys can finish a work in 15 days by
working 8 hours a day, then how many
hours a day should 72 boys work to finish
that work within 20 days?
7t 60 TS* fFdl ®@ =1 8 = Afdfed #@ F3k 15
i A wwa E, @ 72 wew wow w20
& o e 2 T, st o i B o w2

(SSC CHSL 21-3-18 S2 2017)
(A) 4 (B) 6
(€)5 D)7
2 Solution (C) =
Mlx DIXP-[‘I=1'VI2>< D'2XT2
60 x8x 15 = 72x 20 x T,
3x15= 9xT,
T,= 5 i
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249. S does half as much work as T in 1/7 of the
time taken by T. If together they take 21
days to complete a work, then how may days
shall S take to complete that work alone?

TERm T3 1/7 979 S, T % T H e
21 f ¥, O S sTReT SE FE F R | e fam
M ? (SSC CHSL 21-3-18 83 2017)

(A) 26 (B) 27
(C) 28 (D) 32
#{ Solution (B) >
b T
T 2
s 7
T+8-21
S take to complete the work alone
21x9
== = 27 days

250. P, Q and R alone can complete a work in 12,
15 and 20 days respectively. In how many
days will they together complete the same
work?

P, Q 79 R T3¢ TF %14 1 99 12, 15 791 20
A HE T € |3 e e e w1 e R H

T AT ? (SSC CHSL 22-3-18 S1 2017)
(A) 4 (B)5
(C) 6 (D) 3.5

# Solution [B] =

LY
— 10>6O—
R 20

Time taken P, Q, R to complete the work
60

= ﬁ=5days

251. P can make a table in 16 days while Q can
make it in 20 days. Q started the work and
did that work for 5 days. In how many days P
can complete the remaining worlc?
P TR ES® 16 & o1 wman 2, wefE Q 39 20 fA
H o THa 71 Q T oWy R wan =w wE A 5
o o fiFam 1 3w o P R A AR w2
(SSC CHSL 22-3-18 S2 2017)
(B) 12
(D) 18

{A) 10
(C) 15
#{ Solution (B) >

P- D
0~ 20>80 <,

Q started the work for 5 days
QWorkin S5days=5%x4 =20

60
Remaining work done hy P = 5 12 days

252. Xcan complete 5/7 part of awork in 10 days
and Y can complete 3/4 part of the same
work in 9 days. [n how many days will both
complete 13 /21 part of the total work?

X Uk H15/7 90 10 G H # wekan & a Y st
T W 3/4 9O A H FAFKA S | T (AT
1 13/21 9 faa G99 ° #8012 ($SC CHSL 22-
3-18 83 2017)
(A) 6 (B) 4
(C) 3 (D) 12

2 Solution (B) =

> 104
X- o= ays

x—1-14 days

2 o4
y - z—9days
v—1- 12 days

x=14 >84<?

y—12
13
o1 of work done by them
13 1
=84x——=
5113 4 days

253. Working © hours a day, Manish can read a

book in 16 days. How many hours a day
should he work so as to finish the same work
in 24 days?
9 He AfdfeA %M Fak 7AW U= g5ds &1 16 a J 15
THM €1 A wE w24 9 H oA 7, W ose
yfafes fera de %M F4 =10 ? (S8SC CHSL 23-
3-18 81 2017)

(A) S (B)7
(€) 8 (D)6
2 Solution (D) =
D xT = D,xT,
9x16= 24xT,
T =
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254. 21 workers can repair a road in 40 days. If
they are joined by 7 more workers, then in
how much time (in days) the road can be
repaired? (SSC CHSL 23-3-18 S2 2017)
21 % T I %1 AT 40 &7 J 9 oo € 149
3 WY 7 3T AfE N 9 €, a fore v (et
H) ¥ WgF I AU Bl Thdl & 7

(A) 27 (B) 28
{C) 30 (Dy32
£ Solution (C)
M, xD = MD,
21 x40 = 28x D,
D, =30 days .

255. 18 men or 25 boys can complete a work in
25 days. How many days will 36 men and 10
bovs will take to complete the work?

18 &9 7 25 TS UF 1 &1 25 Tl ¥ g ¥ |
36 @9 721 10 TIg% IH FE %1 G0 FC A {had T
1 ? (S8SC CHSL 23-3-18 S3 2017)

o 122 g 12
(A) 17 (B) 1
115 125
(<€) TS (D) ETa
£5 Solution (B) =
18M =25B
M_25
B 18

(36m + 10B)D = 18m x 25
(36 x 25 +10 x 18)D = 18 x 25 x 25

_ 18x25x25 25x25
- 1080 60

_25x25 135

12 12

256. M takes 60% more time than N to complete
a wall. If together they complete the wall in
24 days, then how many days will N alone
take to complete it?
M T ER I B H N F 60% Ak amg e €|
qfc & frem sH AR #1 24 g A w=w €, @ N

ST = T fre e
(SSC CHSL 24-3-18 S1 2017)

(A) 36 (B) 39

(C) 42 (D) 34

#7 Solution (B) >

M N
160 100
8 : 5 Time
S5 : 8 Efficiency
M+ N—24
N alone take to complete work

 24x13
8

=39

257. 50 men can complete a work in 28 days.
They started the work together, but at the
end of each 10th day, 10 men left the joh.
The work was completed in how many days?
50 sTeHl s % i 28 o § yu e wehd € 1T
Tk WY fieTent & ], v T 109 fea s ofa |
10 s =R Big o4 ¥ | SR fe & 7 qu gen
2 7 (SSC CHSL 24-3-18 82 2017)

{A) 36 (B) 38
(C) 40 (D) 45
2 Solution (C) =
Total work = 50 x 28 = 1400
First 10 days work done by 50 people
= 50x 10 = 500
Second 10 days work done by 40 people
=40 = 10 =400
Third10 days work done by 30 people
=30 x 10 =300
Fourth 10 days work done by 20 people
=20 x 10=200
Total = 1400
The work complete in = 40 days

258. A certain number of men can complete a
boolk in 10 days, if there were three more
men, then book could be completed in 2 days
less. How many men were there in the be-
ginning? (SSC CHSL 24-3-18 83 2017)
P oY Rt Tw w10 i e e € 3l
T 759 @i g, 9 T B W R ¥ 2 fe7 w
T | AR H TR 7w 92

{A) 8 (B) 15
(C)12 (Dy 10
# Solution (C) =
MIDI = ng D2
xx10=(x+3)*8
Sx=4x+ 12
x= 12 days
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259. X and Y undertook to do a piece of work for
Rs 5400. X alone could do this work in 18
days and Y alone could do this work in 24
days. With the assistance of Z they finished
the work in 8 days. What is the share (in Rs)
of Z? (SSC CHSL 25-3-18 81 2017)
X @Y 9 fohefl s /I A H1 5400 T | S
foram | X erhell 36 & &l 18 foF 8 921 Y s1ohen 36
=i i 24 o § FAFA © | Z F WEEA E ST T8
= 8 To & wu = foran | Z w0 femm (v °) 7 ?
(A) 1200 (B) 1500
(C) 1600 (D) 1800

2 Solution (A) =

X-18 4
Y- 24>72§3
XAY+Z - 8 9

o)
Z' s share = 3" 5400 = 1200
260. Shivam is 10% less efficient than Vivek. If
Vivek can make a helmet in 9 days, then in
how many days Shivam can complete the
same work? (SSC CHSL 25-3-18 82 2017)
forem, o & 10% F9 FEEe ¥ | aft oo T
o 9 fo H o wekan &, O feren ==t e = e
AT ?
{A) 15 (B) 12
(C) 10 (D) 8
# Solution (C) =
Shivam : Vivak
9 : 10
10x9 =9 xD
D = 10 days

261. X and Y can complete a work in 5 days. Y
and Z can complete the same work in 6 days.
Z and X can complete the same work in 15/
2 days. In how many days will X, Y and Z to-
gether complete the work?
XY FFE RS A R Twm EIYanzZ
T T R 6 TS T AL TR E | Z T X =9 e
15/2 A ¥ wwarwwa € | X, Y 7o Z fAeTe & &

e fer d qQu=Es ?

(SSC CHSL 25-3-18 S3 2017)
(A) 2 (B)4
(C) 3 (D) 2/5

2 Solution (B) =

X+Y-5 6
Y+Z-6 >3o§5
Z+X-13 4

X. Y. Z together complete the work
= E x2=4
262. Working 5 hours a day. Shivam can read a
book in 24 days. How many hours a day
should he work so as to finish the same work
in 8 days? (SSC CHSL 26-3-18 S1 2017)
5 =& fdfe = Fd gu e U I =l 24 {5
ek TE TR € 1 Afe e e 8 Al # R E, asd
i fe = F F A8y 7
(A) 12 (B) 18
(C) 15 (D) 21
2 Solution (C) =
TIDI = TQDQ
5x24= 8xT,
T,= 15 days

263. Vijay can do a work in 8 hours. Vijay and
Puneet together can do the same work in 6
hours. Puneet and Sachin together can do
the same work in 4 hours. Sachin alone can
complete the same work in how many
hours? (SSC CHSL 26-3-18 52 2017)
A9 % & FT & w2 T w Tl € | T aon T
feTeRt ST 1 i 6 5 A FX Wk © | g1 qen Fie
TieTeRT <&t o1 1 4 ¥ H L TR § | AT o7 34T
e 1 R S H qU TR § 7
(A) 22/5 (B)28/5
(C)24/5 (D) 26/5

# Solution (C) =

Vijay — 8 3
Vijay + Puneet —6%464
Puneet + Sachine — 4 9]
Sachine alone can complete the work

_24
5

264. 20 boys do one fourth of work in 25 days. How
many more boys will be required to complete
the remaining work in 50 days?

20 g% Tk wE & TE AOE 25 fod H{ qu ¥
3 A 50 fa ¥ T ¥ fore i e e

=feq i ?  (SSC CHSL 26-3-18 83 2017)
(A) 8 (B) 10
(C) 15 (D) 20

2 Solution (B) =

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689 +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions Booklet = Time & Work

66. (B) M D =MD,

20x 25 50x(20+x)

T 3
74 e

10 x 3 =20 +x

x=10

SSC CGL (PRE) Exam, 2019

Exam Date : 3 March Shift-I

265. A, B and C can individually complete a piece
of work in 24 days, 15 days and 12 days, re-
spectively. B and C started the work and
worked for 3 days and left. The number of days
required by A alone to complete the remain-
ing worlk, is :
A, B 3R C sT-3701 TF % %1 FHA: 24, 15 R
12 feof f qu e waa € 1 B i ¢ 7 % wRw fwe eIk
qM feA o =% 39 SIS 597 | A s7eRael 99 % =l form {5

o U wEm?
1
13—
(A) 13 (B) 18
1
©11 (D) 15
£ Solution (4] =
A-24 3
B-15 120
C-12 10

Work done by Band Cin 3 days
= (10+8) x3=>54
1
Remaining work doneby Ain= —= 133
Exam Date : 3 March Shift-II
266. A can complete a certain piece of work in 40
days. B is 25% more efficient than A and C is
28% more efficient than B. They work together
for 5 days. The remaining work will be com-
pleted by B alone, in :
AT A sd 40 AT W TFaEIB, A®
25% ATHEFIAL 37 C, BH 28% Uk T8 | TF
w2 A 5 Al 9% wF # € | 3R B g W & H

_ Ty fEen wmom
3 1

(A) 16§days (B) 20 days
3 1

() 207, days (D) 16 days

2 Solution (A) =

A B C
Efficiency 20 25 32

Tolal Work = 20 x 40 = 800

They together work for 5 days =35 x 77 =385
Remaining work = 800 - 385 = 415
Remaining work will be finished by B in

_ 415 83

3
222 162 davs
55 0 days

Exam Date : 3 March Shift-III

267. A can finish a work in 20 days and B can fin-
ish the same work in 25 days. They began to-
gether, but B left the work after 5 days. How
many more days will A take to finish the re-
maining work ?
A Tt =t it 20 T H 90 o6 wea ® oI B 9wt v
=1 25 fedl # 0 o T € | SR T Wi HwH AR
fopr, iferd B 5 ol o =15 =™ 1 54971 29 & =1

o A B e fo e 7
{A) 16 (B) 11
(C) 21 (D) 8
# Solution (B) >
A-20 100
B-25 4

Work doneby A and Bin 3 days
=(5+4)x5=45unit

Remaining work =55 unil

Time laken by A Lo [inish Lhe remaining work

35
= % =11 days

Exam Date : 4 March Shift-I
268. A cancomplele a cerlain work in 30 days, Bis 25%
more efficient than A and Cis 20% more efficient

Lhan B. They all worked Logelher for 3 days. Balone
will complete the remaining work in :

A vw ffima wm & 30 fedl § e ws@ 8 1B, A9
25% 3ferk FoT & iR C, BH 20% ek FoeT & 159
TRt 71 3 Tafi T O T TiorRt i ReT | o gen

(A) 15 days/ f&
(C) 20 days/ &=
2 Solution (A) =

(B) 12 days/ T&
(D) 18 days/ T&7
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A B C

17. (A) E_fﬁ(jen()x 1 5 6

# Solution (D) =
AM +6W =5

Total Work = 30 x 4 =120 units

They work logelher for 3 days

=(d+5+6)x3=45

Remaining work =120 -45=75 75

B will complete remaining work in = —
_ 5

=15 days

Exam Date : 4 March Shift-11I

269. Aand B, working Logelher, can complele awork ind

days, Working alone, A lakes (8 + d) days and B
takes (18 + d) days to complete the same work. A
works for 4 days, The remaining work will be com-
pleted by B alone in

A ¥ B ©F 19 @ % g Faet e w d T g
T E | SR A T R T (8 + d) R
AR 3T B (18 + d) T o #1 A, 4 Al 0 7
I ¥ | V9w T FA H SR B R O T T
‘‘‘‘‘‘ 7

(A) 24 days/ &
(C) 18 days/ f&7

(B) 16 days/ &7
(D) 20 days/ &7

# Solution (A) =

d= /18 x8

d=12
A-20~3
> 60
B-30 -2
Work done by Ain4 days =3 x4 =12 unit

48
Remaining work done by B in = 5 24 davs

Exam Date : 4 March Shift-III

270. Four menand 6 women can complele a cerlain piece

of work in 5 days whereas three men and 4 women
can complete it in 7 days. How many men should

1
assist 25 women to complete 2 5 times the same work
in 5 days ?

IR Te SR 6 Hiewd 5 5 § uwh fAfywd &m &1 U #
ekt &, ek w14 e IR 4 wfeend 39 7 fA F qu

= e 1 4 = s s .
Tk & | 35 M H 25 W= 5 Al ® g0 e % fem

FoRa qTET 2T 25 HEETeT i WETad LT afEg ?
(A)8 (B)10
(C)4 (D)5

M +H4W -7
20M + 30W = 210 + 28W
2W =1M
Total work = 70W
2 > Lime of Lolal work = 175W
' 175w _
1day work = 5 = 35W
We have 25 women so
= 35W - 25W
= 10W
Now, remaining work of 10W will be compleled
by men

1
so no, of men we required =10 x B M
1
=5M (1IW = 3 M)

Exam Date : 5 March Shift-I

271. Pipes A and Bcan fill a tank in 10 hours and 40 hours,

respeclively. C is an oullel pipe allached Lo Lhe lank. I
all the Lhree pipes are opened simullancously, il lakes
80 minules more Lime than whalt A and B logelher
take to fill the tank. A and B are kept opened for 7
hours and then closed and C was opened. C will now
cmply Lhe lank in:

TET A 377 B T S HEE: 10 72 R 40 T2 H mAwa € |
C E% A TSI g7 U S3eele WY ¢ | A |elt i aadi
T W Al S, A B R e o o o
T AT THE 0 Tz At e e € | A SR B
7 T T T ST © S iR oiT = fen s € ofiv C
e foa e e | C 37 3ok 1 fome sic § @t R FohT 2
{(A)Y42 hours (B) 43.3 hours

{C) 49 hours (D) 38.5 hours

# Solution (C) =
A and B works together then

A—»10
4

40

B—40

Time = 5 = 8 hrs.

1
A, B and C works together and take @ 3 hr
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A+B —>8 # Solution (A) =
7 16 M — 8 days
56 8M + OW — 10 days
S80M +90W =128 M
A+Bic—28/0 48M = 90W
3 OM = 15W
= — 1 unit 16 men can do a work in = 8 days
A and B work for 7 hours then 8 men can do the same work in = 16 days
=7 x 7 =49 units (8m = 15w)

So, Pipe will take 49 hrs to empty the tank. So, 15w can do the work in = 16 days

. 15x16
5 March Shift-1I 20w will do the same work in =

20
272. To complete a certain task, X is 40% more =12 days
efficient than Y and Z is 40% less efficient
than Y. working together, they can complete Exam Date : 6 March Shift-I

the task in 21 days. Y and Z together worked
for 35 days. The remaining work will he com-
pleted by X alone in :

% Ffed wE = qu A X, Y = g ° 40%
Afers F9RT # 317 Z, Y 1 ger § 40% FH FIT F |
ek W1 T A W, 9 27 Tl B hH g0 R e €Y
8T Z 7 firerent 35 fami ae & {6 | 919 &0 et X

274. A, B and C can individually complete a task
in 24 days, 20 days and 18 days, respectively.
B and C start the task and they work for 6
days and leave. The number of days required
by A alone to finish the remaining task, is :
A, B 8T C Wk w4 i 31ehed w921 24 T, 20 T 3w s
AR TN TFAIE | B R C FA I 530 & 3R A 6

TR ot & 9 o ?
?AIT)IS dayﬁ:'f B [ET)Tdays ﬁ?maﬂ%aﬁmiﬁ% | 319 =Tt 71 TETE L F o
(C) 6 days (D) 5 days A T 37k fonae fag &t 7
#7 Solution (D) =
2 1
X — 57 (A) 157 days  (B) 12 days
y —>» 5—315 unit c Sid D104
- - (€) 85 days (D) 10 days
Y and Z worked for 35 days #¢ Solution (C) =
= 35 x (5 + 3) = 280 unit A — 24 days — 15
Remaining work = 315 - 280 = 35 unit B — 20 days — 18 Total work = 360
The remaining work will be completed by x C — 18 days — 20
in= % = 5 days B and worlk for 6 days so
7 i =6 x (18 + 20)= 228
Exam Date : 5 March Shift-III Remaining work = 360 - 228 = 132

A will lete th ining ki
273. Sixteen men can finish a work in 8 days. compiete the remaining work i

Eight men and nine women working together 132 4

can finish the same work in 10 days. In how =15 ~8gdays
many days will twenty women finish the same

work ? Exam Date : 6 March Shift-II

TIeTE Y UF *H %1 8 57 J 70 & %d ¥ | T 9
5 ¥ v 4 Hfsemd "y S 10 Feo 4 275. Amil and Sunil Logelther can complele a work in 9
' 1 il ) w110 A davys, Sunil and Dj;u sh Logelher can complele Lhe
- e e o e avs, F % relther can ¢ e Lthe

F TR £ | S gt sHt W @ e A @ 3 i p

same work in 12 days and Amil and Dinesh Logelher

it 2 )

' can complete the same work in 18 days, In how many
(A) 12 (B)9 days will they complete the work if Amit, Sunil and
()11 (D) 13

Dinesh work together ?

Study Center : Jaipur « Gopalpura: « Lalkothi » Jhotwwara + Ambabari » Atwar « Udaipur H
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s1fea siit g faer % w7 o faii § qw T €,
T o7 Tarrer faerm ==t M T 12 T § R I €
#ir st i forer faeme =&t = =1 18 i 6 [
THd | afs a3fdm, e R i w mne faee w e
FE, 1 e T | w2
(A) 16 days/ f& (B) 8 days/ f&71
(O)12days/ &7 (D) 14 days/ T&7

#{ Solution (B) >

A+5-9 4
S+ D-']2> 36
A+D-18 =
36
2(A+5+D) = ) =4 days

Amil + Sunil + Dinesh will finish the work in 4
x 2 =8 days
Exam Date : 6 March Shift-111

276. A, B and C can individually complete a task
in 20 days, 16 days and 30 days, respectively.
If A and B started worling on the task and
they worked for 4 days and left, then the num-
her of days required by C to finish the remain-
ing task is :
A, B 3R C o1ha wman: 20 T, 16 f ol so A d =i
F QU S WS § 1A A 3R B A S % 7 e,
st 5= 4 fed = e B foa, o 99 e s
% T ¢ =1 e v =fey 7

1 1
(A) 16 5 days (B) 12 2 days

(C) 13 days

2 Solution (A) =
A—=20-12
B—16 515
C—-30->38
4 daysworkof Aand B =(12+ 15)4 = 108
Remaining work = 240 - 108 = 132
C will complete the remaining work in

132

(D) 10 days

Total work = 240

1
=16 2 days

Exam Dale : 7 March Shift-1

277. Ten men or twelve women can finish the
same work in 10 days. If 5 men and 2 women
undertake the work together, how many days
will they take to complete the work ?

T TFT 91 9RE "y Tk 7w w10 5§ o
Herdl & 1415 5 989 271 2 Afeel Uk W72 19 6 0 €,

T I & Q0 FH H fwa oA e i 7
(A) 15 (B) 40
(C) 20 (D) 60

2 Solution (A) =
10M = 12W = 10 days
(SM +2W) =7
10 M can do awork in 10 days
So, 5 M can do it in = 20 days
12W can do a work in = 10 days
2W can do it in = 60 days
(SM + 2W) together can do it in

~ 20x60
T 20+60

= 15 days

Exam Date : 7 March Shift-1I

278. A conlracl is Lo be compleled in 75 days and 187 men
are to work 15 hours per day. After 65 days, 3/5 of the
work is completed. How many additional men may
be employed, so thal the work may be compleled in
time, each man now working 17 hours per day ?
et sTae 1 75 a3 & qU e € iR 187 789 w1 ufd few
15 52 W A E | 65 Ta7 % 91, w1 3/5 O Y E
¥ | 379 7% T e wiafe 17 5 % w @, dEE
K UESN
(A)Y514
(C)528

# Solution (C) =

M,D,H, M,D,H,

(B) 532
(D) 495

C £
(C) W, W,
187x15x65 xx17x10
3/5 - 2/5
x=715

Additional men = 715- 187 = 528
Exam Date : 7 March Shift-III

279. A can do a piece of work in 6 days. B can do it
in 9 days. With the assistance of C they com-
pleted the work in 3 days. In how many days
can C alone do the work ?
A TF FH Fl 6 G H 70 F THa1 € | B IH FE A9
ol H AR w19 C # wemar | 3 e §
TR € | C oTReT =9 9 1 fha il | T s Aok & 2
{A) 18 (B) 16
(C) 12 (D) 8

2 Solution (A) =

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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A — 6 days — 3 unit 24 — A
B — 9 days — 2 unit TW.=18 4
A+B+C—3days — 6 unit 6
Efficiency of C =6 -3 -2 = 1 unit 16 -B 96
18
C will complete the workin = — = 18 days 3
1 32-C
Exam Date : 9 March Shift-I Work done by A and C in days
=6 (4+3)=42
280. Ram and Shvam can complete a task in Remaining work = 96 — 42 = 54
2
z . 54
6 3 days and 15 days, respectively. The work Remaining work done by B = = = 9

together for 4 days, and then Ram left. In how
many days after Ram leaves, will Shyam com-
plete the remaining task alone?

. 2 - .
TH R 71 T ®1H I HAI: 65 femt siiv 15 oAt #
T FL T © | 31 THerRL AR A = R oI swer
FE TH M B Il T4 | $19 9 F1H &I T STHA

Exam Date : 9 March Shift-I11

282, Eight persons can finish a work in 20 days. After 5
days lhey were required Lo complele the work in the
next 8 davs. How many more persons should join the
group Lo (ulfil the requirement ?

#T5 =far forelt M 1 20 A A e v € 15 A &

7 o f & qmwr em 2 R T
(A) 4 days (B) 3 days W1, ST ST 8 Tl H 18 U A 1 ST R T e |
]_ - "’ = % ~ + : .
(C) 2 days (D) 15 days Bﬁ?ﬂ?ﬁ kN &_ﬁr? fere, femar it st 1 we o
. - T Toha =i = Tied ¢
£ Solution (C) = (A)7 (B) 12
20 (C)15 (D) 23

# Solution (A) =

Total work = 20 x 8 = 160
Work finished in 5 days =8 = 5 =40
Remaining work = 160 — 4 = 120

Ram ———
3 .

Shyam — 15

Work done by Ram and Shyam together

=4x13=52 _ Number of person to finish remaining work
Remaining work = 60 - 52 = §

F;emaining work will be finished by Shyam in = in 8 days = % =15

Z=2days Extra=15-8=7

Exam Date : 9 March Shift-11
S8C CGL (PRE) Exam, 2018

281. A, B and C can individually complete a task Exam Date : 4 June 2018 | Shift - 1

in 24 days. 16 days and 32 days respectively.
It A and C start the work and worked for 6
days and left, then the number of days required

283. The ratio of efficiencies of A, Band Cis 2 :5:
3. Working together, they can complete a work

by B to complete the remaining task, is :

A,B 3R C 91— 279he] T = &1 A 24 fad, 16 fad
AR 3 A W gwa € 19 A ik C wef g %
¥ o 6 T o v e Bre R ¥, A dm e w W
w0 7 femy oTper B 1 iR T =i 2

() 122 (B)0
1 1
© 17 (D)7

in 27 days. B and C together can complete 4/9
th part of that work in:

A, B 3R C & gaiaied #1e/ud 2: 55 3 ¥ | UE =iy
T FA R A 39 27 e # e v € 1B 3R C
T fAeT 51 W F 4/99 T # o TS E
ESUW

(A) 27 days/ T (B) 15 days/ &7

(C) 172 days/ f& (D) 24 days;/ f&

45 Solution (B) = & Solution (B) >

Study Center : Jaipur « Gopalpura: « Lalkothi » Jhotwwara + Ambabari » Atwar « Udaipur E
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Efficiency ratio is
A : B : C

2 : 5 : 3
Total work = 27 (2+ 5+ 3)
= 270
R
2’70><{ ]
(B+C),, = 9 :270><4
' 8 §x9
= 15 days

S8C CGL (PRE) Exam, 2018

Exam Date : 4 June 2018 | Shift - 2

284. The ratio of the efficiencies of A, Band Cis 4
1 5 ¢ 3. Working together, they can complete
that work in 25 days. A and C together will
complete 35% of that work in:

A, B 3R C & gaiaied #1819 ud 4 : 5 3 & | % =1y
A FH WA qH SHFA R 25 A F maR e 1A
&l ¢ gl free 35% = =i fdA fedi o qu =i 7

W) 12days/T (B) 10 days/fe
(C) 18 days/ A (D) 15 days/ &=
#5 Solution. (D)
A B c
Efficiency 4 : 5 N
Total Work = (25) (4 + 5+ 3)
= 25x 12
25x12x35
[A + C]'Tinlc: ] W - 15

S8C CGL (PRE) Exam, 2018

Exam Date : 4 June 2018 | Shift - 3

285, The ratio of the efficiencies of A, B, Cis 7 : 5
4. Working togehter, they can finish a work
in 35 days. A and B work together for 28 days.
The remaining work will be completed (in days)
by C alone.

ABsRCHF st weAId 7 :5: 48 | TF 9y
M F WA T 39 FH A 35 A H W ad § 19
A #R B, 28 TeAl o &/ = &, @ N wE & C Tohae

T & qu T ?
(A) 56 (B) 63
(C) 49 (D) 60

#7 Solution. [A)

A B C
Efficiency 7 5] 4
T.W. = 35(16) = 560
(A+B), = 28x12=336
Remaining Work = 560 - 336 =224

224
4

Time,, 56

¢ Exam Date : 04 June, 2018 « Shift : |

286. Pipes A and B can fill a tank in one hour and
two hours respectively while pipe C can empty
the filled up tank in one hour and fifteen min-
utes. A and C are turned on together at 9 a.m.
After 2 hours, only Ais closed and B is turned

on When will the tank be emptied?

Y A S B %A Uk 5 ST w5 H U Sk W Hed
T v@f® R C W gU 9% &l UF He IR ugg fime |
Tl R FERA E | A SR C HT 9 am. R TH W =G
Teran ST & 1 2 He % A, AT A R R R T # eI
B ! =7 R T 7 € | o o wrat 51 7

(A) 12:10 p.m. (B) 11:30 a.m.

(C) 10:30 a.m. (D) 12:20 p.m.

£5 Solution. (D)

A—> 1 10
B——s 2 10
C‘—>I

(A+C), -10-8 52

A+C),—4

(B+C), —»-3

Tank to be emptied — 1

1
Time = =12:20PM

3

* Exam Date: 6 June, 2019 = Shift : 1l

287. The efficiencies of A, B and C are in the ratio
5: 3. 8. Working together they can complete
aworkin 30 days. A and B worked together for
20 days. The remaining work will be com-

pleted by C alone in:

A B3RCFI A FTRS ¢ 3 : 88 |9 TF % &I
My TRt 30 &1 # 90 R e € | A 3R B A fiee 20
&A1 ok =T o | ekl o7 1 &1 C STehetl fofas 1531 |

TR L 7
(A) 40 days/f&T (B) 36 days/f&T
(C) 30 days/f& (D) 32 days/ &

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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#; Solution. (A)

A B C

5 3 8

Total work = 30 x 16 = 480
(A+B),=20x8=160

Remaining work = 480 - 160 = 320

) 320
Time,.= —|—/ =40
- 8
s Exam Date: 6 June, 2019 » Shift : 1l

288. To do a certain work, the ratio of the efficien-

ciesof A,Band Cis7 :5:6. Working together,
they can complete the same work in 35 days.
B and C work together for 21 days. The remain-

ing work will be completed by A alone in:
At FM A A F A, B AR C &1 &/ 51 S0
7:5: 6% | Uk T HH F 5U, o 59 HE w35 TG H
T FTHA ¢ | B #R C 7 faem 21 &7 % i 9
FH FI A BRI 3Tohet G0 & H foha1 T e 7

(A) 60 days /T (B) 57 days/f&T
(C) 54 days/f& (D) 50 days/f
#{ Solution. (B)
A : B : C
Eff. 7 : 5 : 6
Total Work = 35 (7 + 5 + 6)
=35x 18 =630

(B+C),, =21 x11=231
Remaining Work = 399

399
RELIT - 7 N 57
s Exam Date: 7 June, 2019 + Shift : |

289. The ratio of the efficiencies of A, Band Cis 7

: 5 : 8. Working together, they can complete a
piece of work in 42 days. B and C worked to-
gether for 21 days and the remaining work was
completed by A alone. The whole work was
completed in;

A, BdRCH el H TG 7 : 5 : 8 3| TH O
et 3 forslt v &1 42 foedf W awd § 1B 3R C
7 21 fa=7T 7k U e M R SR A wE AT SFRe T
o1 | TH 1 QU B TR wHE 7

Total Work = 42 x 20 = 840

Total work done by (B + C) in 21 days
=21x13=273

Remaining work = 567

Time taken by A to complete the remain-

267
ing work = — 81 days

s Exam Date: 7 June, 2019 + Shift : I

290. To do a certain work, A and B work on alter-
nate days, with B beginning the work on the
first day. A can finish the work alone in 48

1
days. Ifthe work gets completedin 11 3 days, then

B alone can finish 4 times the same work in:
w7 fafia M 90 w5 % 671, A 3R B 9P TH-T%
o # wa €, foad B wewt A &9 e = €1 A

. - 1
srepet 48 oAl H & U R kA1 € | ST e F I 11

ﬁﬁﬁ{{rﬁm%ﬁBaﬁsﬁwémﬁw‘fﬁ%
Tt # T A TR B

(A) 24 days/feT (B) 32 days/f&7

(C) 27 days/fea (D) 30 days/ T

£ Solution. (C)

1
-+ B starts the works so in 11 3 days
B works for 6 days while A works for —

3
16

— 4+ =
days 8o, p+37 48

B—zd
= -, days

B complete work in Idays so 4 times

work will be completed in 27 days
s Exam Date: 7 June, 2019 » Shift : 1l

291. The ratio of the efficiencies of A, B and C is 3
1 51 1. Working together, they can complete a
piece of work in 5 days. A and B work together
for 3 days. The remaining work will be com-
pleted by C alone in?

A, B3R C = wremast #1emga 3 s 1819 1F
Y I B U I HH HT 5 fad o 0w T E A
B, 3fAI F M TFEawEm F@ 1 I EE C g

(A) 81 days/ &7 (B) 99 days/ & a1t et foT o o o mem 2
(C) 102 days/ &7 (D) 93 days/ &9 (A) 18 days/FT (B) 24 days/f7
# Solution. (A) (C) 21 days/f&T (D) 15 days/T&7
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£5 Solution. (C)
A B C
Efficiency 3:5 1
Total work = {3+ 5+ 1)5
=0 x5=45
Work of (A + B) in 3 days
=3(3+5)=24
Remaining work = 45 - 24 = 21

21
Time talken by C = T = 21 days

¢ Exam Date : 10 June, 2019 + Shift : |

292, The ratio of the efficiencies of A, B and C to do

a certain work is 7 : 3 : 5. Working together,
they can complete the work in 21 days. A and
C worked together for 5 days. The remaining
work will be completed by B alone in ;
U wE FE F AU A, B 3R C F1 gaaed & e 7
;3 5% 1 Um WY FH A gL A 21 Tl o 3w wm i
T THRA & | 5 &l 3 fem A TR C 3 uw iy % fwa
31 B B g iRl TRt feel A g e T 2

(A) 54 days/ & (B) 45 days/ &
(C) 60 days/ &7 (D) 85 days/f&7
#7 Solution. (D)
A:B: C

Efficiency 7 : 3 : 5

Total work =21 (7 + 3+ 5) =315
(A+C) =12 x5=60

Remaining work = 315 — 60 = 255

255

Tine 3 85

¢ Exam Date : 10 June, 2019 + Shift : I

293. A is 40% more efficient than B and C is 20%
less efficient than B. Working together, they
can finish a work is 5 days. In how many days

will A alone complete 70% of that work ?

B % e H A 40% IR M E TN B R TN E C
20% TH TF & | T 19 TRt & 1 foRelt w1 5 T
YU H E | A SR ST SH FE B 70% T e H @

M7
(A) 9 (B) 7
(C) 10 (D) 8

£ Solution. (D)

A B C
140 100 80
Efficiency 7 : 5 : 4

Total work=5(7+ 5+ 4) =80

T0% of totalwork 70 1

Timeh = Efficiency of A = 80x 100 x ? -

¢ Exam Date : 11 June, 2019 » Shift : |

294. A is 40% more efficient than B and C is 20%
less efficient than B. Working together, they
can finish atask in 15 days. In how many days,
will B alone complete 75% of the task?

B &1 geF H A, 40% 31U gef 8 a1 B #1 o C,
20% T TeT € | Tk W1 THeTeRe & T TRt 6 %7 15

f&i 7 qU € | B ovhet €1 39 S R 75% fRa el

H T M ?
(A) 36 (B) 48
(C) 32 (D) 44
#7 Solution. (A)
A B C
140 100 80
Eff. 7 : S : 4
Total work = 15 (16) = 240
_240x3
B,..~= x5 36

¢ Exam Date : 11 June, 2019 + Shift : I

295. A is 40% more efficient that B and C is 20%
less efficient than B. Working together, they
can complete a task in 20 hours. In hou many
hours will A alone complete 35% of that task?
B & geF H A, 40% Aok ga1 € s B #1 o H C,
20% FH T & | Uk WY Fd T W, A diAl Uk hE R
20 7 H I H TH & | A TR 56 HHE F 35% TR

wvef H T e 7
(A) 13 (B) 15
(C) 16 (D) 14
#7 Solution. (C)
A B C
140 100 80
Eff. 7 5 4
Total work = (20) (7 + 5+ 4) = 320
_320%35 _
Are ™ Jo0x7
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¢ Exam Date : 11 June, 2019 » Shift : 1l

296. A is 50% more efficient than B and C is 40%
less efficient than B, Working together, they
can complete a task in 10 days. In how many
days will A alone complete 150% of that taslk?

B &I go | A, 50% 31fu® gef 8 ek B S gom & C,
40% HH & & | Uk W 4 HE W, ] TR w1 A
10 feAf # qu o weRd € | o1hen A 39 & W 150%

foram &=l o g i ?
(A) 33 (B) 35
(C) 28 (D) 31
#{ Solution. (D)
A B C
150 100 60
Eff. 15 1o 6
Total work = 10 {31) = 310
, _ 30x150
Time, = Jpox1s 3!

¢ Exam Date : 12 June, 2019 + Shift : |

297. A is 50% more efficient that B and C is 40%
less efficient than B, Working together, they
can complete a task in 20 days. In how many

days will C alone complete 30% of that task ?
B &1 o1 | A 50% Ao 2@l § o C =1 go § B
40% HH €81 & | Ush E1¥ hid % W, o 5l Uk HE
20 T ¥ v o TR € | C oTRen 39 i W 30% e

feif & a2
(A) 31 (B) 33
(C)35 (D) 29
2 Solution. {A)
A B C
130 100 60
Effeciency 15 : 10 : 6

Total Work = 20 (15 +10 +6) = 620

_620x30
Titne ’I OU W 6 -

¢ Exam Date : 12 June, 2019 » Shift :

298. The efficiencies of A, B and C are in the ratio
of 2 : 3 : 5. Working together, they can com-
plete a task in 6 days. In how many days will A
alone complete 20% of that task ?

ABIRCHI e ATUE2: 3: 5213 Tk & &I
e fett 6 fedl H 0 R Wekd € | A TRl 39w &
20% 9T =i ToRa A1 & e 2

(A) 8 (B) 5
(€) 6 (D) 4
#7 Solution. (C)
A :B :C

Effeciency 2 : 3 : 3
Total Work = (6) (10) = 60
A = 60x20 _

T 100 2

= Exam Date: 12 June, 2019 = Shift : 1l

299, The efficiencies of A, B and C are in the ratio
2 : 5 3. Working together, they can compete
ataskin 9 days. In how many days will C alone
complete 40% of that task ?

A B#RCH Tl B AqIa2: 5: 3 ¥ 1A q TF
=t =1 U o e o fodl # s W € 1 C ot
=G HE % 40% W FT R 1§ g ?

(A) 14 (B) 16
(C) 15 (Dy 12
#7 Solution. (D)
A B C

Effeciency 2 5] 3
Total work = (9) (2 + 5+ 3) =90
_90x40
time T 100x3

¢ Exam Date : 13 June, 2019 » Shift : |

300. The efficiencies of A, B and C are in the ratio
2 : 5 : 3. Working together they can complete
a task in 12 days. In how many days can A

alone complete 30% of the task ?

ABSRCHI @ M eI 2:5: 331 TH 